TORTS OUTLINE
I. INTRO/THE ROLE OF FAULT

a. Tort = a civil wrong
i. About determining who bears the loss
b. Recovery includes for: physical harm, emotional harm, sometimes economic harm
c. General rule: tort liability requires fault; there are exceptions 
i. Fault can be either: intentional or negligence 
ii. Ex: Van Camp
1. D, 3 yr old, ran his tricycle into P injuring her leg. Court found for D because P did not allege fault. To meet Prima Facie case, P must allege facts showing fault in order to recover for injuries. P did not allege facts that support a finding of fault, thus did not meet prima facie case. P loses.
d. Plaintiff has burden of proving the Prima Facie case 
e. Plaintiff has to prove fact by a preponderance of the evidence; so by 51%
II. INTENTIONAL TORTS
a. Intent/Intentional Torts
i. 1) Battery = A battery is the intentional infliction of a harmful or offensive contact. Intent purpose to cause a harmful or offensive contact or knowledge that a harmful or offensive contact is substantially certain to occur

1. an intentional unconsented to contact with another
2. Societal interests protected by battery are bodily autonomy
3. Element 1: Intent (recklessness, willfulness, wantonness)
a. is a mental state. To determine look at facts and draw conclusion.
b. Act must be done for the purpose of causing contact or with the knowledge on the party of the actor that such contact is substantially certain to be produced.
c. NEED 
i. Purpose: to produce that consequence OR
ii. Knowledge: the consequence is substantially certain to result. (substantially certain = at least 85%)
d. Ex: Brian Dailey: Brian moved chair as Ruth was sitting. There are two versions of the facts. Court determined that when Brian moved the chair he did not have any PURPOSE to affect the P, thus no intent. 
i. Brian could know Ruth was going to sit there but not know the consequence was substantially likely to result bc he is 5 and thus no intent.
ii. But Brian’s age as to test does not matter
iii. General Rule: same test for adult’s & children but child’s age and background will be taken into account 
iv. Some courts have absolute cut-off age for intent for kids under 7
e. Hypo Ex: Praying brick dropper drops brick from a window to ground prays it does not hit someone. No purpose but knowledge would depend on facts because if in NYC he has more substantial certainty it would hit someone then in rural neighborhood 
f. Hypo: Smokers smoking outside the exit to a nightclub. P inhales smoke. Battery? Have a harmful contact, do not have purpose, but have knowledge if that exit was only way out of building and they knew people were coming out that way
g. Up to jury to determine questions of purpose or knowledge where there is a dispute 
h. Reckless, willful or wanton = less than intent 
i. Ex White v. Munoz: White put grandmother in home for dementia. Grandmother struck employee who was changing her diaper. Court held no battery because no intent. Court says requires dual intent and that an intentional tort requires both proof that the tortfeasor intended to contact another person and also intended the contact be harmful or offensive 
j. Dual intent: (1) intent to cause a contact (2) intent to harm or offend 
k. Single intent: Just intent to contact (doesn’t require that the tortfeasor appreciate the harm, just intend to contact)
i. Wagner v. State: Wagner was attacked while standing in line at a store by D, a mentally disabled patient who was brought there by state employees. State wants it to be a battery bc then they are not liable. Utah applies single intent, thus does not require intent to harm, so this was deemed a battery. 
l. Courts are split on dual v. singe intent 
m. Ex: The Kisser: D kisses P without P’s content. Under single intent this D is liable, under dual not liable because no intent to harm just intent to contact. 
n. Ex: The Uncle Hug: D gives Uncle a hug, accidentally injures uncle’s back in the process. Under single intent D is liable, under dual intent, D not liable. 
o. Intent for mentally ill: General Rule: Treat the insane or mentally ill like any other plaintiffs. If they have the requisite intent, they are liable. The reason why they have that intent is irrelevant. 
i. Ex: Mentally ill man kills his step-father because he thinks his step father is basically an enemy combatant because he is schizophrenic. Court holds D liable because still had intent to harm, step-father. Does not matter he did not think it was his step-father. 
ii. Ex: D hits P while having a seizure in a cataleptic state. D not liable because had no knowledge or purpose to contact. 
4. Element 2: Harmful or offensive contact

a. Offensive contact test: does it offend a reasonable sense of personal dignity 
b. D has to commit an act that causes the touching (but does not directly have to touch P) 
i. Ex: The intentional grabbing of a plate from someone’s hand constitutes battery bc the intentional snatching of an object from one’s hand is as clearly an offensive invasion of his person as would be an actual contact w/ the body.
ii. Tobacco smoke hitting someone’s face is usually a battery but sound waves usually are not because contact originally has to be seen
5. Ex: Cohen v. Smith
a. Intent? Yes
b. Harmful/offensive contact?
i. No harmful contact but yes offensive contact because of Ps religious beliefs and she gave hospital notice of belief (said no male nurse could see/touch her nude body bc of religion, a male nurse did in fact see/touch her nude body)
ii. If change facts and male nurse touched her bc she was falling off gurney still could recover bc TYPE of touching doesn’t matter. But recovery limited
6. Ex: Hypo Stethoscope: D places entire hand under Ps shirt on left breast. D said he had a seizure. Would not be tort bc tort requires voluntary/volitional act. If involuntary not a tort. 
7. Ex: Dealership Hypo: Condenser from car delivered electric shock if touched. CEO of dealership chased P w/condenser to shock him. Battery because there is intent and there was harmful contact. Guy ran away = intent, guy was shocked = harm. 
8. Ex White v. Munoz: White put grandmother in home for dementia. Grandmother struck employee who was changing her diaper. Court held no battery because no intent. Court says requires dual intent and that an intentional tort requires both proof that the tortfeasor intended to contact another person and also intended the contact be harmful or offensive 
ii. 2) Assault = is the intent to inflict apprehension of a harmful or offensive contact and apprehension of a harmful or offensive contact
1. Element 1: intent (purpose or knowledge) same for battery but for assault its knowledge or purpose to incite apprehension of harmful/offensive contact
2. Element 2: Imminent apprehension of a harmful or offensive contact 
a. Not touching, but is apprehension of touching
b. Must be reasonable apprehension 
c. Apprehension = anticipation of a harmful or offensive contact 
d. Different than fear; it is broader. Apprehension is the standard; not fear. 
3. Purpose is to protect mental integrity 
4. Ex: Cullison Case:
a. Interaction in the trailer: there was assault 
b. First element: there was intent; Medley grabbed at the gun
c. Second element; apprehension of harmful/offensive contact 
d. Defense’s argument: Medley didn’t touch him (no battery); never removed the gun (no imminent apprehension, no present intent)
e. Ds argument fails because intent and apprehension are met. Ask why D was grabbing toward the gun – did it to scare P. Elements are met.
f. Ps burden of proof is the preponderance of the evidence 
5. Traditional Rules of Assault: Mere words were not enough for assault; D had to do something. (In Cullison kept grabbing for the gun.)
a. Possible D can just say something to incite apprehension. Prof S said there was a rattlesnake behind you but there wasn’t, the words alone are enough to incite fear
b. Reasonable apprehension is required; must be apprehension of an imminent battery
c. If there is apprehension MUST ask if that apprehension was reasonable
d. If apprehension of battery is not Imminent, then no assault;
6. Not every battery includes an assault: think Sleeping beauty: she was kissed by Prince who turns out to be Shrek. No assault because no apprehension. 
a. Ex: Wrestling coach immediately picks up student and slams him down. There is a battery but no assault because student did not see it coming 
7. Can have assault even where fear is not present
a. Ex: Michael threatens to hit Jason. Jason not worried about being hit by Mike bc he is much smaller than Jason. Still assault because there was apprehension of an offensive contact 
iii. 3) False Imprisonment:

1. Element 1: Intent (purpose or knowledge)
2. Element 2: Actual Confinement 
3. Element 3: Knowledge of confinement 
4. Element 4: Confinement against the P’s will
a. if P agrees to confinement, there is a consent defense to the tort
5. purpose is to protect freedom to move about 
6. Ex: McCann v. Walmart: Ps have interaction with Walmart employees. Allege FI by employees. Look at elements… 
a. Purpose to confine? Employee blocked their path held onto shopping cart, claimed cops were coming, told PS they had to go with them 
b. Actually confined? Yes, they were told they couldn’t leave
i. Confinement started when employees put hands on Ps cart and prevented them from leaving 
c. Knowledge of confinement? Yes; employees were watching them the whole time
d. Confined against will? This is issue: Ps thought they had to comply; they thought the cops were coming. Indication you’re being restrained under authority – that satisfies being held against will.
i. Staying somewhere to clear your name is not against your will. Have to say you want to leave for it to be against your will. 
7. Hypo Castle: Detective tells suspect you are free to go but do not leave town. Detective does not have right to tell suspect they cannot leave. He has possibly committed FI bc suspect not free to move about, but suspect not damaged a lot. If said don’t leave state, still confined but not really damaged, the elements are met so still likely have the tort. If said don’t leave the country, likely too large for false imprisonment. Have to be imprisoned in a way that restricts your freedom.  
8. Being blocked from entering somewhere is not FI
9. Duress of goods = if somebody takes your good and keeps it and you have to follow them around to get it back, you are falsely imprisoned. D had no right to take Ps paper. P has been falsely imprisoned. 
10. If you are not the person who created the FI situation you have no duty to release them. Not legally required to release them
11. FI begins when P asks to leave and D says no.
12. Not confined when there is a reasonable means of escape 
a. This will depend on how agile a person is, their age, their fears. Not required to do anything dangerous or uncomfortable to escape. But if means of escape are within a person’s safe abilities, then must take escape. 
13. Not remembering confinement after the fact does not mean person did not have knowledge of confinement. Only need knowledge of confinement at time of the FI. 
14. Hypo: Police Officers take Ps and let them out on the freeway. One P is hit and killed on the freeway. Can recover for this through Doc of extended liability bc death would be extended consequence of the confinement. P would not have been near freeway if he hadn’t been let out there by the police. 
15. Hypo: Store owner stops customer thinking they stole watch. They take customer back into store and search her; the watch is found but still have elements for FI. However there is a defense (recovery of chattels)
iv. 4) Trespass to land (real property)

1. Element 1: Intent (purpose or knowledge)
2. Element 2: Entry occurs 
3. Protects right to exclusive possession of real property 
4. Does not have to be person that enters the property could be an item 
5. Can have trespass after entry occurs if you had permission to be on the property for a period of time & that time expires but you refuse to leave 
6. If you unintentionally enter the property or cause something to enter the property, you have obligation to go get your item off that person’s property. If do not do this trespass begins. But you have right to enter property to retrieve item. 
7. Hypo: Iowa puts up a snow fence and leases property from a farmer. After winter, Iowa takes out fence but leaves the base of the fence. Farmer hits cement base gets thrown and killed. 
a. Leaving cement base meets elements of trespass to land. Iowa had right to put fence on property, but when lease expired had duty to remove & did not. There was a trespass. 
b. Can recover for the death through extended liability 
c. If person who died not the landowner, can recover through doctrine of transferred intent. 
i. Elements: intent for trespass to land. Take that intent and transfer it over to the second tort of battery. 
8. Hypo: Can the owner of Trump hotel sue person who put the projection on building for trespass?
a. Intent = yes
b. Entry = no bc projection is light, its not substantial entry. Entry has to be tangible. 
v. 5) Trespass to Chattels
1. Chattel = tangible personal property 
a. Is typically something you can touch, but if you can find the D did something physical to the P, you can argue trespass to chattels 
2. Element 1: Intent to intermeddle
3. Element 2: Actual intermeddling 
4. Actual harm required: 
a. Damage to chattel or dispossession 
5. Ex: taking Iryna’s water bottle and carrying it around = trespass
a. Intermeddling has to create some actual harm of being deprived of the chattel for a significant period of time 
6. 5 factors to determine whether it is trespass or conversion:
a. extent & duration of control
b. the D’s intent to assert a right to the property
c. the D’s good faith
d. the harm done; and
e. expense or inconvenience caused  
7. look to facts to weigh those factors 
8. Hypo: Petting a dog: no dispossession of dog; its neither tort; D doesn’t take the dog and dog is not harmed 
9. Hypo: Joyride of someone else’s car. If no substantial dominion, could be tort of trespass to chattels. Need to know how long D took the car for; would have to be for relatively long period of time. If long period it is trespass to chattels.
10. Hypo: Kicking dog = trespass to chattels. There’s purpose (intent); dog was kicked. Presumably there is damage. 
11. Remedies = P is entitled to the valued of whatever the actual harm is. Actual not nominal damages required
vi. 6) Conversion of Chattels 

1. Difference from trespass to Chattels = the extent of the interference to the chattels 
2. Element 1: Intent to exercise substantial dominion over the chattel (purpose or knowledge that interference is substantially certain to occur)
3. Element 2: Exercise of substantial dominion over chattel
4. Mere interference/meddling = not enough for conversion
5. Conversion – there is a transfer of title; not the case for trespass
6. Ex: Taking Iryna’s water bottle and breaking it is conversion. 
7. Can have both conversion and trespass bc it could escalate from one to the other 
8. Parasitic damage rule applies here: case where D takes P’s relative’s ashes and scatters them to the wind. Value of ashes is nothing, but there is emotional distress to P. 
9. Dominion by controlling access: case where guy negotiates to buy a new car. Thinks he has a deal, goes back next day and the deal blows up. The day before, guy gave dealership old car keys for car he was going to trade for the new car. After deal blows up, they won’t give P back the car keys for awhile, eventually give the keys back. P sues for conversion of the CAR, not the keys. The keys control the car; by taking P’s keys, they took his car as well. Was conversion - dominion by controlling access. Taking the keys was trespass to chattels, which turned into conversion of the car.
10. The 3 person transfer, fraud and BFPs
a. As property is taken by B who sells it to C, a person who does not know of the conversion by B and is thus a (BFP)
b. General rule the BFP is liable as is B. 
c. Exception: BFP not liable when B gets title (even by fraud or trickery) bc B gets title (voidable, but sufficient to pass on to C as long as C is BFP)
d. Bonafide purchaser: if you obtain an item by fraud; then the person who is giving it is voluntarily giving it, but you only got nominal title to thing. Its converted. The original P can still say give it back or you have to pay FMV. The fact that it is defrauded does not change conversion. If a person is bonafide purchaser and does not know about fraud, can get title if they did not know about the fraud 
e. Ex: Iryna writes check for a watch even though her checking account has nothing in it and check bounces. Until that happens, the transaction holds. Third purchaser is not converter unless they had reason to suspect. Once check bounces, you have a fraudulent transaction. 
11. Electronic Chattels: cases that are willing to find trespass/conversion with interference to computers, those cases turn on some physical change to the computer (i.e. data used up) but if it is just spam courts usually say no. Difficulty is that tort is based on Chattel and a Chattel is a physical object. The thing to look for if something has actually be done to the computer that can be viewed as harmful if not argue that it should be trespass to chattel even if courts don’t necessarily view it that way.
a. Ex: School of Visual Arts Case: Ps argued Ds actions resulted in depleted hard disk space and drained processing power. Court said this was enough – you’ve committed trespass to chattels with the part of the disk space that was taken up
12. Remedies: D would have to pay FMV for the chattel or give it back (replevin)
13. Can make argument for both torts 
vii. 7) Intentional Infliction of Emotional Distress: 

1. stand-alone emotional distress 
2. Sole injury is emotional distress 
3. Intentional infliction of ED & negligent infliction of ED 
4. Element 1: Intent OR Recklessness 
a. RST 3d: tort can be committed even if the actor does NOT act intentionally
5. Element 2: Extreme & Outrageous conduct 
6. Element 3: Severe emotional distress 
7. Needs to be causation. The volitional act needs to cause the injury
8. Ex: Chanko v. ABC: P complains emotional distress- had to relive her husband’s death by watching it on tv (did not even know camera crew had filmed all this never signed anything) as a result she was emotionally distressed
a. P couldn’t recover because elements weren’t satisfied: ABC’s conduct was not outrageous enough. What P alleged happened was not extreme and outrageous enough. Court requires something worse. Court is telling lower court the standard to recover for this is really high. Distress was never face to face. To make strong case ED has to be such that the D inflicts it directly on the P. 
9. GTE Southwest v. Bruce: 
a. Important Factors of D’s conduct: Relationships to Ps and Repitition of the behavior 
b. D charged at his employees, threatened them, made them stand for 30 minutes, screamed at them. 
c. Possible he committed assault and false imprisonment 
d. To Recover for IIED: need intent or recklessness, extreme/outrageous conduct, and severe emotional distress
e. Did D have purpose or knowledge?/ Was he reckless. Ps can make good argument he was reckless 
f. Severe ED? Ps would have to prove this.
g. This conduct was extreme & outrageous bc
i. Repeated
ii. Because of abuse of power. Bc power relationship he has sufficient control & therefore easier to abuse this situation
h. IIED more convincing if they see a doctor.
10. Standard is not how you would react. What matter is the testimony. Emotional distress has to be severe. Does not cover insult & rude behavior 
11. Hypo: Conductor calls passenger idiot etc., tells him he would punch him if off duty. Special Rule for common carries; held to higher standard so here insults would be enough
12. Third Party IIED 
a. Roth Case: Doctor treats wife and seduces her & then husband and wife break up. Husband brings suit against doctor of IIED but cannot recover 
b. Special requirement for third party recovery is presence; some districts allow knowledge of presence
c. 3rd party recovery limited to:
i. immediate family members
ii. must be present at time of the extreme/outrageous conduct
d. D murders father while daughter is out. Daughter can’t recover because she left the house and was not present for it.
e. Exceptions to the “present rule”
i. Terrorism: act whose very purpose is to inflict severe ED 
ii. Molestation: rarely going to have presence but from situation Ps def have knowledge or presence
iii. Immediate aftermath: If you come up the scene right after it occurs, not there when it occurs, that is the immediate aftermath rule 
iv. sensory & contemporaneous awareness: You know it’s going on at the time it’s going on but you are just not there
viii. Doctrine of Transferred Intent:
1. Can take intent directed at A and transfer it to direct tort at B even if do not know B is there. (Legal fiction)
a. Bc if intent is there, courts will allow the other person to recover. 
b. Ex: Baska Case: 2 boys are fighting at a party. A mom steps in to stop the fight gets hit in the face and is injured. Boys are still liable even though they did not intent to hit the mom. 
2. Can take intent from one tort and use it to complete another. 
a. Ex: person can intend to shoot A, bullet goes by B but doesn’t hit B. B would have a claim for assault. 
3. Only tort that intent cannot be transferred from is IIED 
ix. Doctrine of extended liability:
1. If the elements of a tort are present, D is liable even for unforeseen consequences 
a. Ex: person squeezes someone’s arm intending to harm that person but person gets infection from the squeezing, tortfeasor is liable for the infection too.
x. Liability of parents for children’s actions 
1. General rule = no parents not automatically liable
2. Exceptions: 
a. Statutes holding parents liable:
i. CA = parents liable for act of willful misconduct up to $25,000 
b. Parent is negligent:
i. Failing to supervise child 
3. Don’t immediately hold parents liable bc all parents, parent differently 
xi. Recoverable damages for Intentional Torts  
1. Nominal: valued at $1 and is minimum recovery. No need for physical harm
2. Economic: can be substantial. Includes: medical bills, lost wages
3. Pain & Suffering/Emotional Distress: non-economic damages
4. Punitive damages are possible 
5. Parasitic Damages: have harmful/offensive contact but there’s also an emotional aspect. Emotional aspect attaches to the tort itself. 
a. Once the element for the tort are met, D is liable for all the consequences; some of those consequences can be emotional 
b. Defenses/Priveleges to Intentional Torts
i. Usually do not change elements of the prima facie case. Are separate facts that justify the tort even though prima facie case is met: so do prima facie analysis first THEN look for any privileges
ii. They are complete bars to recovery
iii. Burden on D here. D has to raise it and prove it 
iv. 1) Self-Defense 
1. Person can defend themselves, when they are responding to an actual threat or reasonable apparent threat. 
2. Can only use reasonable forced needed to meet the threat but no more. (when use excessive force have exceeded the boundaries of the privilege)
3. Facts looked at to determine if self-defense is allowed = conduct of person attacking, proximity, setting, level of threat
4. To determine what is reasonable create new situation; compare current actions to other alternatives 
5. Can use deadly force when presented with deadly force or for that will cause serious harm
6. Cannot retaliate after threat subsides
7. Cannot use force in response to insults 
8. General rule = you do not have to retreat but in some states if you can retreat before using deadly force have to. 
a. But when in home never have to retreat = right to respond. 
9. Can defend yourself with threat of force even when you don’t have the right to actually use that type of fore. 
a. Ex: can threaten harm with gun even if threat to you not deadly
10. Grimes v. Saban: Sequence of facts is important. Saban and Grimes have different sequences of facts about what occurred. 
a. A person is not justified in using physical force if she was the initial aggressor, except if she withdraws from encounter and effectively tells other person that it is her intent to stop, but the other person continues or threatens use of physical force 
b. Here there were issues of material fact as to whether Saban reasonably believed the use of force was necessary to defend herself against Grimes, and whether Saban was initial aggressor. Becomes question for the jury. 
c. If Grimes was using reasonable force to respond to Saban’s attack then Saban’s next attack is battery. Cant attack person acting out of self defense. 
d. Saban has burden of proof to show reasonable threat because she is one claiming self-defense
11. Have to analyze sequentially bc ability to use self-defense can come and go. 
12. Make a mistake = use reasonable force, but hit wrong person. Think you are exercising self-defense. As long as you think you are using self-defense, the privilege still applies 
a. BUT for prima facie case of battery, if you hit wrong person you are still liable
13. 2) Defense of others 
a. Can defend others, but courts are split on if you make a mistake and hit wrong person. Ex: if a police officer is making arrest but you reasonably believe person being arrested is just being harmed by another person not police officer and hit police officer. Some courts say no bc you are inserting yourself into something that doesn’t involve you, some say ok bc similar to self-defense mistake. 
v. 3) Defense of Real Property:

a. Can defend real property
b. Can use force if needed, but have to request person to leave first unless in situation where that would not work 
c. Can use reasonable force, if other party resists, can use self defense 
d. Warn if feasible
e. Reasonable force: start gently
f. Trespasser has no right to resist, if do privilege can turn into self-defense. 
g. Katco v. Briney
i. Ds set up automatic gun trap to go off when trespassers entered. P was badly harmed by this trap. Court held D did not act in self-defense bc it was excessive use of force and you cannot use deadly force to protect property. 
ii. An owner of premises is prohibited from willfully or intentionally injuring a trespasser by means of force that either takes life or inflicts great bodily injury.
1. Theory life > property 
iii. A possessor of land cannot indirectly and by a mechanical device that which, were he present he could not do immediately and in person. 
iv. The value of human life and limb so outweighs the interest of a possessor of land in excluding from it those whom he is not willing to admit thereto that a possessor of land has no privilege to use force intended or likely to cause death or serious harm against another whom the possessor sees about to enter his premises, unless the intrusion threatens death or serious bodily harm to the occupiers of the premises. 
v. What if bedroom occupied when P walked in? Can use deadly force? 
1. Depends on circumstances. But it is available to respond to serious threat
h. Likely can use defense if situation causes apprehension even if you are not aware of the apprehension
i. Hypo: Burglar gets attacked by big dogs, but there was warning sign to trespassers about dogs. Could argue burglar was aware of deadly force & still went in meaning they consented to it. 
j. Brown v. Martinez 
i. D hears kids on his property stealing watermelons, shoots his gun to the opposite corner of where he hears the kids but accidentally hits a kid. Court lets P recover 
ii. D was allowed to threaten deadly force but not allowed to use it. His intent to shoot was privileged but he hit kid. 
iii. His intent would not have made him liable if he had not hit anyone. Could say his privilege intent was limited only protects him if works out right.
vi. 4) Defense of Personal property

A) Recapture of Chattels
1. Merchant can recapture stolen chattels 
2. But must be in “hot pursuit”
3. Otherwise privilege ends & must call police
4. Have to use reasonable force and CL said you to have be in Hot Pursuit and must go after chattel immediately when person takes it. If do not do it immediately & use force, you lose your privilege. 
5. But if merchant is wrong and person did not take chattel, you lose the privilege 
6. Ex: Gortarez v. Smitty
a. Store employee put P in chokehold after chasing him out of the store for allegedly stealing. Held P against his will even though P said he did not steal until they determined he did not steal anything. They searched P outside of the store in front of people. Not protected by Merchant’s privilege bc unreasonable purpose and manner of detention
b. B) Merchant’s Privilege:
i.  one who reasonably believes that another has tortuously taken a chattel upon his premises, or has failed to make cash payment for a chattel purchased or services rendered there, is privileged, without arresting the other, to detain him on the premises for the time necessary for a reasonable investigation of the facts
c. Can detain the person if there is reasonable belief they have taken something. But must have 
i. Reasonable belief
ii. Reasonable investigation
1. Manner (how much force/where you detain)
2. Time (how long you detain)
d. Here reasonable belief was met. But did not detain them for reasonable investigation. 
i. They search wrong person
ii. Grab Hernandez
iii. There is excessive force
iv. Put Gortarez in a chokehold & cont to hold him after he says he doesn’t have item
v. Lose defense
7. Hypo: stop someone stealing a watch right as they are leaving the store, then asks questions, then where to investigate them? maybe back of store for privacy. What if they do not what to go. This is very difficult privilege to use. With reasonable investigation, you would need to train guards well.
8. Even if burglar leaves property before you can get to him can still assume hot pursuit otherwise people would run as soon as they get off the property
a. But there are risks associated with this. 
b. RST says detain on premises but doesn’t say about where you can go to catch them
c. Courts have allowed them to exercise privilege if it was a continuous sequence 
9. Defense only applies to person who you reasonably think stole chattel 
a. But could likely have reasonable belief for more than one person
b. Need some suspicion both are involved. 
c. Can use reasonable force and have some availability to search, but need to be careful (worried about intrusion)
vii. 5) Privilege of Discipline

1. Parents have reasonable privilege to discipline
a. Force & confinement within limits
b. Concern about intruding on parental rights 
2. This extends to other people such as teachers but it’s very limited
3. Hypo: Bus driver drives kids to police station instead of school. Kids could claim false imprisonment, then could transfer intent for other torts that occurred. But driver maybe be able to use discipline privilege. 
viii. 6) Consent 

1. Consent must be freely given 
2. Berywn Hypo: Berwyn goes to Austin’s house for a romantic dinner and they appear to be about to kiss when Austin reaches for her neck but bc she has neck problems he severely injures her neck. Berwyn says “I never consented” to this touching and that is true, does that mean there is no consent?
a. All circumstances are relevant. Person acting on consent can only act on facts that are available to him/her at the time of the situation. 
b. There is express consent and implied consent. 
c. Austin allowed to react by what is communicated to him by the circumstances 
d. If there was consent it would cover the broken neck. Bc if you consent to a touching and that touching occurs you are generally covered by consent privilege. 
3. If touching unconsented to do not have intent for battery unless in single intent jurisdiction. 
4. Consent is based on the circumstances & also about social context built into that 
5. To determine consent
a. Apparent consent: Rely on reasonable appearances 
b. Look at the circumstances to show consent 
c. No means no
d. Extent of consent: unexpected consequences. Think inverse of extended consequences
e. Consent can be seen as negating harmful intent. But you must treat it as a privilege
6. Can consent expressly in writing, orally, or through action
7. Three parts of consent:
a. Entering the consent: Capacity to consent: relationships/power imbalance/ age / impairment / statutes
i. Expressly: orally or in writing
ii. Impliedly: consent through actions
1. Lift arm for a shot. Austin & Berwyn 
iii. Impliedly: consent implied in law (legal fiction)
1. Emergency 
b. Scope of Consent: Geographic and conditional
i. Geographic limits:
1. Example: consented to right ear operation but left ear was operated on. No consent
ii. Temporal limits: Example: Farmer consented to snow fence for term of lease but after lease expired consent no longer exists. 
iii. Conditional limits: 
1. Example: Consent on condition that only use family blood in operation
c. Effectiveness of Consent: Reasons why law will not recognize consent
i. Incapacity
ii. Statute disallows consent
iii. Consent was gained through fraud, misrepresentation, coercion 
8. Ex: Robins case: P a jailer says D consented to the sexual conduct. But D is an inmate and thus cannot consent because of the power imbalance. Court of appeals says no consent, no capacity to consent bc of power imbalance. Saying D cant consent bc of legislative public policy that it criminal action for this consent would not be a defense. 
9. Employer/Employee:
a. Consent here depends on context of relationship 
b. Still a factor to consent. Power & relationship are a factor 
10. Children can consent 
a. Minors are a class often thought to lack capacity to consent, although there is not a blanket rule that covers every situation; courts will sometimes look at the individual facts, to see if the particular minor has the experience and intelligence to consent to the particular act involved in the case. 
b. Children thus can consent but there are exceptions based on age
c. 12 year olds can consent to certain medical treatment
d. age 10 can consent to playing a sport 
e. consent depends on experience, age, etc. similar factors to whether child has intent
f. make sure child understands what they are consenting to. So need to understand the act and the consequence of the act
g. actions with serious consequences, do not want to let children consent to them 
h. look at facts as the child gets older 
11. Incapable adults: 
a. Do they understand the act and consequence?
b. If do not understand either they lack ability to consent 
c. Do not understand the nature or character of the act 
12. Inebriated Adults:
a. Impairs ability to understand
b. If these faculties are impaired you cannot consent 
13. Statutes intended to protect a class: 
a. Ex: child labor laws 
14. Kaplan case: Doctor operated on wrong disks in Ps back and P did not consent to have those disks worked on. So consent did not cover doctors actions.
a. The law will deem a patient to have consented to a touching that, although not literally covered by the patient’s express consent, involves complications inherent to the procedures… a battery occurs if the physician performs a ‘substantially different treatment’ from that covered by the patient’s expressed consent. 
15. Hypo: Blood transfusion: P given blood she did not consent to. There was a condition on her consent. She only consented to blood from her family. Law allows you to condition consent bc of bodily autonomy. 
16. Hypo: Person goes in for surgery, during surgery D punctures cysts. Consent covers because it prevented the patient from needing a second surgery. Doctors usually talk to patients before surgery to tell what might usually occur 
a. Informed consent: Doctor must inform patient of every issue related to surgery and have consent to act as necessary during surgery 
b. If Doctor doesn’t tell you or you were not able to fully understand & therefore could not actually consent to extra things that come up (usually covered under neg)
c. Medical battery usually occurs when operate on completely wrong thing 
17. Bad Auto Accident: Person needs to be treated but can’t consent, no relatives around, would have implied consent because they need immediate medical attention.  
18. Doe v. Johnson: 
a. Woman contracts HIV after sleeping with Magic Johnson. Johnson claims consent. Was there consent? Yes to touching but not to contracting HIV because she was not able to know consequences because she did not know the risks
b. Should have known is not enough to have substantial certainty 
c. There are situations where in order to have consent there are minimum quantums of info that must be shared. Must share knowledge of venereal diseases with partners
19. Herpes Hypo: A asks B if he has herpes. B lies and says no. A gets it. Consent through fraud/affirmative misrepresentation. No consent then.
a. Variation: B doesn’t tell because A doesn’t ask. Still not consent bc of Bs failure to supply information 
b. *don’t have to inform people of risks they already know of 
20.  Purpose of consent is to know the act and the consequence of it. If you have that info you are in the position to make a decision. It is when you don’t know that the disclosure issue comes up. 
a. Law says you have to disclose and cannot lie 
21. Consent to a criminal act: 
a. Majority: Consent to a crime does not bar tort suit
b. RST: Consent is effective to bar suit 
c. Ex: Prize fighting w/out permit: can bring battery claim & defense of consent will not hold up bc cannot consent to crime. Consent is invalid. But RST says no, you can consent
22. Consent has to go to the nature of the action. Ex. prostitute paid w/ fake $100. Still counts as consent to the touching. If can argue fraud was to collateral manner can raise consent defense.
ix. 7) Public Necessity 

1. Surroco v. Geary: house was going to be destroyed anyway by the fire so D blew it up in order to stop the fire from spreading. But P claimed he had time to get all of his property out before the fire would have got to him had the house not had been blown up. 
a. As long as there is a reasonable belief then the privilege of public necessity will apply
b. Court says the evidence in this case clearly establishes the fact that the blowing up of the building was necessary as it would have been consumed by the fire had it been left standing. The Ps cannot recover for the value of the goods which they might have saved; they were as much subject to the necessities of the occasion as the building in which they were situated
2. Ferari Hypo: Cops take ferari and crash it. P claims conversion. Cops assert public necessity. (5th amendment does not apply in case of public necessity). Cops would win. 
a. Idea of public necessity is the majority rule and the rule in CA so citizen would just lose their ferari. 
b. If police try to take your car and you say no and they arrest you and you claim false imprisonment police can still claim public necessity as defense. 
x. 7) Private Necessity:
1. Ploof case: P docked his boat at D’s private dock to avoid injury in a bad storm. D had his servant untie boat injuring family and destroying the boat. P sued for trespass/conversion to chattels. D says no P trespassed to begin with. 
a. Necessity will justify entries upon land and interferences with the personal property that would otherwise have been trespasses
b. Court held for Ps
c. If D said he untied and attempts to assert defense of property, would not hold because defense of private necessity trumps it. 
2. Vincent Case: D docked his boat while unloading goods. While unloading a storm came in and persisted after done unloading. D tried to leave but could not. So D tied boat to dock, replacing ropes as needed to keep it secured to dock. This created damage to the dock. D says not liable for damages bc private necessity. 
a. Taking someone else’s property to save yours but therefore must compensate. Must purposefully avail yourself of someone else’s property. 
b. Court says no private necessity does not cover here because they used someone else’s property to save their own property but damage the other persons property and therefore D responsible to pay for damages to Ps property
c. Variation Hypo: D still damages Ps dock but Ds boat still sinks. D would still owe money to P for dock. Rule says “can use someone’s property and even if damage it must still pay damages for property”
3. Privilege of private necessity only protects against punitive damages. Still responsible to pay for damages to property. Only liable under this defense for actual harm done by your property to others. 
4. Vincent is consistent with Surroco bc one’s about public necessity and ones about private 
III. NEGLIGENCE: D does something that creates an unreasonable risk 
a. Negligence is overt conduct that creates unreasonable risks that a reasonable person would avoid.  The risk of harm is unreasonable when an RPP would foresee that harm might result and would avoid conduct that creates the risk. Negligence is not a state of mind; it is a failure to come up to the specified standard of care
b. The Prima Facie Case
i. Must prove all 5 elements, duty: must be duty owed, breach: D must breach that duty, actual cause: actions must be the actual cause of the injury, proximate cause: Ds actions must be the proximate cause of the injury, & damages: need damages to recover: to meet the prima facie case. 
c. Element 1: Duty
i. Usual Duty is to act as RPP
ii. Duty as (1) setting a standard for particular, individual cases, or (2) establishing a general principle applying across many cases
iii. Situations in which the “limited duty” or “no duty” issue arises: (1) context (2) relationship between P and D
iv. Limited Duty: 
1. Common Carriers: 
a. More than ordinary diligence. Strict negligence. 
b. Have highest duty of care. Short of pure strict liability. (historical anomaly bc they were essential carriers of people. CA still uses this). 
c. Liable for even slight negligence. Have a higher standard of care. Can be liable for things where had RPP been applied you wouldn’t be liable for it.
d. Doser Case: 
i. Facts: P was injured on D’s bus in an automobile accident. An automobile turned left in front of the bus causing the accident. D argued P had not shown D was negligent. 
ii. Rule: Carriers of passengers for hire must exercise more than ordinary diligence for their protection. Its duty stops just short of insuring their safety.
2. Guest Statutes:
a. Alabama Statute: The owner, operator or person responsible for the operation of a motor vehicle shall not be liable for loss or damage arising from injuries to or death of a guest while being transported w/out payment therefor in or upon said motor vehicle, resulting from the operation thereof, unless such injuries or death are caused by the willful or wanton misconduct of such operator, owner or person responsible for the operation of said vehicle.
b. Hypo: Friend crashes car you are injured can you sue? 
c. To recover if guest in car had to show willful or wanton conduct
d. Almost all of these statutes are gone now bc they are unconstitutional. Examples of very limited duty
3. Landowners & Land Occupiers: (1st limited duty) (duty changes here depending on what is happening. Analyze duty at all stages to determine what D owed to P at all times)
a. Duty to Trespassers
i. Avoid willful/wanton conduct (general duty is to avoid this conduct) unless 
ii. actually discovered or D has facts within knowledge so that he “has reason to know” (duty then changes to reasonable care). Reason to know can be from some fact of which you are aware or should be aware there is a trespasser (ex. shoe marks) but
iii. No duty to inspect property to find trespassers. (duty arises only when it comes to Ds attention)
iv. Footpath exception: Landowner is not aware of a trespasser by identifying them, but has reason to know there is a trespasser bc there is an actual footpath. Don’t see trespasser, just know they are there. Then have duty to investigate. 
b. Gladon Case: Facts: Gladon left an Indians game alone after having five 16 oz. beers. He left his friends in search of a restroom and ended up traveling alone on an RTA train. He mistakenly got off on the wrong exit where he was attacked by 2 men. He ended up rolled up in a ball on the tracks but does not remember how he got there, whether he was pushed or jumped. He does remember being kicked in the head. He laid on the tracks with his leg draped over the track. MB, the train operator had train in breaking motion when she saw a tennis shoe and his legs. She then hit the emergency brake. Unfortunately train still struck him causing serious injuries. 
i. Rule: A landowner owes no duty to a licensee or trespasser except to refrain from willful, wanton or reckless conduct which is likely to injure him. Furthermore, a railroad owes no duty to anticipate or prevent the presence of licensees or trespassers. When a trespasser or licensee is discovered in a position of peril, a landowner is required to use ordinary care to avoid injuring him. The duty to exercise ordinary care arises after the landowner “knows, or from facts within his knowledge should know or believe,” that a trespasser or licensee is on the land
ii. Holding: RTA was under no duty to anticipate trespassers and could only be liable for injuries resulting from willful or wanton conduct. RTA’s duty to use ordinary care to avoid injuring Gladon did not arise until RTA knew or should have known that Gladon was on the tracks. Whether the operator knew or should have known a person was on the tracks upon observing the tennis shoe is a question for the jury. Court finds that reasonable minds could have reached different conclusions regarding whether the speed of the train at the time the operator approached the platform meets the wanton standard in light of the operator’s duty to adjust the train’s speed to her range of vision and to the known track conditions
iii. Reasoning: RTA’s invitation to Gladon to use their premises did not extend to the area on or near the tracks. In fact, Gladon acknowledged that RTA did not permit the public in the area on or near the tracks. 
iv. P was invitee on platform when bc he paid, but on tracks is trespasser bc only invited onto platform. 
v. Court says to determine if trespassers ask (1) Where was he allowed and (2) where did he end up. 
c. Duty to Licensees: (generally treated the same as trespassers)
i. Permitted to enter
ii. Duty to avoid willful/wanton 
iii. Includes social guests 
iv. Difference from trespassers is that landowner knows they are there so going to owe them a duty close to reasonable care
d. Invitee
i. Business visitor (someone there for the business purpose of the landowner)
ii. Public Invitation (any person on land open to public. Ex: hospitals, parks. Economic benefit test).
e. Child Trespasser. 
i. Attractive Nuisance doctrine
ii. Bennet Case: (The modern rule)
1. Facts: Ps wife and son drown in the neighbor’s pool. Neighbor’s swimming pool had gone unused for 3 years. They removed the fence and tarp, and the pool became pond like. It contained frogs, tadpoles and a snake. There was no ladder. The sides became slick with algae. The Stanley’s knew the Ps had young children, and had seen them playing outside unsupervised and posted no warnings, no trespass signs on the property. Chance fell in looking for frogs and he drowned and his mother drowned trying to save him
2. 5 yr old in pool is trespasser. Mother presumably would be rescuer so Q about duty owed to her. Duty diff for child bc in a diff position then adults bc they can’t foresee and avoid perils so going to take greater precautions. 
iii. Rule: Attractive Nuisance Doctrine: A possessor of land is subject to liability for physical harm to children trespassing thereon cause by an artificial condition upon land if:
1. The place where the condition exists is one upon which the possessor knows or has reason to know that children are likely to trespass, and 
2. The conditions is one of which the possessor knows or has reason to know and which he realizes or should realize will involve an unreasonable risk of death or serious bodily harm to such children and, 
3. The children because of their youth do not discover the condition or realize the risk involved in intermeddling with it or in coming within the area made dangerous by it, and 
4. The utility to the possessor of maintaining the condition and the burden of eliminating the danger are slight as compared with the risk to children involved, and 
5. The possessor fails to exercise reasonable care to eliminate the danger or otherwise to protect the children 
iv. Attractive nuisance con’t:
1. Applies to artificial conditions
2. Creates diff duty owed to children
3. Does not apply to natural conditions
4. Some states will NOT to apply it to common hazards even if they are artificial. (Ex: irrigation canal, stock ponds in order to protect landowners). 
v. Dangerous Instrumentality Doctrine: operating hazardous machinery, person operating owes higher duty of care to children. 
1. Waystation to get to attractive nuisance. Was limited to hazardous machinery. Attractive nuisance is broader. 
vi. Turntable theory: children were injured on train turntable. 
f. Rowland v. Christian CA (Abolition of common law categories of trespasser, licensee, invitee)
i. Facts: P was social guest at Ds house and severely hurt his hand using her bathroom sink when the faucet broke. P knew faucet was cracking and had reported it to her lessors but did not warn P before he went to the bathroom. 
ii. Reasoning: To focus upon the status of the injured party as a trespasser, licensee or invitee in order to determine the question whether the landowner has a duty of care, is contrary to our modern societal more and humanitarian values. 
iii. P was a licensee, but court doesn’t analyze by this. Court completely gets rid of classifications. Says it shouldn’t matter why they are on the property, that it should not trump concern over the care of a person. 
iv. Outcome = now classifications are relevant but not determinative. 
v. Only about 10 states followed this & then courts refused to follow it. A lot of states now treat invitees and licensees the same 
vi. “Reasonable people do not ordinarily vary their conduct…” this is not really true. 
g. Scruti Case: (NY)
i. Facts: A 14 year old boy was electrocuted in a railroad yard after climbing through a hole in the fence. The fence was part of a city park. 
ii. Rule: Under those circumstances D must take reasonable measures to prevent injury to those whose presence on the property can reasonably be foreseen. Whether the threat is posed by a dangerous condition or a dangerous activity is of little significance. In this connection it is important to note that the elimination of the immunity conferred by prior law should not pose an unreasonable burden on the use of the property since all that is now required is the exercise of reasonable care under the circumstances.
iii. No Attractive nuisance. NY abolished classifications. Followed Rowland. But categories still relevant. 
h. Still need to know categories. CA now applies general duty of reasonable care to children as well. But attractive nuisance idea applies in many other places. 
i. Open and Obvious Danger: 
i. General rule = No duty. Unless the possessor should anticipate the harm despite such knowledge or obviousness. RST 3rd says in some instance a “residual risk” will remain & landowners have duty
ii. Kentucky River Medical: Facts: McIntosh was transporting a critically ill patient into a hospital. The hospital emergency room entrance is a flat area that rises on both sides to form a curb. It is unmarked and unprotected. McIntosh had helped transport 400 patients to this emergency room entrance before And had gone through without incident. This time she fell and suffered a hip fracture and sprained wrist because she was focused on the patient the entire time.
1. Rule: As a general rule, land possessors owe a duty to invitees to discover unreasonably dangerous conditions on the land and to either correct them or warn of them. However, the open and obvious doctrine states that land possessors cannot be held liable to invitees who are injured by open and obvious dangers. 
2. A possessor of land is not liable to his invitees for physical harm caused to them by any activity or condition on the land whose danger is known or obvious to them, unless the possessor should anticipate the harm despite such knowledge or obviousness.
3. However sometimes the possessor has reason to expect that the invitee’s attention may be distracted, so that he will not discover what is obvious or will forget what he has discovered, or fail to protect himself against it. In these situations, the injury is still foreseeable, and so liability should still be imposed.
4. Reasoning: If the land possessor can foresee injury, but nevertheless fails to take reasonable precautions to prevent the injury, he can be held liable. A land’s possessor’s duties are not based only on his superior knowledge. These duties are also based on the land possessor’s unique position as the only person who can fix the dangers. Hospital owed a duty.
5. Argument is that hospital cannot be liable bc it was an open and obvious danger which P knew about which means D no longer has a duty to protect from this danger bc knows and can avoid it. But cannot rely on P to protect herself bc she is worried about patient. It was foreseeable she would not be paying attention to the curb.
6. Court says Open & Obvious dangers applies but if its foreseeable invitees attention may be distracted, the doctrine will not apply. But hospital still has comp. fault to argue but P has emergency doctrine.
iii. Hypo: Kmart Mirror: Guy goes into Kmart & buys a mirror. Sees posts on way in but on way out walks right into post with mirror and it shatters into his face. Court says foreseeable customer will be distracted
iv. Hypo Icy Floor: Icy floor. Place warns of icy floor but guys slips & falls. Court says foreseeable hed be distracted while shopping. 
v. Hypo: Watermelon shopper: Woman sees watermelon floor. Still goes down aisle and starts to reach cupcake holders. Store says open & obvious danger applies when she trips. 
j. Duty to persons off Land
i. Original Rule: No duty if injury occurs from natural condition. Ex: Landslide off property. If artificial will owe duty to someone off property. 
ii. Condition natural in rural setting = no duty. Natural in urban setting = duty. Now have duty for natural and artificial. 
iii. Some jurisdictions (CA) abolished these rules and say owe general duty of reasonable care.
k. Duty owed by Lessors
i. Pagelsdorf: Facts: P fell from the balcony sustaining injuries when moving furniture out of the apt. After moving a box spring he leaned on railing to stand up right and railing gave way and he fell. Railing was original wooding railing. After discovery determined railing was dry-rotted but that could not be seen by the naked eye. Owner also had contracted to keep building in repair but this was limited to known or reported defects. 
ii. Rule: With certain exceptions, a landlord is not liable for injuries to his tenants and their visitors resulting from defects in the premises. 
iii. Exceptions: (1) Contract to repair (2) Owner’s knowledge of defect and tenant could not be expected to discover it (unless Lessee does discover it) (3) Public use of premises (4) Common areas: Landowner retains control (5) Negligent repairs 
iv. None of these exceptions applied here, so court throws it all out and treats as general duty of reasonable care. New rule = duty to exercise ordinary care 
4. Firefighters Rule: landowners are not liable to firefighters or police for ordinary negligence in responding unless the risk one that cant be anticipated (they cannot recover for things like tripping on property)
a. Limited Duty: applies to police
b. Rationales
i. Licensee
ii. Assumption of risk
iii. Too great a burden
iv. D already paid taxes
5. The Professional Standard of Care: (2nd limited duty)
a. Walski Case: Facts: P had surgery to have thyroid removed. The risk of the surgery is loss of voice if the nerves are damaged. To avoid this, Drs. Locate the nerve and segregate them before removal of the thyroid. Here there was a great deal of scar tissue from Ps other surgeries and instead of locating the nerve the Drs made a wide cut as to avoid the area where the nerve was thought to be. In fact they cut the nerve and P’s vocal cords are paralyzed
i. Rule: On element of a cause of cation for medical malpractice is proof of the standard of care by which the D physician’s conduct is to be measured. Generally must establish the standard of care through expert testimony. The plaintiff must then prove that, judged in the light of these standards, the doctor was unskillful or negligent and that his want of skill or care caused the injury to the P. 
ii. A requirement that the standard of care be established through expert testimony except where the common knowledge of laymen is sufficient to recognize or infer negligence is broadly recognized throughout the country. 
iii. Holding: P failed to introduce evidence of the standard of care to which the D were bound to adhere. Expert at no time testified that there was a generally accepted medical standard of care or skill which required the identification of the laryngeal nerve under the circumstances.
iv. Have to show negligence and P needs expert bc normal lay person would not understand these medical terms 
v. Expert said “in his opinion” the procedure was improper. This is insufficient. Expert also needs to show actual cause and that if Dr had not done what he did there would be no injury. 
b. Standard of care now = looking for what is customarily done and custom evidence has become determinative. Of the outcome. 
c. The “medical standard” is understood as the rule for the very circumstances involved in Walski. 
d. The medical standard is specific to the circumstances. The standard only applies to the particular circumstances.
e. Professional standard skips entire RPP analysis and goes to customary standard.
f. Vergara Case: The locality Rule 
i. Facts: Vergara (P) was born at Adams Memorial hospital. His parent claim negligence on the part of the Dr. Doan during P’s delivery caused him severe & permanent injuries. 
ii. Strict Locality: Measure Dr.’s standard by the standard in the community the Dr. Practiced. 
1. Idea was if Dr. was practicing in very small town not fair to compare standard in major city
2. But expert would have to come from same community (and 1 is not going to testify against other in small communities) bc of that get modified 
3. Likely on its way out bc small towns have more information available to them for how to treat patients. Gradually getting weakened
iii. Rule: Modified locality rule: The standard of care is that degree of care, skill, and proficiency which is commonly exercised by ordinarily careful, skillful, and prudent physicians, at the time of the operation and in similar localities. 
1. same/similar location. Expert from similar locality as one in question, cant assume both localities follow same procedural method. Expert would have to learn how small town in questions handles procedure 
iv. Modified locality Rule II: locality is just one circumstance
v. Modern Rule: A physician must exercise that degree of care, skill, and proficiency exercised by reasonably careful, skillful, and prudent practitioners in the same class to which he belongs, acting under the same or similar circumstances. 
vi. Some parts of the medical community are subject to national standards = typically specialists. 
g. Good Samaritan Statutes: Hirpa Case: 
i. Facts: A patient in labor became unresponsive and her hands began to spasm. Her physician broadcasted code blue over the intercom and Dr. D responded, took over and P died 
ii. Statute: No person who licensed under this chapter who in good faith renders emergency care at the scene of the emergency shall be liable for any civil damages as a result of any acts or omissions by such person in rendering the emergency care. 
1. Intended to protect people who aid in an emergency. Usually not liable for ordinary negligence. 
iii. Holding: Has no application when physician already has a duty to aid. 
h. Good Samaritan hypo: Emergency on side of road. Once D starts treating patient, duty arises. (Duty is professional standard of care). 
i. CA Good Samaritan Statute:
i. [N]o person who has completed a basic cardiopulmonary resuscitation course …and who, in good faith, renders emergency cardiopulmonary resuscitation at the scene of an emergency, shall be liable for any civil damages as a result of any acts or omissions by such person rendering the emergency care.
ii. This section shall not be construed to grant immunity from civil damages to any person whose conduct in rendering such emergency care constitutes gross negligence.
6. The Doctrine of Informed Consent
a. Harnish v. Children’s Hospital (Patient Standard. Trend is toward this standard under informed consent. CA Follows. Test = is info material)
i. Facts: P underwent an operation to remove tumor in her neck. During procedure her hypoglossal nerve was severed, resulting in permanent and almost total tongue loss.
ii. Rule: (Patient Standard) a physician owes to his patient the duty to disclose in a reasonable manner all significant medical information that the physician possesses or reasonably should possess that is material to an intelligent decision by the patient whether to undergo a proposed procedure. The information a physician reasonably should possess is that information possessed by the average qualified physician or, in the case of a specialty, by the average qualified physician practicing in that specialty. The extent to which he must share that information with his patient depends upon what information he should reasonably recognize is material to the P’s decision. 
b. If Dr. misleads patient but patient agrees that is battery, bc P could not have made informed decision w/out material information. 
c. But almost always treat these cases like negligence instead of intentional tort. 
d. Dr. has to give material information to patient to get the informed consent. Idea is to protect bodily autonomy 
e. If followed customary standard for disclosures then we do not ensure patient gets all the info. So instead apply:
i. Materiality: material info (something that will affect your decision) meaningful to person in making decision, must be disclosed. 
f. So P has to prove what risk are material.
i. Need expert. Expert is going to testify to what risks, outcomes, side effects, alternatives, but not going to say whether these disclosures are material. 
g. Actual cause issue: If P had been told of risk would P have gone through with operation? If answer yes, then no actual cause. P has to say should would not have gone through surgery if given those risks. The lower risk involved with surgery are, less likely to believe P would not have undergone surgery even if she knew. 2 Part test to determine actual cause here:
i. But for the lack of disclosed information P would not have gone through surgery
ii. But for the lack of disclosed information and RPP would not have gone through surgery (this cuts against bodily autonomy)
h. Privilege: When don’t Drs have to disclose? 
i. Emergencies
ii. P already knows the risks of the procedure (6th tummy tuck)
iii. Therapeutic privilege: cant withhold information bc they think the patient wont go through with the surgery if they know the info. Cant withhold for paternalistic reasons. 
1. Circumstances in which this applies are limited. Has to be extraordinary reason for nondisclosure
i. Wooley: (Uses Professional standard for informed conset. NY Follows)
i. Facts: D operated on Ps back bc of abnormaility in the spine he go wrong interspace btween vertebrae and also inadvertently tore part of tissue encasing the spinal cord, which resulted in numerous medical probs for P. Tear is normal risk of surgery but Dr. did not inform P.
ii. Rule: The standard of disclosure is that of the reasonable medical practitioner and tis will ordinarily require expert medical testimony.
iii. The P in informed consent cases must also prove causation by the objective test, that is, that a reaosnable person would have refused the treatment had full information been given, that the P herself would have refused it. 
j. Wlosinski v. Cohn
i. Facts: P suffered kidney failure. He and his family researched medical facilities and their kidney transplant successes. Found D who said his success rate was good. P’s mother donated a Kidney to save P. D performed surgery and P suffered severe post op complications and later died. Ps expert inferred incompetence on Ds behalf bc 5 of his last 7 transplants failed. 
ii. Holding: The doctrine of informed consent requires a physician to warn a patient of the risks and consequences of a medical procedure. By itself, the Drs success rate was not a risk related to the medical procedure. He did not have a duty to disclose his statistical history of transplants.
iii. Do not have to disclose success rates bc only thing that matters is risk of procedure (but can make argument this is a risk of procedure). Hard to determine the success rate, and doctors may not take on high risk patients. 
k. Arato:
i. Facts: P was diagnosed with cancer. Dr performed surgery but it was a kind that was overwhelming likely to cause death in a short time. P told his doctor he wanted to know the truth hi Dr did not tell him death in short time was almost certain. Instead recommended experimental treatment which was unsuccessful and P died. 
ii. Rule: As to relevant information not about risks, the standard of disclosures is the standard of practice within the medical community. Since expert physicians testified that the standard was NOT to reveal this kind of information voluntarily there could be no liability for failure to give informed consent. 
iii. A request to be told the truth does not heighten the duty of disclosure imposed on the Drs as a matter of law. Although patients may waive the right to be informed. 
l. Truman:
i. Facts: P died of cervical cancer that could have been caught had she gotten a pap smear. D, her doctor, repeatedly told her to get pap smear but did not tell her of risks of not getting one.
ii. Rule: If a patient indicates that he or she is going to decline the risk-free test or treatment, then the doctor has the additional duty of advising of all material risks of which a reasonable person would want to be informed. 
iii. Actual cause easier here bc it would be: if you gave information I would have done it. 
m. Brown Case:
i. Facts: after conference with Drs P underwent double mastectomy w/ unfortunate results. 
ii. Rule: a patient may ordinarily trust the Drs information and except in a most unusual case could not be charged with fault for failure to ascertain the truth or completeness of the information presented by the Dr or to seek independent advice.  
7. Ybarra v. Spangard (Res Ipsa)
a. Facts: P underwent surgery for appendicitis. Several doctors and nurses were involved. After waking up from surgery had pain in his neck and shoulder. Condition got worse. Medical evidence established the condition was a result of trauma applied btween neck and shoulder. 
b. P cant bring medical malpractice suit bc he doesn’t know what happened 
c. Elements of res ipsa:
i. Arm pain from appendectomy doesn’t normally occur w/out negligence
1. Injuries to other parts of the body during surgery - classic negligence cases; normally don’t need an expert
ii. Exclusive control of D: problem is that there are multiple Ds; traditional res ipsa won’t work b/c injury not w/in exclusive control of the defendant (D’s argument)
1. Different from barrel case b/c in that case, P was suing 1 company, not multiple Ds
2. Here: P is utterly helpless; ONE of the Ds knows but they’re not saying it → inference of negligence. If Ds don’t explain what happened, they’ll all be negligent - incentive to explain what happened
3. Remand: court found all of them liable b/c nobody was able to explain what happened. Problem: Thompson appeared the following morning; she likely didn’t know what happened to the P, but is still jointly and severally liable
d. Captain of the Ship Doctrine: cap’t is responsible for everything. Whoever is in charge of the operation is liable for the negligence. Would capture some of the Ds in Ybarra but not all. 
e. Case expands Res Ipsa, some states refuse to apply it, but then P loses. 
8. State v. Lourdes Hospital (Res Ipsa)
a. Facts: P had surgery for removal of ovarian cyst. Claims anesthesiologist hyper abducted her right arm causing right thoracic outlet syndrome. 
b. Don’t know the negligent act 
c. Classic negligent Res Ipsa case = leaving instrument in body after surgery, operating on wrong part of body. Do not need expert testimony for that. Need expert testimony when jury doesn’t know whether injury could occur w/out negligence
d. Here need expert testimony to establish ordinary standard of care, consent/materiality tests
v. Nonfeasance: (3rd Limited Duty)
1. Train Hypo: Person not liable for not saving baby of train tracks 
2. Once Person picks baby but then puts baby back = misfeasance 
3. Basic rule = no duty 
4. Cilley Case:
a. Facts: P shoots himself with his own gun on D’s property. D does not check on him or call for help right away. P dies. Drs said had help been called earlier he likely would have survived
b. Argument for why D owed duty: Geography. If person is on another’s property then there’s question about whether duty owed bc of landowner occupier relationship. P was maybe licensee upon arrival but then became trespasser bc D said get out and he did not leave. D the only had to refrain from willful/wanton conduct
c. Maybe comparative fault bc dealing with aftermath of shooting himself but in most situations = no comp fault.
5. Have nonfeasance to protect personal freedom. If person does nothing, generally not responsible bc if held person liable for something for which they aren’t responsible person would have to pay for things they didn’t cause. 
6. Problem w/ imposing duty of care: crowded beach & someone drowning. Everyone on beach would be liable for the death; liability will be too large. Problem making everyone responsible for an action they did not cause. 
7. Yania Case:
a. Bigan did do something, by employment he convinced Yania to jump. Court says this kind of action doesnt cont. Not going to say misfeasance just bc he is taunting him
b. Could have argued Yania was invitee, but this arg never made. 
c. Court says nonfeasance. No duty
8. Nonfeasance Rule: if there is nonfeasance, then the nonfeasance does not give rise to a duty of reasonable care. If don’t act, no duty
9. Misfeasance Rule: a duty DOES arise. If act with foreseeable risk, there’s a duty.
10. B.R. West Case: 
a. Facts: Dad receives medical treatment from Trina West. She prescribed him at least 6 medications. While on all the drugs the Dad killed his wife, leaving his children orphaned bc he went to jail for the murder. Ps are the children
b. Ds: Hospital, nurse, doctor (all signed off on prescriptions)
c. Nonfeasance arg: Nurse & Doctor took no action with respect to wife & kids. Bc of no action = nonfeasance = no duty to take care of Ps bc they never took any action toward them
d. Owed Husband/father du tbc they prescribed him the medication
e. Court focuses on affirmative act of prescribing the drugs to the husband: 
i. Affirmative act – creates a duty; theres misfeasance. How spread this to the Ps? 
f. Health care provider should foresee harm to a 3rd party. Duty that arises from affirmative act will cover not just husband but third parties as well. 
g. Affirmative act will give rise to a duty; here, risk spreads to the Ps bc its foreseeable. 
h. Like problem with Proximate cause in this case bc of Dad’s intervening act of murder.
11. Misprescribed drugs hypo: person under influence of drugs crashes into you – you’re a foreseeable victim; anyone harmed would be; bc affirmative act was prescribing the drugs
12. Exceptions to Nonfeasance
a. General rule = when you act, it gives rise to foreseeable duty of care
b. Duty arises when D causes harm (eve if non-negligently)
i. Hypo: Railroad accident: collision between truck & train; neither is negligent. Truck gets pushed off track train keeps going. P is in truck and injured. Duty exists bc if you act and cause harm, duty arises. Railroad liable for for subsequent injuries occurring to P bc they did not stop and help but not liable for original injuries bc neither negligent.
c. Duty arises when D creates a risk of harm 
i. Hypo: Deer in the road: someone hits deer & leaves it in road. Duty arose when the risk was created which was when deer was left in road. 
d. D assumes a duty:
i. Wakulich: 
1. Facts: P alleged that Ds provided alcohol to P and offered her money to finish the entire bottle. Allegedly the father of the Ds was home and should have known of events. P passed out and was vomiting. Ds did not let anyone else call for help. They removed her vomit soaked shirt and put a pillow under her head. They took her to friend’s house. Later she was taken to a hospital where she was pronounced dead. 
2. Negligent act = giving alcohol to minor for a bet. No liability for that here; social host not liable for injuries for providing alcohol/no duty (duty rule)
3. Ds assume a duty when they voluntarily start to take care of her and then stop taking care of her. 
4. Here: duty was assumed when Ds picked up P and carried her downstairs 
5. Duty is analyzed by court; breach will be analyzed by the jury – jury will analyze whether Ds breached their duty. 
e. Hypo: Police Officer & Burning car: car bursts into flames, D (police officer) calls fire dept & directs traffic away from accident but does not call ambulance or try to rescue passenger of burning car. When fire dept shows up, pull pregnant out of car. She & baby are dead. Court held police officer did not owe duty of care. Argument that directing traffic away does not amount to assuming a risk for the person in car.
f. Special Relationships: (another way to get out of nonfeasance box): creates a duty. If there’s a special relationship, a duty exists. If person in special relationship does nothing they can be found liable. Owe duty even if don’t act. Has to do with nature of relationship. Have to make argument why relationship gives rise to a duty.
i. Examples: employer-employee, parent-child, teacher-student 
ii. Why they’re responsible: interaction btween the 2 people in relationship, P willingness to interact with D, already have a relationship and it gives rise to a duty
iii. Determinate Relationships: (immediately think there’s a duty) employer – employee, school-student, landlord-tenant, business or other possessor of land that holds its premises open to the public with those who are lawfully on the premise.)
iv. Indeterminate Relationships: Ad hoc relationships (harder to show a duty)
1. Rocha case: duty owed by the friend – indeterminate relationship that arose that evening from engagement in mutual activity. 
g. Farwell Case: 2 guys drinking; catcall girls which offends girls’ boyfriend. Bf beats up 1 guys; other guy pulls beat up guy out, leaves guy in car in his grandma’s driveway, he dies. Duty here – special relationship: friend rendered assistance to beat up guy. Engagement in mutual activity gave rise to the duty. 
h. Termination of a Voluntarily Undertaken Affirmative Duty: Possible to voluntarily undertake a duty and then decide you want to get out of it? I.e., stop rendering aid - Law says yes. Only catch: can’t leave the person in a worse position than when you started
i. Rule: Cannot leave the other to be in worse position than before
ii. Ex: Wakulich, P was worse off after Ds carried her downstairs and propped her up bc by rendering aid they stopped others from calling 911. 
iii. RST 3rd tries to limit doctrine: Rescuer must exercise reasonable care in deciding whether to discontinue the rescue. (ex: rescuer of drowning person cannot stop halfway to shore). Once secured the safety of the other, the rescuer may not then return the other to peril even if peril is no greater than what existed at time of rescue.
13. Podias (Special Relationship case): (don’t need factors)
a. Facts: Mairs was drinking with 2 friends. Started to drive home and hit P. Left P in road, did not call for help although all 3 made other phone calls, none were to help. Fled the scene, car broke down, 2 friends ran into woods. A second driver hit P again killing him. 
b. Rule: It may only be necessary to find some definite relation between the parties of such a character that social policy justifies the impositions of a duty to act. 
c. Holding: the degree of Ds involvement, coupled with the serious peril, that might have been avoided with little effort that creates a sufficient relation to impose a duty of action. Duty arises only under these specific circumstances. Narrow exception to nonfeasance.
d. Mairs owed initial duty bc he was drinking and driving. Problem is whether friends owed a duty. Friends argue bystanders & they did not create risk bc never acted. Court says they owe a duty even though under nonfeasance they actually don’t. Impose duty in situation where we haven’t seen a duty before bc:
i. There was a foreseeable risk of harm
ii. Harm could have been easily prevented
iii. Ds are far more than innocent bystanders
iv. Ds acquiesced in creating initial risk by allowing friend to drive 
v. Ds obligated not to prevent Mairs from acting. (if they had prevented him from acting dut would arise)
vi. Orchestrated scheme to avoid detection
vi. Contract & Duty (4th limited duty)
1. Risk Creation 1: 
2. Contrct can take out of nonfeasance under specific circumstances 
3. If you enter into K and your actions give rise to a risk, court will find a tort duty
4. Affilated FM (SMS’s insurer) v. LTK:
a. Facts: Monorail caught fire. City had entered in K 10 years prior with SMS, and required SMS to carry insurance policy. City also contracted with LTK to recommend repairs to train that agreement ended in 2002 and SMS was not a party to it. 
b. Negligence in change the electrical ground system for trains. 
c. Duty arose bc Independent Duty doctrine = Court says there is safety involved here, and LTK was fixing something so it is a case of misfeasance. But there is economic issue bc imposing tort duty will increase engineering costs. Worried about fact that K was involved. 
d. What was contracted for can change the scope of the duty. Owe duty of care for what you are doing under the K. 
e. In K cases courts often ask not only whether a duty exists, but also what is the scope of that duty. Have to look at K to see if duty extends.
f. Here they were doing exactly what K told them to do. 
g. Issue whether LTK had enough interest in the train to suffer tort damage vs. pure economic loss. Court says had enough. 
h. Here is duty bc it’s a misfeasance case. Default presumption applies when D has created a risk. 
i. Only change btween regular tort case and K & tort case = scope of duty. 
5. Economic loss = cannot recover in tort. Can only recover for it in K law. 
a. Yellow Pages Hypo: Company doesn’t get add in bc yellow pages forgets. Company loses profits, tries to sue for negligence, cant recover bc = pure economic loss. 
b. Some torts can recover this. Ex: in fraud, intentional interference w/economic relations 
c. No duty to prevent economic loss. 
6. Economic damage = loss of income/medical bills as a result of injury 
7. Langlois Case:
a. Facts: P failed to pay water bill for her property to D. Alleged that town promised to shut off water service so that she would not incur further expenses, but town failed to do so, and she relied on that and did not continue heating building so pipes burst causing extensive water damage. (Evidence D came out to turn off water but did it improperly so actually misfeasance case, although not argued)
b. RST 323: One who undertakes, gratuitously or for consideration, to render services to another which he should recognize as necessary for the protection of the other’s person or things, is subject to liability to the other for physical harm resulting from his failure to exercise reasonable care to perform his undertaking if:
i. His failure to exercise such care increases the risk of such harm or
ii. The harm is suffered bc of the other’s reliance upon the undertaking. 
c. In nonfeasance, duty going to arise in nonfeasance if it increases the risk of such harm or harm is suffered bc of reliance. 
d. Here this is met bc she relied on the water being turned off. 
8. Scope of Duty based on Undertaking:
a. Diaz Case: P went to Jiffy Lube for oil change. They also offer tire rotation and inspection for separate fee. But P does not recall asking them to perform work on her car. Few weeks later P gets into accident and asserts that worn tread on back tires caused or contributed to the accident. 
i. D had no duty bc K included only a check of the air pressure, not an overall tire inspection. K sets out scope of duty.
ii. Jiffy Lube’s contractual undertaking significantly influences the determination whether a duty existed to inspect the tires. Here they did not undertake to inspect
9. Duties to Third parties not in Privity of the K
a. Winterbottom: D entered into K to repair stages for post master general. D did not do job; there was a crash and someone else was injured. That person sued D Winterbottom for his failure to perform the K. Court said 3rd party not in privity of K cannot recover, but courts have moved away from this. 
b. Now 3rd party not in privity of K can recover. 
c. Hypo: NYC blackout bc of ConEd’s negligence. Guy got injured in basement of pat building and there the LL was in the K w/ ConEd not P. Court said he could not sue bc he was 3rd party not in privity of K. 
i. When have 3rd party with utility Ks courts wotn allow 3rd party to sue bc of concern for too much liability. 
d. Palka Case (Modern Approach): P was a nurse employed by hospital. Hospital contracted with servicemaster to maintain operations at hospital. Before that hospital did its own maintenance, but once hired servicemaster left it to them. Servicemaster did not exercise reasonable care and wall-mounted fan fell on P. 
i. When signed K, give rise to tort duty to persons within hospital bc D knew they would be responsible for these people and could have raised K price. 
ii. K is that actor undertook to perform a duty owed by hospital 
e. Factors supporting an imposition of liability for 3rd parties (from Palka)
i. Reasonably interconnected and anticipated relationships
ii. Particularity of assumed responsibility under the contract and evidence adduced at trial
iii. Displacement and substitution of a particular safety function designed to protect persons like this P and
iv. A set of reasonable expectations of all the parties. 
f. RST Factors: increased risk/ perform other’s duty/ reliance. 
g. 3rd party duty = if liability is confined to a definable group that is not too large, likely court will find a duty. 
10. Promise as Creating Duty
a. Florence: P took her child to school every day for 2 weeks. Then saw city police stationed a crossing guard so she stopped walking her child. Day in question guard called in sick, Protocol called for sending another, if not to cover most dangerous intersections. A sub was not called & principal not notified. Child was struck at crosswalk and suffered brain damage. 
b. Police owe duty to general public but not to any individual member of public. 
c. Scope of duty depends what was promised. 
d. Arg here = nonfeasance. But could make arg for misfeasance bc they did not put a crossing guard there. 
e. Court says there is duty bc they assumed a duty outside their initial duty. Actions amounted to a promise that P relied on, and as a result of reliance child ended up in greater danger. 
f. Simply not fulfilling promsie is not enough for tort liability
g. Duty arises when there is promise plus reliance
h. Kircher: Woman abducted, police man notified but fails to call it in, woman is raped and beaten. 
i. No duty bc there was a promise but no reliance, bc injured party did not rely. 
ii. Promise has to be made directly to person and that person has to rely directly. 
i. First day of class & kids are hit in crosswalk. Cant recover for no crossing guard bc no reliance. But when stopping something people rely have to give notice
vii. Duty to protect from Third persons (5th limited Duty) 
1. 3rd party = criminal. Duty can arise bc have some special relationship with person to be protected or special relationship with criminal. 
2. Up to judge’s discretion if duty exists 
3. Iseberg: Two sets of business partners. Slavin (shooter) and Gross. Then Iseberg (victim) and Frank. Partnership dissolves Slavin blames Iseberg for his loss in money. Tells Frank & Gross he is going to kill Iseberg. They do not warn Iseberg, and Slavin does in fact shoot him. Iseberg sues Gross and Frank claiming they had duty to protect him. Argument is that they should have warned him bc it was foreseeable Slavin would harm him bc of the threats. 
a. This is nonfeasance so no duty to protect. Need exception. But court says no special relationship exists here so no duty.
b. No duty unless court changes the law. Say should find duty where there is a foreseeable risk of harm. But factors presented by P go to breach so court says no cannot use them in duty.  
4. In order to create duty, have to be some set of facts that makes the danger foreseeable w/out that there is no duty even if in a special relationship. 
5. Special relationship on relevant with nonfeasance. It is a way of overcoming nonfeasance. 
viii. D’s Relationship with the P: Businesses
1. Posecai: P was robbed at Sam’s club at gun point. P argues not having security in parking lot was negligent. The court laid out 4 approaches to resolve the foreseeability issue in determining if a duty is owed. 
a. Imminent specific harm: Most narrow
i. D has to know of harm to owe a duty to protect. 
ii. Ex: Sam’s sees guy holding gun waiting for P. 
b. Prior similar incidents: previous crimes on or near the premises 
i. Idea is place is on notice bc of similar situation happening before
ii. Difficult to apply bc what exactly is a prior similar incident
c. Totality of the circumstances: nature, condition and location of land, other circumstances bearing on foreseeability 
i. Looks at if area has high crime right in general. Don’t need prior incident
d. Balancing test: foreseeability of harm against burden of imposing duty. (Carroll Towing)
i. Allows court to limit liability by adjusted the duty that is owed. Under test security will rarely be required without prior similar incidents 
e. This topic is controversial bc it is expensive to provide security. The more crime ridden an area is the more likely you need security, but businesses in those areas are less likely to be able to afford the security. 
f. Significant actual cause issue bc if you provided extra security then P would have to be certain they wouldn’t be have been injured 
ix. D’s Special Relationship w/ P: School Setting: 
1. Marquay Case: Ps are 3 women student were sexually abused by staff members at the school. Allege that several other school employees knew or should have known of the abuse. 
2. Generally school owes duty to students on campus bc they are in the custody of the school. 
3. P argues the reporting statute can be used to support liability. Statute requires “that any person having reason to suspect that a child has been abused or neglected shall repot the same to the state.” But statute does not provide for civil liability, does not say if not followed, P could bring lawsuit. And usually when statutes don’t provide for this could will not find a private right of action. Does leave option for negligence per se. 
4. Negligence per se apply?
a. Courts generally not going to find this negligence per se, bc do not have not to hold teachers liable for failing to make a phone call to report. 
5. There is special relationship here. Duty owed by most at school, but principal and administrators owed a duty to students bc they oversee everyone and owe duty bc of their relationship to the tortfeasors. 
6. Issue is whether duty is owed just on campus or also off campus.
a. School not liable for what occurs off campus bc when off campus they are back in care of parents, and this creates big comp fault issue against parents. 
7. Also breach issue bc what would RPP do. 
8. Hypo: Student dropped off to school early before it started and was attacked. School says no duty bc it hadn’t started yet. Judge says no, school was opened, they owe duty. 
9. Young v. Salt Lake School District: P was biking to school for mandatory school meeting after school. He reached crosswalk leading directly to school and was struck. Court says no duty bc he was not on campus. Custody starts on campus. 
10. Duty owed to college students: Courts refuse to impose duty. Exception when university is landowner and then duty is like landlord tenant. May be some exceptions if college voluntarily assume a duty. Campus security would be responsible for keeping people off campus who shouldn’t be there. 
x. Landlord duty to tenant 
1. This is one of the determinative relationships. Scope is issue bc how much going to require them to provide protection for land they have given up right to be on. 
2. Ward Case: Sommers attacked Ward outside her apt. Both were tenants of D and Ward had warned LL D about Sommers. P alleged D failed to protect her from summers. 
a. General Rule: LL’s have no duty to protect from criminal attack with 2 exceptions (leads to inverse incentive to not provide security)
i. LL created or is responsible for known defective condition that enhances the risk or attack 
ii. LL undertakes to provide security 
b. Here neither exception applies. 
c. Negligent act here = nonfeasance. Did nothing to protect Ward, but bc special relationship, it is brought out of nonfeasance and duty arises. 
3. Kline P attacked in common area where there used to be security. Lease contract and initial conditions circumscribed the duty. 
a. Here court says duty & breach bc attack in common area and LL owed duty in common area. Obligated to provide some protection as was standard when P became a resident. Case is outlier.
xi. D’s relationship with the 3rd party attacker: 
1. Dudley: Spencer was convicted felon living in a halfway house, although was initially not permitted to live in one. He was permitted to come and go without my control. One night left and raped and murdered P. P’s estate sued the halfway house 
a. Relationship = D halfway house + 3rd party criminal. 
b. P said duty owed to her bc of this relationship. Custodial relationship. 
c. General rule is that one owes no duty to control the third party in benefit to P; however, D is under a duty of care because of this special relationship. 
2. Thompson case: Guy threatened to kill a child & then did. Court says no duty bc no specific class of people put at risk. 
3. Rosales: Diff than Ward bc this relationship is LL + dangerous person not LL + tenant, who injures neighboring child on different property by shooting a gun. Duty extends to someone who is in nearby yard. Relationship here is Ds relationship to 3rd party attacker and D could have evicted him when he knew he was dangerous. Difficulty in imposing duty is that LL does not have much control over tenant. 
4. Strunk: Tenant owns dangerous dog. LL owes duty in dealing with dog But LL has to (1) be on notice and (2) have some ability to control the dog. 
5. Negligent entrustment
6. Duty to control employees
7. Parents duty to control their children: (1) Knowledge of specific, dangerous habit (2) present opportunity and need to restrain the child to prevent imminently foreseeable harm. 
8. Tarasoff Case: Poddar killed ex-girlfriend Tarasoff. Had been detained once before but was released when he appeared rational. Poddar had told Dr. Moore he was going to kill Tarasoff. Upon Moore’s request he Poddar was released from detainment. P claims Moore’s superior directed that no further action be taken to detain Poddar and that no one warned P’s Parents of her peril. 
a. Special relationship existed btween Poddar & School therapist. D + 3rd party attacker relationship. 
b. Nature of duty: they predicted the harm bc they had previously detained him. 
c. Professional standard = is applied here to determine if D should have predicted Poddar was violent (to determine a patient poses a risk to others)
d. RPP applied to determine if Ds were negligent in not warning victim about threats. (Ds had to act reasonably in giving warning).
e. Court held Ps could amend their complaints to state a COA against Ds for breach of duty to exercise reasonable care to protect Tarasoff. 
f. 3rd RST and vast majority of courts have followed this but not much litigation on it. 
g. Other issue is who to warn: Thompson says need definable group of people to warn (CA Follows this), other courts have loosened this but still say has to be some subset to warn
9. Liability for serving alcohol to inebriated individuals:
a. Serve someone who shouldn’t be served and then they get in car and hurt someone else. Most courts hold the person serving does owe a duty to others. 
b. Hypo: P was not cut-off at the bar and then drives home and was himself injured. P cannot sue bar for his ow injuries. But if he had a passenger, that person could sue bar. No duty to the actual person being served. 
c. Social supplying of liquor: marked trend against it. Social supplier doesn’t owe duty to anyone they supply to. Except if serve minor or if charge for the alcohol. 
xii. Factual Situations for Negligent Infliction of Emotional Distress
1. Emotional distress from risk of physical harm (but no physical harm – otherwise parasitic). Where Ps are at risk
2. Emotional distress where third parties are at risk (bystander recovery)
3. Emotional distress independent of physical risk
xiii. Development of Duty where P is at Physical risk:
1. Impact Rule: just impact would allow recovery emotional distress. (CA has discarded)
a. Ex: horse pooping in woman’s lap would meet this. 
b. Mitchell Case: P was in street about to board train when team of horses were drive at her. When the horse stopped P found herself standing in btween them, but untouched. Suffered distress and miscarriage. Court said could not recover for fright alone and no recovery for consequence of fright. 
2. Physical Manifestation: allowed to recover w/out injury but need physical manifestations of distress. (CA has discarded)
a. Here D does something negligent. Then have distress but has to manifest in some physical way. Courts differ on what symptoms meet this.
3. Pure emotional distress only: Zone of Danger limitation. 
a. Stacy Case: Stacy was sailing vessel in dense fog. His boat picked up another boat’s radar and that massive boat was heading straight for him. He sent out signal warning and boat barely missed him and hit another boat killing captain. Stacy suing for NIED.
i. Rule: a tort is committed by a D subjecting P to emotional harm within the ‘zone of danger’ created by the conduct of the D. Those within zone of danger of physical impact can recover for right, and those outside it cannot. 
b. Zone of Danger test: (widespread rule)
i. Put at risk of physical harm
ii. Physical risk misses & danger was significant enough and you are distressed = then can recover
iii. P still has to prove sever emotional distress after determined she was in zone of danger. 
xiv. Emotional Distress because of Injury to Others 
1. Catron Case (Bystander Problem): Catron was pulling his daughters friends behind him on his boat. Saw two jet skiers was watching to see what they would do. Did not think they would injur himself or boat but was concerned bc of towing the girls. One Jet skier ran into one of the girls killing her. He saw it and attempted to save the girl, but she was unresponsive and brought her back to shore. He is suing for NIED. 
a. Rule: To bring an action for NIED P must show either (1) that he or she is a reasonably foreseeable bystander victim based upon an intimate familial relationship with a seriously injured victim of the D’s negligence or (2) that the P was a “direct victim” of the D’s negligence bc the P was within the zone of danger of the negligence in question. 
b. Neither of these applied so Catron could not recover 
2. RST Rule: A person who negligently causes serious bodily injury to a victim is liable for serious emotional harm caused thereby to a person who: (a) perceives the event contemporaneously, and (b) is a close family member of the person suffering the bodily injury. 
3. Problem bc no necessary limits on number of persons who might suffer emotional injury bc of negligent act. 
4. Solution = Zone of Danger Test: (works for people claiming ED bc of the danger they have been put in)
a. P must be within zone of danger of physical impact
b. Fear for one’s own safety is a prerequisite
i. If so can recover for distress from fear for others 
ii. (other courts: apply zone of danger rule, but P can recover only from distress “to oneself” no bystander recovery. 
5. Dillon Case (Discarding zone of danger for bystanders): A mother and her other young child witnessed her other daughter get killed while crossing the road. They sued the driver for NIED.
a. Bystander Guidelines: (1) located near the scene of accident; (2) direct emotional impact from sensory and contemporaneous observance of accident (3) close relationship. 

i. Difficulty is that these are guidelines and court did not say whether all had to be met. 
b. Based on rule above, P met the prima facie case.
6. Thing case: Store sign hits husband women couldn’t recover bc she was not aware bc she only heard noise did not see or know what was happening. Limited Dillon’s guidelines and limited recovery to situations in which a P is “present at the scene of the injury producing event at the time it occurs and is then aware that it is causing injury to the victim.”
a. Bystander Test: (1) closely related; (2) present at the scene of injury producing event at time it occurs and aware it is causing injury (3) serious emotional distress. 

7. Bystander = distressed bc somebody else is getting physically harmed. Dillon says does not matter if the P here is within zone of danger. Thing narrows and said has to be aware & present. Some courts have narrowed even more and say do have to be in zone of danger. 
a. Ex: locomotive coming up on car stuck tracks, conductor knows what is going to happen. Jurisdiction follows zone of danger. If bystander not enough w/in zone of danger. Have to have some apprehension for yourself. Conductor failed to establish he feared for himself. Suggests zone of danger does not work well for bystanders. 
8. Emotional distress Independent of physical risk: Risk comes from somewhere else. 

a. Burgess Case: Child suffers permanent brain damage during birth. Actions brought by child and mother for emotional distress. Physician owes a duty to a pregnant woman, not merely the fetus alone.
b. Rule: A direct victim’s case is based on a breach of duty “assumed by the defendant or imposed on the defendant as a matter of law, or that arises out of a relationship between the two.
c. Direct victim = D and P have some sort of prior relationship. Here bc of relationship to doctor mom can recover.
d. Heiner Case: D negligently reported to P that she was infected with AIDS. Did a re-test and confirmed diagnosis. Later P found out diagnosis was wrong. 
i. Doesn’t fit zone of danger, not bystander. D takes on duty to diagnose patients, and did so negligently. Court totally missed the point that perons would be severely & emotionally distressed from this diagnosis. Should have been example of direct victim but court says P has no claim bc diagnosis never placed appellant or any other person in real peril. 
ii. Key = preexisting relationship between P&D
xv. For NIED go through all elements of the tort for negligence. D has to be negligent for P to recover for this. Rule for Dillon & Thing go to duty so deal with immediately. P NEEDS TO MEET EITHER ZONE OF DANGER, BYSTANDER OR DIRECT VICTIM TEST, THEN SHOW SEVERE DISTRESS. (MOST DO NOT REQUIRE THE MED EVIDENCE OR UNABLE TO COPE FROM CAMPER)
1. General Duty Rule: Camper Case: Camper was driving cement truck and 16 year old pulled out in front of him and he hit her killing her. Got out of car to check on her and saw she was dead. Sued to recover for NIED
2. Rule: A serious or severe emotional injury occurs 
a. must be severe or serious
b. where a reasonable person, normally constituted, would be unable to cope with the mental stress 
c. claimed injury must be supported by scientific or medical proof. 
xvi. Loss of Consortium: type of emotional injury: chronic, not sudden
1. General Rules: 
a. Spouses can recover for other spouses
i. One spouse dies as a result of someone’s negligence and this covers that emotional distress. 
ii. Separate cause of action from negligent wrongful death. 
b. Children generally cannot recover for parents (too much liability) – but some movement in this direction 
c. Parents generally cannot recover for children
d. Limitation: it’s a derivative cause of action, subject to the contributory negligence of victim. If spouse negligent as well in death, can be contributorily negligent. 
e. Have to prove loss of consortium
xvii. Fear of future harm: 
1. CA Supreme court says if your fear is future would have to prove you are more likely than not to get feared injury. 
a. Do not want to get into fear of future cancer business. 
b. But if you act willfully or wantonly then an recover w/out proving more likely than not. 
d. Element 2: Breach of Duty
i. The Reasonable & Prudent Person Standard (RPP)
1. Stewart v. Motts: P brings action for negligence and wants a certain jury instruction but Court says No. So jury find for D. If appellate court find that instruction should have been given, it would be remanded and they would have to give the instruction in a new jury trial. P was burned when carburetor blew up in his face at Ds auto repair shop when he was pouring gasoline into it. Thinks D owed a higher standard of care because he was dealing with gasoline. 
a. The D is held to the standard of care that would be exercised by a reasonable person under the same or similar circumstances as the D was in at the time of the alleged negligence
b. But amount of care varies with danger
2. Posas v. Horton: P stopped suddenly to avoid hitting J-Walker. D then rear-ended her, bc she was following too closely. P does not want “sudden-emergency instruction” read to jury. But this instruction favors D. 
a. In order to be entitled to the sudden-emergency jury instruction, the proponent must show there is sufficient “evidence to support a finding that the proponent had been suddenly placed in a positon of peril through no negligence of his or her own, and in meeting the emergency acted as a reasonably prudent person would in the same or similar situation. 
i. Court said D couldn’t use this because she admitted she was negligent in following too closely. 
b. But argued that it is unnecessary to have this instruction bc amount of care already varies based on circumstances and an emergency is just a set of circumstances. Most courts are getting rid of this. Instruction is redundant
3. There is only one standard of care: reasonable care under the circumstances. 
4. Standard of care never changes but AMOUNT of care changes. Person will exhibit less or more care based on the situation 
a. Danger/Risk: Probability of harm effect the amount of care used 
b. Jury determines the amount of care that should have been used
5. RPP Standard Test: 
a. Ordinary care is the care a reasonably prudent person would use under the circumstances presented in this case.  It is the duty of every person to use ordinary care not only for his own safety and the protection of his property, but also to avoid serious injury to others
b. Objective test
c. RPP has to foresee risk: If you can’t foresee a risk there is nothing you can do about it
d. If no foreseeable risk than you can’t be negligent
e. Do a comparison between what D actually did and what a reasonable and prudent person would do. 
i. If what RPP did and & D did are the same thing than D is not negligent.
ii. If different than D is negligent. 
6. Internal Characteristics of RPP: RPP test + Ds physical characteristics: 
a. Includes Physical features, knowledge, memory, experience, mental capacity, inebriation, children
b. Ex: limited vision is an internal characteristic to D/P. 
c. Ex: Shepherd Case: P could not see well was blind in one eye and tripped over the sidewalk. D argues P was contributorily negligent 
d. To analyze have to give RPP same characteristic as person in the case. Then have to add in external circumstances. 
e. RPP thus cannot see well, and cannot take in risks as well. So we expect RPP to take extra care bc they are subject to more danger. (Expect MORE care but still reasonable care.)
f. RPP Test only requires the person to act according to the abilities they have.
g. Disabled person still has to act with reasonable care. But amount of care changes bc of disability 
h. The conduct of the [disabled] individual must be reasonable in the light of the knowledge of his infirmity, which is treated merely as one of the circumstances under which he acts
i. Hypo: Country Road: Narrow road (pretty unfamiliar) but this person remembers the road has dangerous turn even though a normal person would not remember. He gets distracted, forgets turn, accident ensues. We give RPP here the same superior memory as D bc you have to use what you’ve been given 
j. Hypo: Paint Thinner: D stores paint thinner in garage, lights a cig and lights up garage. This person did not know cig could light up paint thinner. Do we give RPP knowledge of this? Law says RPP will have minimum knowledge and intelligence of the world.
k. Hypo: Worn tire: Ds tire blows and P is injured. Was D negligent? D says knows nothing about Tires. Do we give RPP knowledge of tires? Yes bc it is your responsibility to know this stuff 
l. Hill. Sparks: D was experienced tractor driver tells sister to get on ladder of tractor, but she is thrown from tractor and killed. Do we give RPP experience that D had in the past? Yes, bc if you’ve got a lot of experience have to act how someone with that knowledge would act. 
m. Hypo: Drunk Driver: D is drunk & hits P. Do we give this characteristic to RPP? No because he has deliberately done something that imposes risks on people. Not alleging drinking is negligent, arguing driving is negligent. RPP does not get drunk characteristic & RPP w/out that would have driven diff than D, so D is negligent. If D drove perfectly well & drove as RPP did, then did would not be negligent. 
n. Creasy v. Rusk: P has Alzheimer’s and kicks P injuring her. Now have issue of what RPP would do bc someone with Alzheimer’s cannot act as RPP. We don’t give the RPP the mental disability. 
i. Mental disability does not excuse a person from liability for “conduct which does not conform to the standard of a reasonable man under like circumstances.”
ii. We don’t allocate losses between two innocent parties to the one who caused or occasioned the loss
o. Current Rule: will hold people with mental disabilities to a standard of reasonable care. Holding them to standard they are unable to meet. Consistent with intentional torts and mental disabilities because treating the as if they reason or think normally
p. Stevens v. Veenstra: P was 14 and driving for first time with driver’s ed coach and crashed car injuring P. Court said he was held to same standard as adult bc of the nature of the activity of driving which is inherently an adult activity. 
i. Generally, in negligence actions, the capability of minors, seven years of age or older, is not determined on the basis of an adult standard of conduct, but rather is determined on the basis of how a minor of similar age, mental capacity, and experience would conduct himself
ii. Give the background of the individual child to the RPP. Very individualized. Giving children leeway to develop as they would develop
iii. Exceptions: if you are engaging in an adult activity or doing something inherently dangerous, will be held to the same standard as an adult. 
1. Exception exists to protect the public bc not air to public for children to do adult things but not be liable 
2. Do not hold children to minimum knowledge standard except for within the exception
q. Variations of the Rule for Children: Rule of “Sevens”
i. 0-6: Incapable of negligence as a matter of law
ii. 7-14: presumed incapable of negligence
iii. 14-above: presumed 
iv. RST 3d: Children under 5 incapable of negligence 
7. P&D may both be negligent
8. P’s negligence is contributory negligence
a. CL: if p was negligent that barred recover
b. Modern Rule: Comparative fault. Compare P & Ds negligence
c. Total amount of negligence has to add up to 100%
ii. Jury decides the facts then applies the law given to them by the judge
iii. Judge can take breach issue from jury: 
1. As a matter of fact in an individual case
a. Ex: 99 witnesses say light was green, 100th says isn’t sure. Judge says jury must find it was green 
2. By imposing a Rule of Law Governing Recurring Generic Fact Situations:
a. Ex: Marshall. Judge said we can tell jury whats negligent
i. Range of lights rule: Driver is negligent if he or she cant stop within the range of lights. Other circumstances do not matter
3. These rules do not take into account factual nuances. Court can declare certain things negligent, but in general does not work well. 
iv. Negligence Per Se 
1. Using a statute to determine what RPP would do 
a. With this jury doesn’t have to figure out what RPP would do because statute tells them 
2. Martin v. Herzog: D was driving at night crossed over center line on a curve & struck buggy that had its light off. A statute provided in part “every vehicle on wheels whether stationary or in motion, while upon any public street shall have attached thereto a light or lights to be visible from the front and from the rear from one hour after sunset to one hour before sunrise.” Court says violation of statute is more than some evidence of negligence. 
3. When applying negligence per se jury must:
a. Find what actually happened
b. Apply those facts to the statute
4. P can argue negligence per se and RPP (should do both on test)
a. If jury finds statute violated have to find negligence
5. If you’ve violated the statute that is unreasonable conduct by definition 
6. Statute may actually provide for civil liability by creating a cause of action
7. If statute meets the test you’ve got a breach of duty simply from violating the statute. 
8. Determining whether to use a statue/ordinance/regulation. O’Guin Test:
a. Ex: O’Guin: Boys were playing in city landfill and were killed by collapsing landfill wall. Court said the statute applied because it covered the risks involved and the boys fell under the class of persons the statute was intended to protect. (Court stretched the meaning of the statute)
9. The statute must set forth the precise conduct. Then Test for whether to use the statute by looking at (Flexible Test): 
a. Class of persons: (Injured person has to fit within the class of persons protected by the statute)
b. Type of harms (class of risks): (The harm that occurred has to fit within the type of harm protected by statute)
10. Before statute can be applied determine:
a. Specific conduct 
b. What type of harm it was intended to protect
c. Class of persons intended to be protected
11. CA says violation of statute we are going to presume you are negligent. More than evidence, less than breach. Once P proves violation of statute, burden switches to D to show non-negligence. D will show an excuse or if not result will be negligence per se. Unless there is an excuse. 
a. Just say briefly there 3 possible ways for what happens with negligence per se, can be treated as proving breach or evidence of breach, CA’s presumption of breach. 
12. Excuses to Statute Violations
a. Ex: Getchell v. Lodge: D driving on icy road trying to avoid moose. A moose jumped out in front of her she slammed on breaks and ended up in Ps lane. P crashes into D and ends up with broken ankle. P claims negligence per se.
b. Emergency. As in other cases of negligence the violation of an enactment or regulation will ordinarily be excused when the actor is confronted with an emergency which is not caused by his own misconduct
c. 5 Excuses:
i. the violation is reasonable because of the actor’s incapacity
ii. he neither knows nor should know of the occasion for compliance
iii. he is unable after reasonable diligence or care to comply
iv. he is confronted by an emergency not due to his own misconduct
v. compliance would involve a greater risk of harm to the actor or to others 
13. Ordinances can be used as violations of statutes
14. A minor’s violation of a statute dos not constitute proof of negligence per se, but may, in proper cases, be introduced as evidence of a minor’s negligence. (trial judge likely has a lot of discretion to say no do not apply to children)
15. Invalid/defective statutes: likely still apply
16. Licensing statute: Ex: req. to have med license to treat someone but then treat them without one
a. Courts do not want to use this as a proxy for negligence per se. But can introduce it as evidence of negligence
b. Ex: driver’s license expired one day ago, can be evidence of negligence per se? courts do not like to honor this. 
17. Obsolete Statutes: no one follows them anymore & they’re outdated, but still law, do courts have to use? 
a. Don’t have to use the statute bc the statutes don’t say you have to use it. They’re criminal/misdemeanor statutes, NOT civil. Courts voluntarily use them bc they’re good measures of what an RPP would do. All court is doing is voluntarily using the statute bc it provides good means of determining RPP.
18. Hypo: slow moving vehicle: 
a. Statute sets forth specific conduct: cannot drive slowly in the left lane. 
b. Type of harm intended to protect: don’t want someone who’s moving faster to crash into you or pass by in the right
c. Harm from hypo doesn’t match harm intended to be prevented by statute so statute does not apply, but can use RPP test
v. Reasonableness 
1. Brown v. Stiel: Choose to use steel – 2 people are injured. Did they commit intentional tort in choosing steel? 
a. Intent: no purpose. No knowledge bc he didn’t know it would happen in this case. Statistics only tell you on average how many workers are killed with steel. Doesn’t tell you anything about what will happen in this building. Can’t say the company had knowledge harmful conduct was substantially certain to occur in this instance.
b. Negligent in choosing steel? RPP would’ve used concrete; was it unreasonable for them to use steel when could have used concrete? 
i. More likely they will die if you use concrete; but that’s only ONE factor weighing against other factors. Take into account that someone might die - another factor, will run the risk. 
ii. In this case, 2 ppl were injured - 1 was an employee, the other was not - can they both bring negligence actions against the company? Yes - worker’s compensation covers employees. This means you can’t bring a tort suit against your employer; but, you can collect worker’s compensation. You get less money through worker’s compensation than you would get for a tort suit. BUT: don’t have to prove the employer was negligent. What we’ve done is taken workers out of the tort system. One of the injured ppl can sue and the other can’t, but they can both recover.
2. Pipher Case: Determining whether conduct is reasonable or unreasonable. 
a. 3, 16 yr olds traveling in truck; there were seats in the back. D2 grabbed wheel once before accident. D1 regained control. Have to determine which facts are relevant (All facts on exam will likely be relevant)
b. Speed is relevant; going 55 mph is risky; risk is very relevant to whether conduct was negligent. Driver did nothing after the first time other D grabbed the wheel; they laughed about it. 30 seconds later, yanks on the wheel again; P injured, brings negligence action against the driver. 
c. Trial court found no negligence, that no reasonable jury could have found he was negligent b/c it was reasonable for the driver to assume it would not happen again. If true, harm wasn’t foreseeable. If not foreseeable, can’t be negligent, no chance to act on risk Court of Appeals: reversed b/c if it happened once, it might happen again. Therefore, it was foreseeable. 
d. Have to look at alternatives to determine reasonableness 
i. Fact there were 4 doors - relevant b/c could’ve put girl in the backseat. If had kicked Beisel out of the car or moved her to the backseat - something could’ve changed so it wouldn’t be foreseeable it would happen again

e. Would alternatives have prevented the injury? We don’t know - RPP is a fictional character - up to P to prove more likely than not that the injury would not have occurred if the D hadn’t acted negligently 
f. Failure to prevent conduct that gave rise to the foreseeable risk may be negligence. Just the first step; there’s more to consider
3. Limones Case - CL duty, negligence per se was the alternative
a. Circumstances don’t affect the standard of care; standard stays the same
b. Allegation: negligence in how P was treated. Negligence based on both CL and statutory duty breached (negligence per se). School owed a duty of care to P
c. Jury decides whether actions are reasonable & has to determine foreseeability; in doing so, determines whether the actions were negligent 
d. Trial court - didn’t allow the jury to do it; the court should’ve 
e. What the appellate court did wrong: said there was a jury question as to whether the Respondent was required to make/use the AED
f. effect of narrowing the duty: telling the jury to focus on those factors only
g. WRONG b/c too narrow: jury should’ve been able to determine the general duty of reasonable care Were they negligent? Yes because they HAD the AED; had it for this kind of situation and it was locked in the game room
4. Unforeseeability: Not literally unforeseeable
a. A practical determination: risk so low that people realistically will not act upon it. (Harm was not probably enough to require caution)
b. Lightning and earthquake - types of risks courts will say is unforeseeable; risk is so low that people won’t foreseeably act on it
c. Foreseeable risks - some that are so low that the law calls them unforeseeable
5. Indiana Consolidated
a. Mower starts out in the garage. 3 allegations: 
. Filling in tank? P said he might’ve spilled something. At trial, didn’t find him negligent. Appellate court: not negligent; juries decide conflicting evidence 
. Starting mower in garage? Not negligent; although it was possible the mower would catch fire, it was not foreseeable. Although it’s literally foreseeable, the risk is so low that we discount that risk
. Negligent in not pushing it out of the garage? Very foreseeable risk - flames were getting bigger, could’ve exploded. Also high risk to D - did not act negligently 
b. Risk: chance/probability of harm 
c. 2 potential harms: D gets injured if pulls mower out of the garage; other potential harm is to the garage - need to evaluate the actual risk (weigh harm of injury to D vs. harm of injury to garage)

d. Get idea that you are looking at alternative conduct
vi. Alternatives
1. Bernier Case: Pole fell on 2 Ps when D crashed into it. Ps sued Pole company for negligent design of Poles. Says D is negligent for not having a stronger pole. Court says Edison never had in mind the safety of pedestrians. Expert says Edison could have easily made pole stronger by making the steel rods thicker or add hoops & spirals that were very cheap ad would enable pole to with stand hit of 11 mph. 
a. For minimum investment could prevent injuries. Have to analyze would an RPP make these investments to prevent injuries 
b. Edison argues if makes poles stronger Driver could be hurt bc Pole will not just collapse, and think jury should find them not negligent. Court says pedestrians are more at risk bc people in cars are protected. So it is up to jury to weigh the risks. 
c. If amount of harm high but probability of occurrence is low, can still be negligent.
i. Inverse: if amount of harm is really low then probability must be high for negligence. 
d. As percentages of probability gets lower, get less worried, unless amount of harm that can occur is high 
2. Have to look at alternatives, probability of harm, social utility lost, and foreseeable risk. 
a. Ex: Risk of noise from trash truck scared horse, horse injured P. the social utility lost in deeming truck noise is negligent is too high bc the social value of what the trash truck is doing is high, so the D is not negligent bc the truck is loud.
b. Hypo: Gasoline Drum: Gas cap explodes when P removes it from drum of gasoline tank that D sold him. Court says this is very rare. Could find D negligent bc even though probability of harm was so low the amount of harm was so high. Can leave it to jury to determine if D is negligent. 
c. Warnings are the cheapest safety precaution. 
d. Hypo: Hammer: P hammering bolt and D does not give P goggles, something hits P in the eye, and he loses the eye. D negligent?
i. Probability v. harm
1. Probability here is relatively low
2. Harm very high bc he lost the high 
ii. D could have prevented this cheaply by giving goggles 
vii. Reasonableness Factors Carroll Towing: The degree of care demanded of a person by the occasion is the resultant of three factors:
1. Probability (likelihood) of
2. Harm 
a. Risk is probability of harm. Risk must be foreseeable)
3. Burden if you take Precaution
a. Social utility of action (what would be lost if activity were stopped) or
b. Cost of precautions that would avoid harm (and keep utility)
4. Ex; Carroll Towing: Formula = B < PxL (B=Burden, P=Probability, L=Injury)
a. If burden is less than PxL: take the precaution and avoid the risks. If burden is less and D does not take precaution, D is negligent. 
b. If burden is greater than PxL: Accept the risk (& resulting injury). If burden is greater, and D does not take precaution, D not negligent. 
c. Formula interprets the negligence system as a mechanism for promoting efficient or cost justified rules of safety. 
i. Issue is that do not have exact info on the probability. 
ii. Looking if it was reasonable to have a risk, and what is cost of avoiding it, loss of utility 
iii. Issue is how you get to safety. 
iv. Use experts to determine these things
v. Formula rarely used but FACTORS are important.
d. Facts of Carroll Towing: The Anna C was being towed by Carroll Towing, operated by Grace line employees, who negligently caused the Anna C to break a drift, colliding, sinking and dumping all her flour. However, Anna C did not have a bargee on board. Bargee was away from the boat for 21 hours without an excused for his absence. Had there been on a bargee on board, the Grace Line employees could have saved the Anna C.
i. Weigh costs of paying a burden of paying a bargee v. probability of injury 
viii. Proving Facts to show negligence:
1. Ex: Santiago Case: P alleges she was riding one of D’s school buses when she was injured but does not have much evidence or memory of the incident. 
a. P proved she was injured, which will prove the damages element of negligence. Mirror of other vehicle was knocked off. She was in a bus there was accident and she hit her head. Remembers bus was on one-way street approaching stop sign. There was a collision coming from the right as the bus came to the stop sign, and was hit by an unidentified vehicle. 
b. This was not enough to prove the element of breach because she did not prove negligent conduct. There was no proof that the bus driver did anything wrong. She needed to prove an act that she alleged is negligent. Need a specific act you can prove is negligent.
c. Why need more specificity? So you can do the RPP test. Need specific conduct to apply the RPP because we have to know what the risk is and need to know that to know the probability of harm. If you don’t know the specific conduct, do not know the risk or the probability of harm, and can’t compare to alternatives without something to look to.
d. Can’t do analysis without the conduct. Too much speculation here. Have to get to the point where there is enough to determine negligence.
2. Ex: D ran into 3 yr old child in the street. No one saw how kid got into the street or saw accident. Negligent act would be not seeing the kid in time. There would be enough to show negligence:
a. Easier to formulate the negligent act then Santiago, but still maybe not enough detail to find D negligent. 
3. Ex: Upchurch Case: UpChurch crashed car killing her passenger. Evidence of speed Upchurch was going is all over the place. One expert says 60 one says 25. Give this to the jury to determine Evidence of drinking also inconsistent. There is enough proof here to go to jury that the jury could find negligence
4. Ex: Forsyth: Villa truck was speeding and hit Joseph vehicle at 55 mph killing Joseph. Villa even testified at the point of impact he was going 55 mph.
a. Enough evidence to find negligence. Skid marks are evidence he was speeding because he hit the truck at the speed limit after skidding 129 feet add testimony of speed to this and then make an inference. Juries are allowed to take 2 facts and then infer a third and now are in a position to infer the conduct. 
5. Hypo: Dark & Stormy Night: P was walking hunched in a storm to shield from rain & hit her eye on a steel box and all we know is steel box is 70 inches from ground, 20 inches in height, 10.5 in depth. Enough for negligence?
a. There would be a foreseeable risk to tall people. Harm can be very significant so there would be enough 
6. Trial Procedure: burden on prima facie case is preponderance of the evidence which is 51%. Facts have to be 51% more likely than not to have happened. This burden is on P. Jury decides facts. Jury is split, case fails
a. Types of proof: 
i. Direct evidence
ii. Circumstantial evidence: Inferring Fact “B” from fact “A”
b. Inferring negligence
i. Take facts and “infer” that conduct was negligent.
7. Slip & Falls 
a. Hypo: Banana Peel: Banana peel is fresh so it hasn’t been on the ground long. 2nd banana is older, brown, been on the ground awhile. Why does it make a difference if the peel had been on ground for a long time?
i. Bc they had notice, its been on the ground for a while had enough time to pick it up. 
b. Notice of situation causing slip & falls is relevant
c. Thoma Case: Thoma fell while eating a cracker barrel. Said she saw spill on the floor where she fell. It was near the area the waitresses come in and out of. 
i. Are Thoma’s facts enough to get to the jury? 
ii. Yes because the area of the spill was in area where employees should have been on constructive notice
iii. And the amount of time since the spill could have been there longer than they were there to eat 
iv. Thoma says puddle is 1 foot by 2 feet, and that is relevant to constructive notice because employees should have seen it, it was in their pathway and it was easily visible because of size
v. How do we know Cracker Barrel is on constructive notice? 
vi. A number of employees are going back and forth in that area; and thus knew or should have known puddle was there. 
vii. Court tendency in these cases is to let it go to the jury to figure out. 
d. Ex: Pizza Stand Hypo: P said she slipped on pizza on the floor. Nothing about time, can argue how they operated their business (not having tables and selling pizza on waxed sheets) made this a foreseeable risk. But this is not constructive notice. 
e. Once you are on actual notice had duty to act as an RPP
f. Hypo: Winn Dixie: P put Eggplant on scale, fell on floor, saw bean snap under her foot where she fell. Employee said he swept the floor two minutes before. Enough for jury? 
i. Yes it’s the method of doing business bc the beans fall often. (not constructive notice)
ii. 2 minutes isn’t enough time to be on constructive notice 
g. With Slip & Falls have 3 possibilities
i. Actual Notice = D finds this issue 
ii. Constructive Notice = don’t know about it but should. Has to be on the floor for a reasonable amount of time
iii. Business practices: are they operating the store in a way that risk is foreseeable. 
iv. With negligence:
1. Have to determine what happened first. 
2. Then with fixed facts, were the Ds on constructive notice?
3. Yes then negligence follows bc they did nothing about it.
4. Jury is allowed to infer negligence from the facts
h. Ps have serious proof problems with this bc have to be able to prove something was on the floor long enough to give constructive notice. 
i. Ex: Walmart: P fell in a puddle in Walmart’s garden section. At trial an instruction was given to the jury that instructed them to take into consideration the violation of any rules for cleaning up spills in the Walmart manual against Ds objections. 
i. Looking to prove what an RPP would do under the circumstances. Problem with jury instruction: because their manual is the company view, and they might decide they want more care than the RPP. Cant equate what they have in the manual to what the RPP would do.
ii. But does not mean this evidence is not admissible. Manual may still show or tend to show what Walmart thought was reasonable. Still relevant just not determinative. 
iii. Court said: The instruction is also erroneous for suggesting that jurors could apply Walmart’s subjective view as evidenced by the manual rather than an objective view
j. Evidence of safety manual is relevant but does not set different standard of care 
i. Ex: Duncan: P fell on Ds wooden staircase when the top step collapsed. What is the evidence at issue? It is customary to use the pressure-treated lumber and that was not used here, but it was permissible to use the non-pressure treated lumber under the code. Custom is more stringent then code. 
ii. Custom evidence is relevant to the ultimate issue because if its customary a lot of people do it and if a lot of people do it that tends to show that it is reasonable care to use the custom. So the custom is some evidence of negligence.
k. Custom evidence is a better indication of standard of care than is a store manual.
i. Evidence that the D violated customary safety precautions of the relevant community is usually sufficient to get the P to the jury 
ii. Courts allow customary standards in as evidence and give it to the jury than let lawyers argue it. 
l. Ex: TJ Hooper: Two tugs, the Hooper & the Montrose were towing 2 barges up the east coast with cargo on board. The tugs lost the barges around the NJ coast because of weather, and thus loss the cargo. 
i. Case turns in part on the fact that they didn’t get notice of the storm they didn’t have the radio sets, but there was no custom to have them. But some boats did.
ii. Even if there is no custom, still an RPP would have had a radio. In general if people are using something as custom, it is a good judge of the RPP. Custom evidence itself does not prove negligence, unlike negligence per se. But it is admissible, but not determinative so we leave it to the jury. 
m. Ex: Plaintiffs awoke to their motel room filled with smoke. The door was too hot to touch and they suffered severe burns waiting to be rescued
i. Compliance with regulation does not constitute due care per se. Compliance with appropriate regulations is competent evidence of due care, but not conclusive evidence of due care.
n. Compliance with Fire Code:
i. If you do not comply that can be evidence of negligence per se
ii. But comply with fire code, going to argue not negligent, even if the code should have given more protection
iii. Statutes are a floor, just bc you comply does not mean you are not negligent 
iv. There may be instances where a reasonable person needs to do more than the fire code 
v. But fire code is still admissible as evidence
vi. Fire code tends to show D acted as a reasonable person but it is not conclusive  
ix. Res Ipsa Loquitur 
1. Requirements:
a. of a kind that ordinarily does not occur in the absence of someone's negligence;
b. caused by an agency or instrumentality in the defendant's exclusive control; and
c. not due to any voluntary action or contribution on the part of plaintiff
2. Courts decide if Res Ipsa can be applied by deciding if it is or is not an accident that could occur without negligence
3. If all three elements are met:
a. Permissible inference: some jurisdictions say jury may use it as a permissive inference of negligence. 
b. Presumption re burden of producing evidence: jury must presume negligence unless D produces some evidence
c. Presumption re burden of proof: Some jurisdictions shift the burden of proof on negligence. Once the Res Ipsa evidence comes in burden shifts to D to show not negligent. D must prove by preponderance that it was not negligence
4. Effect of contrary evidence: If defendant… introduces evidence sufficient to support a finding it was not negligent or that its negligence was not the cause of the accident, the res ipsa presumption is dispelled (the “bubble” bursts):
5. Ex: Barrell Case: P was walking down the road when a barrel fell from Ds shop and fell on him causing him to lose all recollection of the event. (Similar to slip & fall)
a. Evidence:
i. P testified he was walking and then lost all recollection
ii. Witnesses testified they saw a barrel of flour fall him & that Ds store was adjacent and barrel appeared to have fallen or to have been dropped from the shop
b. The issue is whether there is enough evidence to get to jury just like in Thoma the slip and fall in the puddle at the restaurant. 
c. Court says this case could get to a jury because the fact that a barrel fell speaks for itself, because this event is not one that occurs normally without some type of negligence. The barrel speaks for itself because we can infer from the fact that the barrel fell that something caused it to fall and its common knowledge that barrels do not ordinarily fall out of second stories without someone being negligent. Res ipsa loquitur is an evidentiary tool that Ps can use when they cannot prove what the actual conduct was, what the actual negligent act was. 
6. Ex: Koch: D’s power line broke & fell starting a fire that did considerable damage to Ps property. Sunny & warm weather. Power lines do not normally fall without fault on behalf of the company that maintains them and res ipsa loquitur is applied in the absence of a substantial significant or probably explanation.
7. Hypo: 600lb Steer: women on first floor, steer auction on second floor, a steer fell through the ceiling onto P knocking her unconscious. Courts would say could not occur without negligence.
8. Hypo: TV sets on fire, P wants to use Res Ipsa. No bc too many other explanations for why TV could set on fire. 
9. Hypo: Fertilizer plant explodes: Court says yes can apply Res Ipsa, although D could argue too many other explanations
10. Hypo: Chewing Tobacco. Guy puts tobacco in his mouth, put 2nd one in and then finally bit into it and there was a toe. Res Ipsa can apply. This could not occur in the absence of someone’s negligence
11. Most courts will not use Res Ipsa for Slip & Fall 
12. In determining whether accident could occur in the absence of negligence, an expert can be used. 
a. Expert testimony regarding nature of the accident: Allowed where no fund of “common knowledge” would enable a layperson to find that such an event does not ordinarily occur without negligence.
13. Res Ipsa is just an evidentiary term. It is available to Ps but if there is means of finding out what happened have to attempt to find out. It will be unavailable if P does not do reasonable investigation where they could have: 
a. Ex: Warren: Terry was run over by the front wheel of D’s car. P did not prove any of the possibilities that could have caused the car to roll back. She used res ipsa loquitur. Is this the kind of accident that does not normally occur without negligence? 
i. Yes, accident that does not normally occur without negligence. 
ii. D was not exclusively in control of the instrumentality, but could meet this if jury believed testimony that kids did not touch anything. If jury did believe this, then P not contributory to negligence would be met. 
iii. Why did court say no res ipsa loquitur? Because P did not have car examined after accident and she could have. 
14. Traditionally could not argue Res Ipsa then argue in the alternative that you knew specific negligent act. Now can argue in the alt but might be hard to convince jury:
a. Exception: If can show exactly what happened cannot use Res Ipsa. 
15. Ex: Giles: P, an elevator operator, was in the elevator when it began to shutter and shake, and the compensation chain fell to the bottom of the shaft with loud crash. Scared, P reversed the elevator direction and jumped out on the nearest floor sustaining injuries
a. Is this the kind of occurrence that does not normally occur without negligence? 
i. Yes, because elevators usually work fine
b. Did D have exclusive control of the instrumentality when the accident occurred? 
i. No because P changed direction
c. Plaintiff contributed so can’t meet this. 
d. But court says can use res ipsa. Why? Court allows jury to reach res ipsa conclusion because if you apply test literally makes it easier for D to get out of negligence, limits res ipsa cases. This is new change to rule. Allows P to use Res Ipsa when P was operating elevator because all Res ipsa is intended to do is to allow a jury to conclude that is more likely than not that the accident occurred because of Ds negligence. Does not mean there were no other explanations for accidents. Going to relax it because otherwise not looking at what res ipsa was trying to do. Plaintiff can still recover with relaxed requirement but recovery can be reduced if jury finds P was also negligent. 
16. Hypo: Pepsi: Pepsi drinking client find furry animal after taking 4 sips of a previously unopened Pepsi. Can use Res Ipsa. 
17. Hypo: Pepsi Variation: P drops Pepsi and it explodes P is injured. No Res Ipsa bc other possibilities why this happened. Could try to get testimony from other people who harmed the bottle. 
18. Hypo: Flying Headlight: After crash between 2 Ds headlight hits P. Cannot use res ipsa. Fails test because 2 Ds contributed to the injury. 
19. Effect of Comp Fault here: 
x. For Exam: Do RPP analysis, Ds must act as RPP under circumstance; then determine if care was reasonable, use Carroll Towing Factors. If statute presence also analyze as negligent per se. 
e. Element 3: Actual Cause: Did Ds negligence actually cause the injury.
i. Counterfactual: what would have happened if D was not negligent. An estimate of what would have happened in hypothetical situation that corrects a negligent act. 
ii. D is only liable for what he or she causes. 
iii. But For Test: Can you say but for the D’s negligent act, P would not have been injured. 
1. If D had not been negligent, and a different outcome would occur, where P would not have been injured, then D is negligent. 
2. However, even if D had not been negligent and same outcome would occur, cannot say D is negligent 
3. Burden of Proof = preponderance of the evidence
4. Ex: Hale Case: P fell off curb and broke hip because had to step into to street to get around Ds bushes, but sidewalk was crumbled. Ds bushes are the actual cause of Ps injury because but for the Bushes being there, P would not have been injured
5. Ex: Salinetro: 
a. What actually happened: P was in accident and then given an x-ray and do not say anything to her. 
b. Counterfactual to avoid negligence: D asks if she is pregnant but she still says no and would get same x-ray. 
c. Cannot say but for negligent act, P would not have been injured. 
6. Ex: Wife hits her husband who was behind her car crouched down working on the wheel. Husband says shes negligent, but her negligent act was not looking in rear view. Even if she had looked in the rear view she still would have hit husband. So cannot say “but for her negligent act of not looking in the rear view, P would not have been injured” he still would have been hit bc she wouldn’t see him in the rear view. 
7. Hypo: The invisible injury: 2d garden variety accident, one speeding one texting, part of car injures P walking. Actual Cause?
a. Would d have hit other D not speeding? Probably not so actual cause
b. Same for texting D
c. Both Negligent of a indivisible injury 
8. Hypo: Joint & Several: D1 Driving and hits deer, and leaves deer & drives away. D2 is speeding cannot stop in time and veers off to avoid it and hits P.
a. If D1 had removed the deer P would not be hurt. = Actual cause
b. D2 = actual cause. 
c. Indivisible injury
d. Effect of indivisible injury = both caused entire injury and both are liable. Under CL P can recover from either of them. If you can, divide injury up by causation. If you cant its indivisible. 
e. Both Ds are treated as the cause of the injury so Cl says each liable for entire amount bc of joint & several liability. 
f. Some jurisdictions are just several liability and thus they look to percentage of negligence.
9. Hypo: 2 bicyclists: Bicyclists biking side by side and hit P in crosswalk. D1 breaks Ps arm D2 breaks Ps leg. Here you can divide injury. No joint & several liability here bc can divide it. 
10. Hypo: Ds driving negligently injures P who is passenger in another car. P is then taken to the hospital where the doctor (D2) commits malpractice further injuring P. D2 is only liable for aggravation injury. D1 is liable for entire injury. Who can P sue for hospital injury? Both Ds. End result of hospital injury is indivisible and Doctor and D1 are joint & severally liable for hospital injury. D1 is responsible for original injury. 
11. Few instances where D is liable if he did not cause the injury. This is the exception:
a.  Employer liability. Respondeat Superior
i. Ex: Domino’s (30 minutes or less for delivery or pizza is free). If employee causes accident trying to abide by this, employer is also liable. 
b. Concert of action: two individuals agree to do something but only 1 causes injury. Both are liable. (ex: drag racing)
c. Partnership: one partner is liable for other’s actions. 
d. All 3 situations have liability without cause. 
12. If the injury is divisible: you are only liable for what you actually cause (except: respondeat superior, concert of action)
13. If the injury is indivisible:
a. the liability of one person who causes injury does not exclude the liability of another who caused that injury
b. Common law rule: 
i. Joint and Several Liability; 
c. Comparative fault
i. Keep Joint and Several Liability or:
ii. Several liability
1. P v. D1 (20% negligent) and D2 (80% negligent). Divide liability between D1 and D2 by assigning fault. Under this system: no D is liable for more than his or her proportionate share.
14. Landers Case: Can we say but for D1’s negligent act, plaintiff would not be injured? No bc injury would have occurred from D2. So neither D is a but for cause of the injury bc it was going to happen anyway. Cause of action fails bc you cant prove actual cause. 
a. Courts solution: Substantial factor test. 
i. Was D1s negligence a substantial factor in causing the injury?
1. Yes & same for D2
ii. Defendants whose independent tortious acts have joined in producing an injury to the plaintiff, which, although, theoretically divisible, as a practical matter and realistically considered is in fact but a single divisible injury. 
15. Problem with substantial factor test: it is subjective; when does something not become a substantial factor? Very Vague. 
16. Lasley Case: Was D1s truck a substantial factor of the injury? Yes. D2 was also substantial factor. But for test -> if D1 had secured glass properly then nothing happens to P. There is actual cause form D1. D2 -> If D2 had stopped and not hit P, then no injury. D is also actual cause. 
17. But for test is a problem when there are duplicative causes for injury. The injury would have occurred with or w/out second D. 
18. Substantial factor is not the most accurate bc can be too vague but does not work as well as but for. 
19. Landers Hypo: D1s salt enters first kills everything then D2s salt and oil enter. Can argue D2s was not a but for cause or a substantial factor. That D1s is preemptive causation bc it entered first. 
20. In landers, if you had a drone could prove a large part of this was not an indivisible injury. This would make liability divisible to each D. Remains divisible until the salt and oil had come together in lake. But in landers court cannot prove who did what to P so the actual cause is indivisible for equity reasons so P can recover. Court did not apply substantial factor test. 
a. A gloss on the but-for rule that allows P to get around the test. There will be joint & several liability with indivisible harm, but P cannot prove causation bc 2 Ds so gloss over the test. 
21. Ex: Police Hypo: P cannot move arms or legs after fight with person in bar. And then police through him into pattywagon & he injures his head. 
a. P sues for head injury. Can you prove that but for D1s conduct P would not have been hurt and same for D2? Hard to determine. So court says injury indivisible. Maybe expert could be brought in to determine who caused what. This makes both Ds liable for entire amount even though they did not cause the whole thing. And this is holding someone liable for injury they did not cause. 
22. Dillon Case: boy electrocuted as he is falling off bridge. D is negligent for electrocution. Court also says yes D is actual cause of Ps injury bc D was but for cause of the electrocution. D is liable but not for much bc boy was did not have long life span ahead bc he was already falling. 
23. Hypo: Boy w/ terminal cancer & 1 year to live is hit and killed by car. So the value would be his 1 year of life. 
24. Ex: Summers v. Tice: 2 Ds.
a. But for Test:
b. But for D1s negligence P would not have been injured? Precise proof problem is that Ds acted at the exact same time so they are 50/50 the cause of negligence. So P fails his burden of showing by the preponderance of the evidence (51%) that D1 is negligent. Cannot prove actual cause for either D. 
c. Court applies theory of alternative liability. On the issue of but for causation, it shifts the burden of proof to the Ds to prove by the preponderance of the evidence that they were not negligent. 
d. So both Ds are responsible for causing the injury. Different from how much they have to pay. They wont have to pay for the whole thing. 
e. Effect of shifting the burden of proof where it was 50/50 one of them caused the injury, the Ds also cannot meet their burden of proof so now there is actual cause. Neither can prove they did not cause the injury so treat them as joint & severally liable. 
f. Creates another but for problem which court solves with alternative liability.
25. Lost Chance Hypo: Meningitis: 40% chance of survival. Doctor fails to diagnose. P dies. Damages are $100,000 for death but not recovering for the death bc cant show actual cause for death. Recovering for the lost chance bc can show Ds negligent was the actual cause of the lost chance. 40% chance x $100,000 = $40,000 recovery. 
a. Acceptance of “lost chance.” Some courts reject the lost chance theory. Not accepted in California
b. Ex: Mohr Case; Couldn’t recover for brain damage bc there was only a 40% she would survive. 
i. Preponderance of the evidence test is only looking for more likely than not. 
ii. If had been 80% chance of survival would not need but for because it meets preponderance of the evidence and she would be able to recover all of the damages for injury of the brain damage. 
iii. Recover for the lost chance. That is the injury.
iv. But doing this efficiently lowers but for standard
26. 7 Truckers hypo: Summers Alt. Liability does not work here because not all Ds spilled toxin. If all Ds had spilled would have a summers situation, but percentages change Shift burden of proof & they cant prove it then each D has 14% liability. If more facts become available and numbers get high, get away from Summers purpose. More likely that not one D did it. Summers is not applied often because need almost the exact same fact pattern to apply it. Case shows alt. liability, shows there is more than one test because there are situations where the but for test does not work. 
27. Res Ipsa & Actual Cause: 
a. If P is using Res Ipsa they do not have to prove the actual specific conduct to show breach. Since do not have to prove the actual specific conduct, cannot use the but for test. But Res Ipsa gets you over breach and Actual Cause so can still go forward. 
28. Market Share Theory: have fungible drug, cant prove who sold it. They are all liable for their share of the market.
f. Element 4: Proximate Cause: puts a limit on liability.
i. Is a policy at heart. Limits liability in fact or case specific way. (turns on the facts) 
ii. Key to proximate cause is determining breach.
iii. If court does not say no proximate cause then it is a question for the jury
iv. Ex: Thompson: alleged negligent act: disassembling the trampoline and leave it in the year 38 feet from road during a windy time in Iowa
1. What was the actual harm to P and does it match up to one of the risks that could have happened? (if yes then there is proximate cause).
a. Go back to breach then look to what the risks were that made the D negligent
b. Risks were it could blow onto road and cause car accident.
c. Was actual harm within the risks that made D negligent to begin with?
d. Yes, if the answer yes then the harm was within the risk rule and was the proximate cause of Ps injury. 
e. Risk rule: what were the risks that made the D negligent? Compare them to the risks that actually came to fruition.
f. What were the risks that made them negligent to begin with? 
g. Need to weigh cost of precautions which was very low vs. risk. Probability of it occurring is fairly low. Risk of harm is fairly low. 
v. Test for proximate cause: The Risk Rule
1. An actor’s liability is limited to those physical harms from the risk that made the actor’s conduct tortious

a. Class of Risk: Have to have foreseeable risk that comes to fruition
b. Class of person: Risk has to be incurred by someone with in the class of people put at risk. 

2. To apply go back to breach and look what the risks were that made d negligent.
vi. Ex: Abrams Case:
1. What are foreseeable risks of ambulance failing to pick up the P? 
a. Won’t make it to the hospital in time, it will be an unsafe a delivery 
b. Drives herself and gets into an accident 
c. Speeding driver & running red-light 
2. Court says facts are too much. The odds are too low to have foreseen this. But could argue this the other way. Outcomes not absolutely clear. They are judgment calls. 
vii. Tortosis Hypo: Analyze Proximate cause.
1. Was their breach? Yes 
2. Negligent act = not testing blood
3. Risks = contractosis (bc could only test for that)
4. What came to fruition? Tortosis. 
5. No proximate cause bc not a risk associated with the negligent act. 
viii. Release Patient Hypo:
1. Was their breach? Yes
2. Negligent act = not escorting patient to curb
3. Risk = patient could be hurt
4. What happened? = police hurt in accident on the way to take care of P. 
5. No proximate cause for police officer but there would be for the patient. 
ix. Broken intercom Hypo: 
1. Negligent act = failing to fix the intercom
2. Risk = someone has to come open the door. 
3. If someone being attacked while waiting is a foreseeable risk of the broken intercom then proximate cause is met. 
4. Have to look at risks that made that act negligent and then see if that’s what came to fruition. 
a. All you need is for ONE of the foreseeable risks to occur. 
x. Ex: Palsgraf: Man was jumping onto train to catch. Train guard helped pushed him on another helped pull him in. He dropped his package which turned out to be fireworks which exploded causing a part of the station to crumble far down from him and hit and injury P. 
1. Breach? Yes (bc can be injury to person or property)
2. Negligent act? = was pushing/pulling guy onto train.
3. Risk? = could have hit someone else, could lose package. 
4. What was cost of alt v. probability of harm? 
a. Probability of getting hurt low, but risk of harm = very high
5. Actual met = but for
6. Proximate cause = risk of losing package, risk of hurting himself
7. There was physical harm but not to individual boarding train. So court said no proximate cause bc no one could perceive the package was so dangerous, so no foreseeable danger to someone that far away. Risk is about relations. Its risk w/in the range of apprehension. Has to be foreseeable. Says for there to be negligence there has to be someone put a t risk. Look at the risks to things individually. There was nothing in the scene that put P at risk. 
8. No foreseeable risk to Palsgraf. She was outside the zone of danger. 
9. Court has added to risk Rule. 
10. Andrews dissent is saying majority is cutting off the liability too narrowly. But this raises issue of where does it stop
11. Cardozo’s approach is much more specific: are you one of the people put at risk by the negligent act. 
xi. No concept of transferred intent in negligence. 
xii. Wagner Case: Negligent act = permitting passengers to stand between cars in this situation risk is too high. 
1. Was the risk that occurred foreseeable? Maybe not
2. Was the person harmed w/in class of people at risk by harm? Yes 
3. Rescuers are foreseeable, but is what they will do foreseeable? 
4. Cardozo says “danger invites rescue.” Says rescuer may not have been foreseeable but are held accountable as if it had been. Rescuers are a special case & are deemed foreseeable. 
xiii. Special Rule 1 (Exception to Proximate Cause) Rescue Doctrine:
1. Instinctive rescue not needed
2. Has to be unbroken continuity. Rescue has to occur immediately 
3. Rescuer’s contributory negligence is a factor
a. But have emergency doctrine
b. At CL courts would say not going to apply contributory negligence bc wanted to encourage rescuers and at CL contributory negligence was a bar to recovery
4. Effect of Comp Fault on this: makes the rescuer a foreseeable risk/plaintiff (proximate cause issue).
a. Ex: Wagner saving Cousin Herbert. Maybe comparative fault. CL said contributory negligence was not a defense unless P was reckless. Comp. fault changes that. Now not all or nothing. Now if rescuer is negligent all you do is reduce the recovery. Majority rule recognizes comparative fault in case of rescuers but rare they will ever be negligent bc of emergency doctrine. 
xiv. Hughes Case:
1. Breach? Yes leaving hole uncovered & unguarded
2. Risks = someone failing in, kids playing in it. Kids will get burnt by latern.
3. But vaporization is unforeseeable
4. End result is foreseeable but not in this particular manner. 
5. Court says manner or mechanism of occurrence does not matter bc fire was foreseeable and it does not matter how that fire occurred as long as the end result is same as what is foreseeable. But other judge says what occurred was just a variance on the foreseeability. 
a. One judge said what occurred was just a variant on the foreseeable 
xv. Doughty Case:
1. Breach? Yes negligent to drop lid into vat
2. Risk of Harm? Splash & burn
3. Whats alt? don’t drop lid in. no cost. Harm is very high
4. Actual cause is met
5. Proximate cause risk = splash
a. Splash occurred after an eruption
b. Have way you expect injury to happen which is splash when lid was dropped in but splash occurred later after lid erupted from chemical reaction. 
6. Court says no proximate cause here: difference is the time factor. Also like entire unforeseeable that lid would chemically break down that way. Damage here was of an entirely different kind from the foreseeable splash. 
xvi. Start out with fundamental idea: someone was negligent and there was a breach. 
1. What made act a breach of duty?
a. There were certain foreseeable risks
2. Look at those risks and the risk that made you negligent has to be the one that actually got carried out and ended up injuring the P. If the P got injured by something else than not going to make D pay for that. Limiting your liability to the risks that made you negligent. You should be liable for the risk that made you negligent. You are liable to the people who were foreseeable put at risk. 
a. Class of risks
b. Class of persons 
3. Then look to mechanism by which negligent ends up injuring foreseeable person in a way that was foreseeable
a. 2 Hughes judges says mechanism doesn’t matter if the end result was foreseeable. 
b. 3rd Hughes judge says no mechanism has to be a variant on what was foreseeable. 
c. Mechanism gets too broad it will cut it off (just recognize issue)
xvii. Hammerstein Case: 
1. Risk of fire alarm going off? People will rush down stairs, people have to use stairs can be injured. 
2. P had preexisting condition which hotel knew of. Had to rush downstairs and injured his ankle which was foreseeable but then got a gangrenous blister. 
3. Really wasn’t foreseeable he would get gang green but doesn’t the D would have pay because of the Thin Skull Rule: 
xviii. Special Rule 2: Thin Shell Skull 
1. Take your victim as you find him/her 
2. Applies to Physical aftermath & Economic aftermath
3. Ex: Power lifter hypo: guy in great shape. Gets into minor car accident realizes his body is not perfect bc injured. Let’s himself go mentally/physically. D had to pay for all of it. 
4. Ex: Steve Allen, got in minor fender bender but hit his chest on the wheel. Had preexisting heart condition and died in his sleep. D liable. 
xix. Without proximate cause will end up with liability too far outside the scope of negligence. 
xx. Classes of persons is a proximate cause rule that will cut off liability 
xxi. Is harm outside the scope of the risk because of the manner in which it occurs? Yes
xxii. Is harm outside scope of the risk because its extent is unforeseeable? No bc Thin Skull Rule
xxiii. Intervening Causes: purely chronological
1. Test: were [the intervening acts] reasonably foreseeable by the original tortfeasor at the time of his negligent conduct?
a. Foreseeability is different here because now looking if act of some other individuals is reasonable foreseeable by the original tortfeasor.
b. Proximate cause is a question of fact typically, but can be a question of law
2. A & B are both negligent and are both actual cause of the injury. But is there some reason why only B should negligent. 
3. Was what the second D reasonable foreseeable? 
a. General Rule: look if intervening act is foreseeable 
b. Second Ds acts can be intentional or negligent. 
c. Arsonist case: court didn’t care how the intervening cause acted as long as end result was fire. 
4. Test: If you look at D1s acts was it reasonably foreseeable that D2 would come in and do something like that? Dedeirian case. 
5. Describing what comes first. Purely sequential 
6. Only means the cause came after some other cause
7. But possible it can cut of the D1s liability and only D2 is liable. Becoming a superseding cause. 
8. Ex: Marcus Case:
a. D1 = buys liquor
b. D2  = steals car and drives drunk 
c. D1 (Marcus) alleging that the intervening causes are superseding causes. Also all Misty’s acts are criminal. 
d. To analyze start with D1. What foreseeable risks of supplying the alcohol? = drunk driving 
e. If D1 had reason to know they would steal truck, that would affect proximate cause. 
f. Court says intervening cause matters.
9. Ex: Collins Case:
a. D1 = builder. Construction of building without compliance with fire safety codes 
b. D2 = arsonist (Intentional Tortfeasor). 
c. Looking at intentional intervening causes. 
d. Court says It is a foreseeable risk that a fire at an apartment complex, however started, will cause harm to the inhabitants if the owner fails to provide safeguards
i. They are saying manner of intervening cause does not matter as long as get same result.
ii. Dif then Marcus bc this court says manner doesn’t matter. Most courts say how it occurs does matter. 
iii. Recent cases more generous in foreseeing intervening acts. 
e. May have been intentional but end result is what could occur even without D2. 
10. Most courts say how it occurs does matter. 
a. Recent cases more generous in foreseeing intervening acts. 
11. More likely an intentional tort act will cut off liability because more assertive, more purposeful, etc. 
a. Old school rule for intentional intervening causes was “that the deliberate infliction of harm by a moral being, who was adequately informed, free to act, and able to choose would “supersede” the negligence of the first actor.”
12. Doe v. Linder (Note 6): D1 is negligent in safeguarding the key to P’s residence.  D2-rapists. 
13. Courts may be more inclined to hold that criminal intervening acts are unforeseeable
14. The suicide cases: Delaney (not read)
a. Majority: Suicide is extraordinary event as not to be reasonably foreseeable. (Intervening act by P)
b. Narrow Exceptions: D’s negligence rendered (1) P unable to appreciate self-destructive nature of act; (2) unable to resist it
15. Ex: Derdiarian: 
a. D1 = contracting company 
b. D2 = driver 
c. D1 neg = not having proper barricade around vat
d. D2 neg = not taking epilepsy medicine and crashing the car due to a seizure. 
e. Both Negligent
f. Foreseeable risks for D1 -> P would get hit by a negligent driver & kettle would be hit. 
g. Court says P need not demonstrate precise manner in which the accident happened. 
h. Hypo: guy comes and pushes P into vat. This would be a superseding cause bc:
i. Generally the mechanism/manner of occurrence matters.
i. If the intervening act is extraordinary under the circumstances, not foreseeable in the normal course of events, or independent or far removed from P’s conduct, it may well be a superseding act which breaks the causal nexus.
16. Ex: Ventricelli: 
a. D1= rental company
b. D2 = other driver 
c. D1 neg = defective trunk
d. Risks = P will get out and fix the trunk. Worried someone will hit you. 
e. Court says no proximate cause bc P stopped in safe place, and it just happened that someone hit him. He does not get hit in the location that is foreseeable. 
f. Dissent said he did exactly what was foreseeable and got hit what does it matter where he got hit.
g. But here the risk was same as if parked while shopping.  

17. D1 drives on wrong side of Road makes other car run off road so truck stops to help. So passenger goes to top of hill to waive off other drivers but gets hit by D2. 
a. D1 foreseeable risks = accident to others and there was accident. Parked truck so risk of people hitting the truck. 
b. Court says D1 liable even though risk not foreseeable.
i. The effort of the courts has been…to confine the liability of a negligent actor to those harmful consequences which result from the operation of the risk, or of a risk, the foreseeability of which rendered the defendant’s conduct negligent
xxiv. Special Rule 3: Accident Aftermath
1. Aftermath of accident like this is foreseeable to a certain point. Foreseeability goes until everything calms. 
2. D would be liable for anything that happens as a result of accident until accident calms.
3. Hypo: After accident calms Ps drive away and then 15 minutes later get hit. That would not be proximate cause. But if got hit before accident calmed would be.
xxv. Special Rule 4: Subsequent Medical Negligence
1. Dr. makes a negligent situation worse. 
2. D1 causes injury
3. D2 commits malpractice
4. Malpractice will be deemed foreseeable and D1 will be liable for original injury and malpractice.
g. Element 5: Damages
i. Cannot recover for nominal damages in negligence. 
ii. CL Joint & Several Liability: 
1. P can collect full amount from either D.
2. Can collect from both in any amount adding up to the total damages 
3. But if P collects from one D, D can seek contribution from other D. 
a. Pro Rata = how much D should collect in contribution from other d. It means if there are 2 Ds they share the damage equally
b. If D1 tries to recover from D2 and D2 is insolvent, first D cannot recover, and would be out the entire amount bc CL wanted to make sure P recovered 
c. Some Ds are immune from suit 
4. Contributory negligence = no recovery
5. Ex: If P wanted to recover could recover under joint & several, could recover $100,000 from either D. But under Pro Rata D1 can recover 50% from D2. Pro Rata is for when one D has overpaid and thus is entitled to contribution from the other. 
iii. Modern System: Comparative Fault: 
1. Assign percentages of fault to P, D1, and D1
2. Contributory negligence = partial recovery 
3. Ex: P 10%, D1 45%, D2 45%
a. P can recover 90%
4. In modern system that retained joint & several, there is still contribution and P can recover entire amount from D1 and D1 can seek contribution from D2
5. In modern system, without joint & several liability (just several liability) P can only recover from each D exactly how much their individual percentage of negligence was 
a. Now P bears loss bc no contribution bc neither D can over pay now. 
6. Ex: Under Comparative Fault How much can P recover? Need to know if jurisdiction kept joint & several. If so P can recover the $100k from either and then there would be contribution but only for the amount of the % the D was liable for. 
a. If joint & several abolished than P can only recover the exact amount each D was negligent for. 
7. Allows apportioning liability precisely among tortfeasors
a. Allows you to adjust liability of P and D (is not all or nothing)
8. Right v. Breen 
a. Facts: P stopped at a red light and was rear-ended by D. no injuries were reported at the scene of the accident but there was minor damage to Ps car. Later P brought this action alleging he had suffered bodily harm as a result of the injury leading to both economic and noneconomic damages. However P had been in 5 previous accidents.
b. Reasoning: None of our cases has held that a P may prevail in a negligence action without alleging and proving actual damage. This was the rule at CL
9. Economic damages = things you can put $ amount on (ex. medical bills)
10. Noneconomic damages = pain & suffering. Nonquantifiable 
11. Joint & Several liability 
a. Contribution 
b. Under CL = pro rata 
12. Indemnity
a. Complete transfer of liability
b. Ex: employer and employee: full shift from one to another 
iv. Vicarious Liability: (employer not liable bc of tort. Do not have to re-analyze the negligent act of employee for employer. UNLESS employer committed negligent act, like negligent hiring. Then separate action.) Respondeat Superior 
1. P has to prove that employee committed negligence. 
2. Form of strict liability. Once you prove fault going to hold employer liable w/out fault. Tests look at what D did and that relationship of that to employer. 
3. About spreading the losses. 
4. Scope of employment: Ex Potbelly case: Employee was flipping knife while working and talking to customer. Hit customer in the eye causing loss of use of it. Rule: Test is whether the act was done while the servant was doing his master’s work, no matter how irregularly, or with what disregard of instructions. 
a. Emphasized without regard for instructions bc it was based on employee’s control. Can have some disregard of instructions, but that will not be overlooked, but it is also not determinative. 
5. Scope of employment: Fruit Case: Fruit was attending conference for his employer. Night before incident attended dinner at restaurant encouraged by employer to network with other agents. Next night slept through dinner still went to restaurant to try to meet others. No one was there he stayed for while hoping they would come. Left at 2am and he struck P crushing his legs. Rule: respondeat superior has been correctly states as the desire to include in the costs of operation inevitable losses to third persons incident to carrying on an enterprise, and thus distribute the burden among those benefited by the enterprise. 
6. Cases help determine what is within scope of employment: 
a. What is controlled
b. Doing master’s work (even if some disregard for instructions)
c. Acting in furtherance of employer’s interests (enterprise theory = prevailing rule).
d. Incident to enterprise
7. Motivation not going to be heavily considered. More important about what employee did, whether his act was in furtherance of enterprise. 
8. Hypo: Golf Tournament: employees sent out go to dinner w/each other, go to casino, on way home get lost turn around in lane barricade, collides with truck. One guy dies. He is w/in scope of employment. Because company pays for everything on these trips. But if company had specific rules about what they pay for then wouldn’t be liable. 
9. Can be employed even if volunteer. (church volunteer delivering cookies.) Employed when submit self to control of somebody else. 
10. Borrowed servant rule: Basic rule = who has control over employee? Unlikely both employers will ever be liable. 
11. Captain of the ship (Ybarra) = idea that surgeon is in charge. If people in operating room belong to hospital, they work for surgeon when in OR.
12. Going & Coming Rule: 
a. On way to work not in scope of employment. Not in scope until you get there. When leave to go home not in scope. 
b. Original test was when going to work are you benefitting the employer? No. so not in scope. 
c. Incidental benefit to employer: Hinges on whether get paid for travel/expenses. 
d. Special Hazards: Presumably some sort of terrain or threat out of the ordinary. 
e. Dual purpose doctrine: in addition to traveling to or from work employees performs some task for employer. Ex dropping of delivery or check for employer on way to work or on way home.
f. Frolic and/or Detour: While working you can go out of scope of employment. 
i. Ex: Melodi driving from work mid-day to deposit checks for work. On the way goes 5 miles out of way to get nails done, gets in accident. Frolic or detour? Depends on time and distance. 
ii. Detour = not for long or far distance
iii. Frolic = longer time, further distance
iv. When do you return work? Courts differ on this. Issue is whether D intended to start serving the employer. (Mental state makes a difference)
v. Hypo: postal employee’s lunch: goes 150ft past his lunch break spot & takes teenagers w/ him (parents know). Detour = not far, on lunch break, stays in truck to “guard mail.” Frolic = brings someone else. But dual purpose bc he is guarding mail so he is w/in scope of employment. 
vi. Hypo: Police officer showers and drops gun and goes off and shoots someone. In scope, he was required to wear gun at all time. 
vii. Drag race: Stop N Go market. Off day, employee goes in in but then leaves to go to other store to pick something up for his store. Gets in drag race on way. Kills someone. Court says was in scope. 
viii. Truck Driver Stop: Truck driver stops for dinner and has a few drinks. On way back to truck darts in front of motorcyclist, killing himself and the motorcyclist. Arg that he’s in scope of employment bc he’s heading back to truck and is starting to think about work. Clearly intending to reenter but Q when he actually reenters. Court says in scope. 
ix. Guy heading home from work, turns back around bc forgot manual, gets in accident. In scope? Arg is he is thinking about work. Court said he was going home and fact he decided to go back doesn’t put in w/in scope. 
x. All you have to do for these is make decent argument wither way w/in framework
13. Edgewater Case: (Scope of employment): Gatzke said he was 24 hour a day man. Company paid for all his expenses while he was working to open the restaurant. One night went to bar discussed how to run bar with bartender, came home filled out expense report and smoked a cig then went to bed. The hotel caught on fire causing severe damage. 
a. Rule: An act of a servant is not within the scope of employment if it done with no intention to perform it as a party of or incident to a service on account of which he is employed. Other factors to be considered in the scope of employment determination are whether the conduct is oft the kind that the employee is authorized to perform and whether the act occurs substantially within authorized time and space restrictions.
b. Holding: after careful consideration the court is persuaded by the reasoning of the courts which hold that smoking can be an act within an employee’s scope of employment. An employer can be held vicariously liable for his employee’s negligent smoking of a cigarette if he was other actin in the scope of his employment at the time of the negligent act. So w/in scope. 
c. Smoking is personal thing that can be w/in scope like eating or drinking, was in scope at bar bc talking about how to run a bar w/bartender and scope at desk bc filling out report. Smoking + doing report = dual purpose. 
14. Vicarious Liability for Intentional Torts: 
a. General Rule: Intentional torts do not usually give rise to vicarious liability; but can be liable if it falls w/in scope of employment  
b. Montague Case: Facts: AMN provides prescreened nurses and medical personnel to hospitals. It hired Drummond to work at a Kaiser facility as a medical assistant. At some point Drummond and Montague had argument about how room should be stocked. She did not report the argument to her supervisor. A few weeks later Montague drank from her water, her tongue/throat started to burn and she vomited. Drummond admitted she poured Carbolic Acid from a Kaiser examination room into the water bottle
i. Timing matters because then you could then join the two episodes if they occurred close together
ii. Test 1: For the employer to be liable for an intentional tort, the employee’s act must have a causal nexus to the employee’s work. The incident leading to the injury must be an “outgrowth” of the employment; the risk of tortious injury must be inherent in the working environment; the risk must be typical or broadly incidental to the employer’s business; the tort was a generally foreseeable consequence.  
iii. Test 2: The conduct of an employee falls within the scope of his or her employment if there is a causal nexus and the conduct either (1) is required by or incidental to the employee’s duties, or (2) it is reasonably foreseeable in light of the employer’s business. 
1. How to figure whether it is reasonably foreseeable?
2. Personal malice – does not have causal nexus
3. Engendered by the employment – does have causal nexus
iv. An injury arising out of work related dispute has such a causal nexus, while an injury inflicted out of the employee’s personal malice, not engendered by the employment does not.
v. Holding: Montague [presented] no evidence regarding the scope of Drummond’s employment with either nursefinders or Kaiser. Montague presented no evidence that these past work related disputes, rather than Drummond’s personal animosity toward Montague are unrelated to Drummond’s work for Kaiser, motivated her actions. Montague’s attempt to establish respondeat superior liability for Nursefinders simply because she and Drummond worked together at Kaiser is misguided
15. Hypo: 19 year old falls and goes to hospital to get ultra sound. Ultra sound tech molests her. Casual nexus? Was it an outgrowth of employment? Employment gave him opportunity to do this and he took advantage of it. Court says outside scope of employment. 
16. Hypo: Police officer at 2:30 stops woman driving home alone. Was in police uniform and had badge. He ordered her to get in front seat of car and told her payment for not arresting her and then raped her. Court said precise facts of assault need not be determined as long as assault is reasonably foreseeable. In scope. 
17. Caregiver abuse is a well-known hazard so w/in scope bc reasonable foreseeable. Ex: Nurse’s aide slapped Elderly Alzheimer’s patient & D was drunk. Found w/in scope. 
18. Employer can be liable if employee outside scope if you give employee authority and power to employee going to be liable.
19. Independent Contractors: General rule = hirer is not liable for the torts of an independent contractor. Test = Control over the details versus control over the end result. 
a. Mavrikidis Case: Clar Pine = owners of gas and repair show. Petullo Brothers: Hired by Clar Pine. Truck was loaded negligently and Gerald Petullo drove negligently. P sues Clar Pine, Newark, Petullo Brothers. Petullo was doing job for Clar Pine & does a negligent job. Clar Pine being sued on a resondeat superior theory and that Petullo was laible/negligent. Clar Pine says Petullo not w/in scope bc not employee. Independent K. Court says no vicarious liability here. 
i. General Rule: Is person who hired independent contractor is not liable. 
ii. Whether a contractee maintains the right of control several factors are considered; (Key is no right of control over the details)
1. The extent of control which by the agreement, the master may exercise over the details of the work
2. Whether or not the one employed is engaged in a distinct occupation or business
3. The skill required in the particular occupation
4. Whether the employer or workman supplies the instrumentalities, tools, and the place of work for the person doing the work
5. The length of time for which the person is employed 
6. The method of payment whether by the time or by the job
7. Whether or not the work is party of the regular business of the employer; and
8. Whether or not the parties believe they are creating the relation of master and servant 
iii. Exceptions: non-delegable duties
1. Where the landowner [or principal] retains control of the manner and means of the doing of the work which is the subject of the contract
a. The reservation of control “of the manner and means’ of the contracted work by the principal permits the impositions of vicarious liability 
2. Where the activity contracted for is inherently dangerous (ex: crop dusting)
a. Sometimes called peculiar risk.
b. In CA can make argument that almost any activity has a peculiar risk.  
3. Where he engages an incompetent contractor: 
a. This is negligence in and of itself. So not really exception can go directly at that person for negligent hiring. 
4. Statutory duties: (Ex: Safety precautions). Statute imposes upon you the obligation.
iv. Is case facts fall w/in exceptions then they are considered employees & have vicarious liability. 
v. Respondeat Superior is not warranted where the contractee’s “supervisory interest relates only to the result to be accomplished, not to the means of accomplishing it.”
vi. To protect self: higher someone solvent, ask for indemnity,
b. Pusey Case: Facts: Wilson on behalf of Greif Brothers entered into a K with YSP to supply security guards to deter theft & vandalism on Greif’s property during specified hours. The K did not specify whether the guards should be armed or unarmed and it was never discussed. Wilson later became aware some guards were armed. Bator (guard)first went out w/out gun, but then once men became evasive and called Bator a “motherfucker” he went back in to get gun. He revealed it to the men and Pusey made quick maneuver and Bator fired. Bullet hit Pusey in back of head and he died later.  
i. Rule: Nondelegable duties arise in various situations including duties imposed on the employer that arise out of the work itself because its performance creates dangers to others. The employer is not insulated from liability if the independent contractor’s negligence results in breach of the duty.
ii. Work is inherently dangerous when it creates a peculiar risk of harm to others unless special precautions are taken. It is sufficient that the work involves a risk, recognizable in advance, of physical harm to others, which is inherent in the work itself. The exception does not apply where the employer would reasonably have only a general anticipation of the possibility that the contractor may be negligent in some way and thereby cause harm to a third party.
iii. Holding: Work such as YSP was hired to perform does create a peculiar risk of harm to others. Such an injury is one that might have been anticipated as a direct or probably consequence of the performance of the work contracted for, if reasonable care is not take in its performance.
c. To analyze, look if person is an employee, if not are they independent contractor, if yes go to general rule, then exceptions. 
20. Other forms of vicarious liability (21-25)
21. Partnerships: Partners are liable for their partners liability. 
22. Joint enterprise: has to be an express or implied agreement w/ a common purpose, community of interest, equal right of control; 
a. Does not typically apply to social ventures. Does not apply to internal members of enterprise. So if 3 people in car, with D driving, P cant sue both D and third person. 
23. Concert of action: conspiracy type situations. Close to joint enterprise: illegal/tortious enterprise. 
24. Entrustment of Vehicles: liable if just give car to someone. Statutes say yes owner is liable. 
25. Family Purpose Doctrine: owner liable when lending car out to family members. (now dealt with by statute)
26.  Both ways rule: Both parties negligent. Person driving is employee w/in scope. Car 1 sues employee, employer liable. Employer sues P for also driving negligent. When employer sues P , employees negligence is contributed to employer to reduce recovery same say employees negligence creates vicarious liability to find employer liable. 
h. Defenses to negligence 
i. Contributory negligence (or comparative fault)
1. Butterfield: 
a. P was negligent riding into pole bc it said you could see it from 100 yards away. 
b. Appellate affirms. 
c. Contributory negligence = complete bar to P’s recovery under CL 
d. Not accurate to say this was all Ps fault bc if there was 3rd party they could sue P & D
e. Butterfield says if P was even slightly negligent than they cannot recover
f. Case does not explain rationale for that rule 
2. Hypo: P runs into obstruction, but there is kid there and pole hits kid as a result. Kid can sue both P and the person who put up obstruction
a. Both negligent
b. Indivisible injury 
3. Hypo: Two Fault Auto-Accident: Prescott and Dorfman drive negligently and collide
a. Ps damages = $100,000
b. Ds damages = $50,000
c. P = 60% negligent
d. D = 40%
e. What P will recover depends on jurisdiction
f. Under Wisconsin statute P recovers nothing here (have to read statutes)
g. Under NY statutes P will recover only 40% of its damages, bc 60% of damage = contributable to P
h. First look at Ps percentage of negligence and then look to jurisdictions, but under NY 60% of damages were contributed to P so he/she will never get it 
i. P can only get $40k from D in Pure comparative fault (NY)
i. 40% of Ps $100,000 in damages 
j. D counter claim what can he get? 
i. 60%. He cannot get other 40% bc that was his fault. D an get $30k from P bc that is 60% of his $50k damages. 
k. Under Wisconsin (Modified) P can recover at 50% negligent bc wording says cannot recover if P is greater than 50% negligent. 
l. Under Wisconsin P’s recovery is barred bc his negligence is greater than Ds.
4. Pure Comparative Fault: Does not limit recovery based on liability (like NY)
5. Modified Comparative Fault: Does limit recovery based on liability (like Wisconsin)
6. Hypo: 3 Fault Accident 
a. A is 10% negligent. With $100,000 in damages
b. B & C: 45% negligent each 
c. P will never recover the 10% he was negligent for. Can only recover 90%  
d. P will get $90k
e. Who P can recover from depends on whether there is joint & several.
f. It is indivisible bc only liable for what you cause 
g. If joint & several A can get $90k from B or from C. 
h. A gets $90k from B; B will want contribution from C. So contribution will be based on comparative fault which is $45k. Want each to pay their percentages of fault in the end
i. If one D is insolvent under Joint & several one D will over pay. 
7. Hypo: The Underground Tank: P is 16 year old works for D (not employee). Installing a tank. Excavation is not shored up by D. P goes in knowing it was not shored up. Cave in – Severely injuring P. 
a. Jury verdict: D = 51% negligent; P = 49% negligent 
b. General rule = tell jury about the effect of % of fault and whether state uses Pure comparative or Modified. 
8. If no joint & several can only go after each D for exactly what they owe. Here p suffers loss if one D is insolvent  
9. Pohl Case:
a. Court erred in finding that his injuries would have been less severe had he not been speeding. 
b. Judge apportions the fault to the 2 parties
c. County made 2 all or nothing args:
i. Ps speed was an intervening cause (P can be intervening cause)
ii. Wanted Ps speeding to bar recovery 
d. Prima facie case is still there.
e. P says court erred in finding his injuries would have been less severe if he weren’t speeding. P is arguing actual cause that even if not speeding he would have been hurt. Saying his speeding is not the actual cause of his negligence. 
f. If this argument was accepted the negligence would not be actual cause and there would be no contributory negligence bc no prima facie case.  
g. Contributory negligence has to meet all 5 negligence elements 
h. P argues trial judge apportioned too much fault: This arg almost always loses bc the amount of fault is for the fact finder which is rarely overturned. 
10. RST Third: Comparative Fault: Jury Comparisons
a. Nature of risk-creating conduct, including “awareness or indifference with respect to risks created by the conduct and any intent with respect to the harm created.” 
i. About state of mind. But talking about apportioning fault which is different than finding negligence. 
b. The strength of the causal connection. 
11. CL Joint & Several Applies: 
a. Concert of Action
b. Indivisible injury (Comparative liability applies here)
c. A creates risk of harm by B (Comparative liability applies here)
d. Vicarious liability 
12. Does comparative fault change joint & several? 
a. Now reducing Ps recovery by their portion of Comparative fault
i. Liability should follow fault
ii. If say a P cannot recover 40% saying your liability to yourself = 40%
iii. Why inconsistent with Joint & Several?
1. Bc in joint & several your liability can be out of proportion to your fault
2. Extent of fault does not necessarily cover your liability. 
b. If follow principle that fault should match liability that leads you to just Several Liability. 
c. CA Civil Code Section 1431.2:
i. The liability of each D for non-economic damages shall be several only and shall not be joint. Each D shall be liable only for the amount of non-economic damages allocated tot that D in direct proportion to that D’s percentage of fault.”
ii. Several Liability for noneconomic damages and J&S for economic damages. 
iii. CA Hypo: P is 10% negligent. D1 is 30% negligent. D2 is 60% negligent. 
iv. Damages:
1. $100,000 economic
2. $100,000 pain and suffering? 
3. How much can P collect from D2 if D1 is insolvent? 
4. P can recover $90k for economic from D2 and $60k for noneconomic for total of $150k from D2. 
5. If no one is insolvent then this does not 
i. Negligent Failure to Protect P:
i. The D1-D2 scenario:
1. D1 is negligent in failing to protect P from D2 
2. D2 acts intentionally 
3. Issue: Apply comparative fault? 
4. Basset Case: 
a. Facts: The police set up a roadblock to stop Ortega who was wanted in 2 jurisdictions. Around the same time Bassett was heading home from a fishing trip. As they were approaching the roadblock they passed several officers who did not warn them of the hazardous situation up ahead. As Bassett, approached the roadblock surprised officers began frantically gesturing for them to go through as deputy moved his car to allow them passage. After creating the opening, Ortega approached at 100 mph and crashed into Bassett, going only 30 mph. through the same opening. Basset & Cozian were both injured and Oretga was arrested
b. Holding: Each D is liable only to the extent of the D’s proportion to total fault
i. No fault was allocated to Ortega. P is happy about this bc no problem collecting Judgment
ii. This matters if they put Ortega in only under several liability bc P will not recover Ortega’s share. 
c. Rule: negligence in its present iteration introduces the more inclusive term “fault” and defines it as including conduct that is in any measure negligent.
i. This was determinative. So fault includes something more. So Legislature says Ortega not included. Not comparing intent to negligence. 
5. Turner Case:
a. Facts: P was attacked at a facility by D’s patient who had a known history of violence that D did not take steps to protect those who might be attacked from. He later said he did not know of the patient’s history of violence although he himself had been attacked.
b. Holding: The conduct of the negligent D should not be compared with the intentional conduct of another in determining comparative fault where the intentional conduct is the foreseeable risk created by the negligent tortfeasor. Such a comparison presents practical difficulties in comparing acts that are different in both degree and kind and reduces the negligent person’s incentive to comply with the applicable duty of care. Further, a negligent D should not be permitted to rely upon the foreseeable harm it had a duty to prevent so as to reduce its liability
c. Argument is that D1 (Doctor) has obligation to protect the P from action by D2 (Patient). This case is unlike Ortega, says do not count in fault from D1 bc it will reduce incentive to comply. 
d. In both cases the acts of all Ds were the but for causes of all these injuries. (All of these people are at fault)
6. A set of Ds who are at fault: one set is negligent and one is intentional. Negligent act is failure to protect from intentional tortfeasor. Should we compare the fault? Cases vary. CA compares them. 
7. In single P v. single D case, comparative fault only an issue when P is also negligent. 
ii. Bexiga: 
1. Facts: John a minor had his hand crushed by the ram of the power punch press. Lost his finers and ended up with a deformity in his hand. He had placed metal on the die and the metal did not go to the right place He went to adjust this but at the same time his foot went to the pedal and he tried to remove his hand and foot but it was too late
2. Holding: The asserted negligence of the P, placing his hand under the ram while at the same time depressing the foot pedal was the very eventuality the safety devices were designed to guard against. It would be anomalous to hold that D has a duty to install safety devices but a breach of that duty results in no liability for the very injury the duty was meant to protect against. We hold that under the facts presented to us in this case the defense of contributory negligence is unavailable
3. D was negligent for not having any safety precautions. 
4. Need to look at Ps risks = not hitting the foot pedal was P’s alternative action. Could make argument P was not negligent. Inevitable something will go wrong in this scenario but he has to do this to keep his job. 
5. Argument to not use comparative fault: manufacture should have had the safety device. 
6. Ds negligent act was not protecting the P form injuring himself through negligence. 
7. Cases split on whether or not to assert contributory negligence as a defense. 
8. No general rule have to look at situations where comparative fault is inappropriate. 
9. Comparison of Intentional/Reckless Acts & Negligent Acts:
a. CL said contributory negligence as not a defense to intentional or reckless torts. 
b. Now have comp. fault. Can compare Ps negligence to reduce recovery if Ds act was intentional
c. Have to read comp. fault statute carefully to determine if going to use it. Have to look at language to determine if when it applies
d. If it uses word fault = then statute covers negligence & intent
e. If it only says negligence then do not apply comparative fault. 
f. Pretty open Q on when to use comp fault. 
j. Effect of Comparative Fault when P is negligent: 
i. Pavlou Case: P is negligent for carrying an excess load. D is negligent bc of crack in crane. 
1. P has duty to self
2. Breached duty to self
3. P but for = fails bc even if P not negligent he still would have been injured bc of Ds negligence for the crack in crane, so there will be no comparative fault reduction on Ps recovery. 
k. If there is contributory negligence must analyze Ps negligence (on test do not go through all 5 elements for P. Look for Ps negligent act). Negligence could also be actual cause of Ps injury but not proximate (but very unlikely to have a proximate cause issue w/ negligent P). If no issue with actual or proximate cause with P do not address it.  
i. Rare but can occur where P is negligent but P’s negligence is not the proximate cause of the P’s injury because of the Risk Rule. 
1. Ex: negligent house guest? 
ii. P’s negligence as a superseding intervening cause: 
1. Exxon Case: Exxon tanker broke away from moorings owned by one D and operated by another. The captain managed to get the tanker safely past a number of perils nearby and safely out to sea. But once he reached safety, he neglected to get a fix on his position and he ran aground. The ship was substantially destroyed. Exxon claimed that the owner and operator of the moorings were responsible for the breakaway. The court held that even if that were so, the captain’s negligence in failing to fix his position once he had reached a position of relative safety was a superseding cause. So Exxon could recover nothing. 
iii. To see if P negligent, look at the risks and probability & amount of harm. 
iv. Pohl Case (arguing court erred in finding his injuries would be less severe if he wasn’t negligent). 
v. Negligence & Subsequent Medical Treatment: Mercer
1. P (drunk gets in accident). D = hospital negligence. 
2. Hospital argues P was contributorily negligent bc he caused accident that put him in the hospital. 
a. Court says no subsequent medical negligence after someone’s negligence puts them in hospital. Do not use comparative fault. Do not reduce Ps recovery. 
b. Subsequent medical negligence is deemed foreseeable as a risk of driving drunk, so why shouldn’t we apply comparative fault? 
i. Bc when you go to the hospital, point is not how you got there, point is that you are entitled to nonnegligent treatment. 
l. Mitigation of Damages/ Avoidable Consequences: 
i. The Rule: P must minimize damages by reasonable efforts and expenses 
ii. CL: If violated, (no mitigation), no recovery for those damages that could have been avoided. 
iii. RST third treats as comparative fault. Said an allegation that P failed to mitigate would be treated as comparative fault. 
iv. $100k in damages. P could have mitigated $25k. Under CL old rule, P could not get anything in recovery for what could have been mitigated. Now going to allocate fault to P & D in this scenario and put percentages on it. So say P is 10% negligent in failing to mitigate she can recover $90k bc that reduced her for failure to mitigate. 
m. Effect of P’s Comparative Fault when the public policy is to protect a vulnerable P: 
i. Christensen Case:
1. Facts: 26 year old school teacher engaged in sexual activity with his 13 year old student in his classroom but claimed she voluntarily participated.
2. Holding: The child lacks the capacity to consent to the sexual abuse and is under no duty to protect himself or herself from being abused. An opposite holding would frustrate the overarching goals of prevention and deterrence of child sexual abuse.
3. Suit against district is negligent but their argument is that 13 year old student was comparatively at fault. 
4. Have to apply child standard which is age, experience, etc. 
5. But policy reason not to apply comparative fault. 
6. D was arguing should apply comparative fault to the P. There might have been some fault on the girl but school district can argue that they weren’t negligent at all. 
7. W/out contributory negligence D argues they are not negligent and then P doesn’t recover if find for D. 
8. If contributory negligence P will definitely recover but it will be reduced
ii. If Ps not negligent not going to apply comparative fault
n. All or Nothing Judgments after Adoption of Comp. Fault
i. Comp fault & interference with P’s property rights 
1. Hypo: P sues railroad for negligence for sparks setting his property on fire when they flew off the railroad from the train. D says no, P is contributorily negligent for building right next to railroad. If allow this argue by RR would basically be given railroad an easement over P’s property bc they are saying P cannot use their land how they want to just bc it is located near a RR. Here P not contributorily negligent
2. Hypo: Wearing jewelry in crime area saying store is negligent for not having security. Store says no, P negligent for wearing that jewelry in this neighborhood. Do we want tort law restricting what we wear and then deeming it contributorily negligent? 
3. Hypo: Not wearing motorcycle helmet (where not required by statute) is P contributorily negligent for not wearing it? 
o. Effect of Comp fault on Doctrine of Last Clear Chance (CL):
i. Doctrine said if after P was negligent and if P was helpless and if D could have discovered P and avoided the injury that followed, then Ps contributory negligence would not bar Ps recovery. 
1. Ex: Speeding train. P stuck in train tracks due to his own negligence. If railroad could have discovered him and stop P would get full recovery. 
ii. Doctrine has been abolished. Only Comparative fault. 
p. Effect of Comp fault with Illegal activity 
i. Dugger case: 
1. Facts: Dugger & Martinez drank tequila, took heroin, and smoked weed. Martinez fell asleep, made a choking noise and began vomiting. Dugger delayed in calling 911. Police arrived 5 minutes after the call, and paramedics 10 minutes after the call. Dugger did not tell tem Martinez did heroin so they treated him for alcohol poisoning & he died 2 hours later.
2. Holding: We hold that the Legislature’s adoption of the proportionate responsibility scheme in Chapter 33 of the Civil Practice and Remedies Code evidences its clear intention that a Ps illegal conduct not falling with a statutorily recognized affirmative defense be apportioned rather than barring recovery completely. We hold the CL unlawful acts doctrine is not available as an affirmative defense in personal injury and wrongful death cases
3. P’s illegal activity. Argument is that D was negligent. 
4. Unlawful Act Doctrine: A person engaging in unlawful activity is barred from recovery if claim of negligence arises from unlawful act. Was a complete defense. 
5. Comp fault changes that: allows P to recover even though engaging in illegal activity although recovery will be reduced
6. Chief difficult with Unlawful act doctrine is determining what’s an unlawful act:
a. Minor unlawful acts would bar entire recovery. How would you draw line
b. Doctrine does not have sufficient limiting principles
c. Cut f would be serious crimes 
7. Effect of doctrine is to bar P from recovery
8. Some jurisdictions still apply it. 
9. Under comparative fault there is argument it should be abolished and just use comparative fault. 
q. Defenses to Negligence Con’t 
i. Indemnity
1. Complete transfer of liability
2. All or nothing reimbursement
a. Vicariously liability 
i. Ex: employer and employee: full shift from one to another
b. The retail seller of a product manufactured by another company 
3. Burden of these defenses is on the D 
4. Comparative fault is not going to change indemnity 
5. Settlement & Releases 
a. CL Rule: P settles with D; D wants a release from liability from all tortfeasors. 
i. Under CL a release of one D released all of them. So P couldn’t recover anymore if one, and thus did not want to settle. 
ii. This inhibited settlements 
iii. Solution: 
1. covenant not to sue: meant P did not release all Ds, but P could still sue D in tort but now D can sue back, and going to counterclaim for anything P sued him for. (Does not release other Ds.)
2. change common law rule by statute 
b. Full satisfaction rule: P settles w/ only D1 for the entirety of damages. P cannot get anything more from D2 bc only entitled to recover once 
c. Now P is injured. Damages = $100k. P settles with D1 for just $25k. D2 goes to trial. 
i. P = 20% negligent;
ii. D2 = 50% negligent
iii. D1 = 30% negligent 
iv. Here under CL P could not recover remainder from D2 bc release one release all. 
v. Effect of settling with only 1D: If only several liability and settle with D1, D2 is only liable for his fault and this result does not affect him. With J&S P can settle w/ D1 and sue D2 for the remainder
vi. What if settlement with D1 is really low but he’s 60% at fault? 
1. If settle cannot get contribution. 
2. Instead of D2 being liable for the remainder, when I settle with D1 whatever D1 was liable for goes off the table. Can only get from D2 what he was liable for. 
r. Assumption of the risk 
i. Express: Contractual. Complete bar to recovery unless language of waiver does not cover negligence that occurred or unless it was gross negligence, recklessness, willful/wanton conduct. Comp. fault has no effect on this. 
1. Will be recognized as complete bar if done right, typically not upheld in medical fields. 
2. Check if release offends public policy
a. Ex: No release from intentional or recklessly caused injury or with essential services (in some states)
ii. Stelluti Case:
1. Facts: Stelluti was injured using a stationary bike in a spin class the handle bars dislodged. At the start of the class she informed the instructor she was unfamiliar in how to use the bike and the instructor adjusted her bike. Turned out the locking in on the handle bars was not fully engaged at time of accident. 
2. Holding: Even though it’s a contract of adhesion, it is nevertheless enforceable in this context because Stelluti was not in a position of unequal bargaining power
3. Assume it was negligence. Issue is she signed piece of paper that waived her right to recover for negligence. Whether the waiver holds up is based on capacity to contract, bargaining power, and what waiver says. Here waiver covered the situation. P then argues contract of adhesion. 
4. Example of express assumption of risk. Cut off point is negligence but if you are reckless or willful or wanton waiver will not cover the injury. 
5. Doctrine of Express assumption is construed narrowly bc there is a certain discomfort with these. Construe waivers against the drafters. 
iii. Tunkl case: (don’t need factors)
1. Facts: P was allegedly injured by negligence of Ds hospital. He had to sign a release before the hospital would admit him. The release, released D “from any and all liability for the negligence or wrongful acts or omissions of its employees.” P’s recovery not barred. 
2. Holding: We cannot lightly accept a sought immunity from careless failure to provide the hospital service upon which many must depend. 
a. Since the service is one which each member of the public, presently or potentially, may find essential to him, he faces, despite his economic inability to do so the prospect of a compulsory assumption of the risk of another’s negligence.
3. Hospital makes him sign waiver, court doesn’t uphold this express assumption of the risk. These type of Ks wont be honored when people depend on the things are they contracting for bc they are an essential service. 
4. This exception to express AOR is pretty much limited to the medical field, but not clear how far this goes.  
iv. Moore Case
1. Facts: The Moore’s bought an ATV and were offered a $50 rebate if they attended an ATV safety course. They attended the course at Hartley Motors and the class was instructed using the curriculum of the ATV safety institute. Before starting all participants signed a release. During class, Moore was thrown from ATV when it hit a rock obscured by high grass.
2. Rule: an exculpatory release can be enforced if the “intent to release a party from liability for future negligence is consciously and unequivocally expressed.” An unreasonable risk is one for which the likelihood and gravity of the harm threatened outweighed the utility of the conduct and the burden on the D for removing the danger.  
3. Reasoning: The allegedly improper course layout may be actionable if the course posed a risk beyond ordinary negligence related to the inherent risks of off-road ATV riding assumed by the release. Holding an ATV safety class on an unnecessarily dangerous course is beyond the ordinary negligence released by the waiver. 
4. Court says release does not cover the injury bc it doesn’t mention liability for general negligence. Court is interpreting the release in a way that doesn’t cover this injury. 
a. Court is just offended by what happened. Always possible to convince court they should interpret language narrowly and against the drafter. 
b. Can argue activity covered is essential, or argue to interpret the K in a way that it doesn’t cover the activity, courts wont honor releases if there is gross negligence. 
v. Implied: Implied from the facts, comes from what the person does. Like consent, comes out of conduct. Does not change express AOR bc express is built off contract. Complete bar under CL.
vi. Simmons Case: 
1. Facts: Simmons worked as a mechanic and was removing a leaky fuel tank from a ford pickup. He noticed it was not secured with proper fastenings and when he attempted to loosen the tank it fell to one side and doused him with gasoline. He quickly pushed himself out from under the truck but kicked a shop light in doing so that broke and ignited the gasoline burning him seriously. Court did not bar recovery bc of AOR said AOR as complete risk is no longer sound. 
2. Rule: Gives test for CL Implied AOR. Assumption of the risk doctrine can bar recovery when an employee who knows of a dangerous situation voluntarily exposes himself or herself to that danger. 
a. CL: Assumption of Risk bars recovery when 2 conditions are present:

i. The employee knew and understood the risk being incurred;
ii. And the choice to incur the risk was entirely free and voluntary. 
3. Traditional assumed risk rules found tacit consent when the P:
a. Know of the risk and appreciated its quality and
b. Voluntarily chose to confront (but this does not necessarily mean consent to the risk)
c. (rationale = if voluntarily confront a known risk, that action trumps the D’s negligence)
4. How to use implied AOR w/ comp fault? Court abolishes implied AOR & simply uses comp. fault and does not explain why. 
vii. Voluntarily encountering risk = your decision. On your own have to decide to encounter it. Voluntarily make a reasonable choice: if you unreasonably chose it suggest you made a negligent risk. 
viii. Contributory negligence & implied AOR: Unreasonable choice made by P. Person who unreasonably but voluntarily encounters a risk. Implied AOR but made unreasonable choice. At CL this overlap did not matter bc either way recovery would be barred bc contributory negligence. But now have issue bc of comp. fault. 
1. Have reduced recovery here instead of complete bar. 
ix. Factual situations that met Implied AOR can be divided into primary and secondary AOR.
x. Primary AOR (factual situations): Entering into a forward-looking relationship with the D regarding whether D will protect you from risk; something is going to happen in the future but P is saying he/she going to let D impose risks on them. 
1. P assumes the risk: There is not a duty/breach first. Before anything happens, P knows the D is going to do something in the future and not protect P from it but P assumes the risk anyway. (Ex: Sports).
2. By participating you are saying to other people who might injur you its ok bc you want to play. 
3. Ps have knowledge of risk and voluntarily encounters it. Says D does not have to protect them from certain risks. Duty gone. No obligation. 
4. Treat primary risk as NO DUTY. Cannot recover 
a. Old law also = no recovery
5. D is only covered for risk P said D does not owe duty to protect her from. When go outside those risks duty comes back. 
6. Exception to Primary AOR = Unreasonably increasing the risk of injury beyond those inherent in the activity
7. Classic example of Primary AOR people = firefighters (hiring workers to handle dangerous situations)
8. Have to ask what are the inherent risks 
xi. Secondary AOR (factual situations): Encountering a risk after the D has owed a duty and breached that duty. Backward looking. There already was a duty and breach. 
1. A situation where D had duty to P and breached it = negligence. D imposes risks, P see it and voluntarily encounters it. Duty, breach, voluntarily encounters. 
2. There is duty and breach, P then voluntarily assumes this risk.
3. This gets divided again:
a. Unreasonable AOR: Contributorily negligent. Reduced recovery. Comp. Fault (if modified comparative fault jurisdiction, may not recover if fault too high.)
i. Old law = No Recovery
b. Reasonable AOR: Full Recovery. No fault. (gets complete 180 from original implied AOR).
i. Old law = No Recovery
xii. Primary, Secondary Unreasonable, Secondary Reasonable = distinct factual pools. If fact pattern doesn’t fall w/in these 3, the recovery would not have been barred to begin with. 
xiii. In Secondary there was an ongoing relationship between P & D.
xiv. Hypo: House Fire. Get home and there is fire bc land lord has not kept wiring up properly. (secondary) Duty owed and breached. Go in to get Torts = Unreasonable = comp. fault
xv. Hypo: now go in to save baby (ignore rescue doctrine) = secondary, reasonable = full recovery. 
xvi. Gregory v. Cott: (Primary AOR)
1. Facts: P was hired to assist w/ Ds fie who was suffering from Alzheimer’s. P was trained to work w/ these patients and knew they could be violent. D told P his wife was combative and would kick and scratch etc. P was washing a Knife at Ds house. D bumped into her and reached toward the sink. As P tried to restrain D, she dropped the knife which hit her wrist and caused her to lose feeling in her fingers. 
2. Rule: Primary AOR is a complete bar to recovery. It applies when, as a matter of law, the D owes no duty to guard against a particular risk of harm. Secondary AOR applies when the D owes a duty, but the P has knowingly encountered a risk of injury caused by the Ds breach. Liability in such cases is determined by comparative fault. Primary AOR does not bar recovery when the Ds actions have unreasonably increased the risks of injury beyond those inherent in the activity.
3. Holding: Having hired Gregory to care for Cott, Bernard (husband) owed Gregory no duty to protect her from the ordinary risks that arose in the course of employment.
4. Case is Primary AOR bc she knew risk going in and was injured by exact kind of risk she was hired to take = complete bar. 
5. (If abolish AOR only have comparative fault and if P not negligent = full recovery. But most states use primary/secondary). 
xvii. Hypo: Housekeeper trips on stairs. In CL she is barred from recovery. Look if CL was abolished, if yes, look if primary or secondary. 
1. If primary: Did she know risk and was that part of employment arrangement or was that not part of the deal and bc it wasn’t D owed her a duty.
2. If secondary: look if reasonable or unreasonable
3. In this case court said secondary bc nothing in K said there would be stuff on stairs) but not clear, could go to primary. 
xviii. Coomer v. Royals 
1. Facts: Coomer claims he was injured by a hot dog thrown by the Royals Mascot Slugger into the crowd between innings. 
2. Rule: The rationale for barring recovery for injuries from risks that are inherent in watching a particular sport under implied primary assumption of the risk is that the D team owner cannot remove such risks without materially altering either the sport that the spectators come to see or the spectator’s enjoyment of it. No such argument applies to Slugger’s hotdog toss. 
3. Holding: Accordingly the court holds as a matter of law that the risk of injury from Slugger’s hotdog toss is not one of the risks inherent in watching the Royals play baseball that Coomer assumed merely by attending a game. This risk can be increased, decreased, or eliminated altogether with no impact on the game or the spectators’ enjoyment of it. As a result, Slugger and the Royals owe the fans a duty to use reasonable care in conducting the Hotdog Launch and can be held liable for damages caused by a breach of duty.
4. Outcomes in these cases depend how you define what is inherent to the game. 
5. In sports can violate rules and it’s still not outside the scope of the game’s inherent risks. Going against rules is not determinative. 
a. Ex: P was intentionally hit with beanball. Court said inherent risk of baseball. 
b. Test is to avoid reckless disregard for safety.
6. Courts bend over backward to apply Primary AOR to sports 
7. Judges decides if something is an inherent risk bc it’s a duty issue & judges decide duty
a. Judges deciding inherent risk questions …may consider not only their own or common experience with the recreational activity involved but may also consult case law, other published materials, and documentary evidence introduced by the parties on a motion for summary judgment.
8. No duty for risks inherent in a sport
xix. Primary AOR doctrine is not limited to activities classified as sports, but applies as well to other recreational activities “involving an inherent risk of injury to voluntary participants ... where the risk cannot be eliminated without altering the fundamental nature of the activity.”
s. Strict Liability: Liability without fault 
i. History:
1. Trespass = Direct. Writ used to get into court. Strict liability. Ex: Injury via sword fight. 
2. Case = Indirect. Log thrown/ left in road. Used to be no liability unless direct injury. But then were able to recover under indirect injury under Case. Fault was required for this. 
3. Brown v. Kendall (Dog Fight): Shift to fault system: “P must come prepared with evidence to show either intention was unlawful or that D was in fault.” To recover for direct injury, can no longer recover under strict liability had to prove negligence. 
ii. Modern Strict Liability
1. Trespassing animals: largely cattle, sheep, horses, and barnyard animals. Not pets. Could recover for strict liability for trespassing animals that came on to property and damaged something. 
2. Animals w/ dangerous tendencies: Have to know or have reason to know. Dog shows you his propensity to bit, once you know that you are strictly liable when he bites. 
3. Wild animals: lions, tigers, bears, etc. For injuries connected with the wild characteristic of the animal.” Circus bear gets loose, it attacks you can sue circus owner in strict liability. But if bear is sleeping and you trip over it and get hurt, cannot sue bc that is not the characteristic that mad it dangerous. (proximate cause rule) 
iii. Rylands Case: Ps mine shaft was flooded by Ds reservoir/pond. It was built over shafts inadequately and its weight caused the shaft to give way and flood Ps mine through and intervening mine. 
1. Why not sue for negligence? Maybe problem showing D had reason to know
2. Trespass to Land? Independent contractor problem bc hired out. 
3. Dependent on whether they could recover in strict liability 
4. Court of Exchequer: (2 views). 
a. Bramwell: Unclear, but is saying there is strict liability. 
b. Martin: Injuries not foreseeable so they aren’t negligent. Hold them liable they basically become insurers.
c. Maj agrees with Martin so no liability. Dissent says = Liability does not matter if they have done it unwittingly. 
5. Exchequer Chamber: Liability for “one who lawfully brings on his land something which will naturally do mischief if it escapes out of his land” (breach)
a. Examples: cattle: direct analogy to the water escaping here, privy: legal to have bathroom on property & water brought on, but human excrement escapes. (Not totally analogous), alkali works: noxious vapors escape from property. 
b. Holds them liable for anything likely to do mischief if it escapes. 
c. Defenses: if P is one who causes the escape or if there is an act of God, then no liability bc proximate cause issues. 
6. House of Lords: Natural v. Non-Natural Use: If natural = no liability if non-natural = liability. Still requires something to brought onto the property which then escapes. 
a. Cattle might get lost bc this is a narrower rule. 
7. P does recover here under strict liability. Economics may have played factor to protect existing investment bc coal mining area. Law favors resource exploitation. Non-reciprocal risks = when a P & D impose non-reciprocal risks. Only D imposed a risk here. 
8. Murder Mystery Marriot Case: Sets a person in the audience on fire. Didn’t fit Rylands bc there was no escape of a dangerous instrumentality. Issue of escape still exists. 
iv. Nuisance Law: Fits between torts & property: about interference with use and enjoyment of land. Something can be a trespass of land & a nuisance
1. 1. General rule = no fault required
2. Interference has to be substantial
3. Unreasonable invasion: balance gravity of harm vs. utility of Ds conduct
4. Coming to the nuisance: if you have existing land use & then P comes to the area. Ex: farmland areas where subdivisions are placed. Not defense but makes it harder to show nuisance. 
5. Public Nuisances: If nuisance big enough & widespread. Hard for individuals to sue on this. Public authority brings these cases unless individual has diff injury from general public.
v. Con’t strict liability after Rylands. 
1. Sullivan Case: 19 yr old gets hit with stump from blasting. Court says yes strict liability bc direct injury. But no recovery for injury for indirect like if the ground shook from blasting and someone got injured. No escape problem bc stump went off the property. 
2. Bring blasting material on property (not natural) goes off property to injure people. Fits Ryland. 
3. Exner: Blasting case, but indirect injury. Concept of Ultra hazardous activities. 
a. When something is extremely dangerous you cannot control it, that is when you should have strict liability. 
b. RST 1: 
i. Serious harm that cannot be eliminated with due care
ii. Not a matter of common usage 
vi. Dyer v. Maine (RST 2d Test): Dyers sued Maine for damage to their home during blasting of rock nearby in connection with a construction project. Court allows strict liability here although it previously rejected in Ryland. 
1. Court changed mind and is willing to adopt strict liability bc of economic reasoning. Enterprise idea. (originally rejected bc said developing country & if we adopted it would slow development). 
2. RST 2d Factors for strict liability: 
a. Existence of degree of risk 
b. Likelihood that harm will be great
c. Inability to eliminate the risk by reasonable care
d. Activity not a matter of common usage
e. Inappropriateness of activity to place
f. Value to community outweighs dangerous attributes 
3. Balancing test. Doesn’t tell you what to do with factors just to weigh them. So courts got through all 6 and make args on each. Going to have diff outcomes for same activities based on where it occurs. Have to go case by case. 
vii. Relatively few activities are subject to strict liability. 
1. Blasting & explosives, rocket testing: In Maine would argue Dyer holding. 
2. Fireworks: mixed if strict liability applies. But most instances = no. 
3. Crop dusting: typically, yes
4. Hazardous waste: typically, yes
5. Lateral & subjacent support. 
viii. COA for Strict Liability: Elements 
1. Duty = D is acting affirmatively
2. Breach = To determine use RST 2d factors above. 
3. Actual Cause = “but for” test. Bc only liable for what you cause. P must show Ds activity was actual cause of harm. 
4. Proximate cause: Ex. Mother minks kill babies when scared. Got scared from blasting & killed babies. Owner sued for strict liability bc of blasting resulting in dead baby minks. No proximate cause. Blasting risk is not the risk that mother minks will kill babies. 
5. Damage 
ix. Proximate cause: 
1. Wild animal rule: injuries connected with the wild characteristics of the animal
2. RST 2: Strict liability for harms “the possibility of which makes the activity abnormally dangerous” 
3. RST 3rd of Torts: Strict liability is limited to those harms that result from the risks justifying strict liability.
x. Can an intervening cause cut of strict liability? 
1. Hypo: Rifle & dynamite truck. Striker shoots at truck & truck explodes. Survivors of victim sued Dynamite company. Injury fit w/in scope, but there is intentional intervening cause. Court says no liability. 
2. Hypo: thieves steal & set off dynamite in construction area where they stole and cause small earthquake. Court says company (where stuff was stole from) is liable bc some evidence of previous thefts. 
3. If have intentional intervening cause that will cut off liability. 
xi. Defenses to strict liability at CL
1. Contributory negligence: Inapplicable. 
2. AOR: applicable. (Primary & Secondary)
3. Comparative fault: comparing strict liability to Ps negligence. Difficulty in comparing P’s negligence to D’s strict liability. 
xii. Every case subject to strict liability has to go through weighing of the 6 RST 2 factors. But once appellate court determined something was subject to strict liability the states would take it as a legal conclusion. Proximate cause function = cut of liability. But under strict liability doing something abnormally dangerous does not require fault. 
t. Products Liability: (Intersection of Torts and K)
i. Originally if tried to sue manufacturer of product could not do it unless in privity of K. 
1. Ex; Boiler sold to P it explodes ruining his property next door. P sues but lost bc he was not in privity of K bc bought from previous owner. 
2. McPherson Case: P bough care from retailer who bought from manufacturer, who bout wheel elsewhere. P sues, but not in privity of K w/manufacturer. Judge says put aside privity in negligence cases. 
ii. Warranties: bringing COA here. 
1. Express: 
a. Baxter Case: The Privity Limit:
i. Same thing as McPherson. But says b4 he bought Ford literature was given to him that said windshield wont shatter, and he relied so express warranty. Brings action on the express warranty. Ford says no, not in privity of K w/ Ford. At trial P brings up literature. Ford lawyers says irrelevant bc not in K. On appeal it would be unjust for manufacturer to make representations and ads that are false. Now privity req = gone. Now Ps evidence admitted and only thing that is relevant is what express warranty says. Now Ford going to put Disclaimer in K to beat express warranty COA. 
2. Implied: 
a. Fit for particular purpose of buyer
b. Good of merchantable quality 
3. Problem is origin of warranty. It comes from K so have exact problem w/ negligence. Face privity req again. 
4. Henningsen Case: Sues for implied warranty of merchantability that car was not just supposed to turn right on its own. Problem = no privity, but court says if express warranty not barred, neither are implied. B K disclaimed any warranties express or implied. Court throws that argument out. 
5. Cases are trying to take K law and allow it for recoveries in tort. 
6. Greenman Case: working w/ shopsmith & piece of wood flies out and hits him. Express & Implied but not in privity and disclaimer. Judge says clearly holding manufacturer strictly liable in tort when ti has a defect that causes an injury. “strictly liable in tort when an article placed on the market proves to have a defect that causes injury”
iii. Determining when Product is defective
1. RST comes up with 402(a): defective condition unreasonably dangerous to the user, consumer, or to his property. 
2. Still doesn’t answer Q about what is a defect. 
iv. Moorman Case: P purchased steel grain storage tank from D in his processing plant. 10 yrs later a crack developed in one of the steel plates on the tank. P sued on theory of strict liability. Court says no seller not strictly liable in tort. Court tries to give dividing line btween K & torts remedies. Court talks about economic loss rule
1. Economic Loss Rule: loss of profits, future wages etc, but here when you have economic loss for product and damages for inadequate value, cost of repair consequent loss of profits as a result of product that just doesn’t work right these cannot be recovered under strict liability.
2. Test to recover in tort: claims for personal injury or damage to other property. (Most courts agree with this case)
a. Says if sudden or dangerous should fall on tort side. 
b. If only product itself hurt or damages go to K law. 
v. Scope of Liability for defective Products: 
1. Defect causing personal injury to user or physical injury to other property: Strict liability
2. Product with defective workmanship or materials. (ex. headphones don’t work) = economic loss rule. 
3. Physical harm to P’s other property and to the product itself. Ex: heater explodes destroying itself and refinery. No SL if “integrated whole.” If product incorporated into larger product so deemed one product and that one product is destroyed that is under K law (maj rule)
4. Physical harm only to purchased product, Maj rule = K. but if have sudden & dangerous or calamitous event may Tort. 
vi. Manufacturing Defects: when the company goes to manufacture product and product turns out different then it was supposed to (low number)
1. Lee Case: P was injured at work when a coke bottle exploded in her hand. Evidence showed the bottle had not been struck, not subjected to temp extremes or mishandling. Had to prove defect existed when product left the Ds “hands.” Need to prove this bc alleging manufacturing defect. But product got transferred to multiple places & handlers. Have to prove more probable than not that defect came from manufacturer. *Key = eliminating other possibilities over time. P does disprove other possibilities and seems to be enough. 
2. RST of Products Liability: A product contains a manufacturing defect when the product departs from its intended design even though all possible care was exercised in the preparation and marketing of the product. 
a. Key is whether or not it performs function it was designed to. 
b. Could reach same conclusion about product being defective in same way you would w/negligence and res ipsa
i. *does this type of injury not normally occur w/out product being defective? 
c. Look at end product if one is diff that is manufacturing defect. Testimony that other people did not affect product is enough for jury to find manufacturing defect. Can have manufacturing defect WITHOUT negligence. 
d. Car goes over embankment when D lost control. Only check brakes and see no issue. Enough to prove defect? Issue here is wear and tear. 
3. Mexicali Rose Case: P ordered a chix enchilada. He swallowed one inch chix bone contained in enchilada and sustained throat injury. 
a. Court says No strict liability no defect bc chicken bone is natural to chicken enchilada. If natural to prep of food then it cant be defective. – CA RULE. 
b. P could still try to bring negligence COA to determine if it is negligent not remove all bones. 
4. Chocolate Pecans: P broke tooth on hard pecan shell embedded in chocolate pecan candy from sealed can. Sued manufacturer. 
a. Court said Yes strict liability. Test is Consumer Expectation test: will measure if product is defective by what consumer expects and if product substantially deviates from that will have products liability. MAJ RULE
i. Products RST: If a reasonable consumer would not expect the food product to contain that ingredient.”
b. Suggests the more obvious the danger the less likely you would have strict liability. 
vii. Design Defects: (ex. stabilizer put on products doesn’t work right). All defective and much bigger problem.
1. Test = Consumer expectation Test:
2. Leichtamer Case: Ps were passengers in a jeep driven by Vance on an off road facility. The Roll bar attached to the thin metal roof displaced toward passengers when the jeep flipped back to front. Vance and his wife were killed. Ps legs were twisted and as a result she became a paraplegic. 
a. Ps could argue advertising led them to believe roll bar would work. Advertising form expectations. Expectation that if jeep rolls, roll bar will protect you. Here it did not. Even if P said on stand he had no expectations wouldn’t effect this test bc test is supposed to be ordinary consumer, but could affect actual cause. 
3. Product may be found defective in design if the P demonstrates that the product failed to perform as safely as an ordinary consumer would expect when used in an intended or reasonably foreseeable manner. 
4. What if the cause of injury is complicated? 
a. Soules case: Woman driving, slight drizzle road damp, other car struck Ps left front wheel, collision bent car frame and tore loose bracket & wheel collapsed inward toward her and wheel comes through toe pad injuring her. Use consumer test? 
i. Problem is having expectation in this kind of situation bc an ordinary consumer of automobiles would not expect this. Cant use the test here. 
ii. Establish expectation w/ literature about product and w/ testimony etc. Probably cannot use expert bc he is not a reasonable consumer but this largely intuitive. Real dispute if you ca use test.
5. What if product is new product? Less likely to expectation. Old product = expect problems/risks. The riskier the product the more the consumer has to adjust expectations.  
6. What if injured person is bystander? Cant still use test but have expectations of both P & the bystander
7. Crashworthiness: idea that ordinary consumer has expectation car will protect them in event of misuse. Have to design cars for people who will foreseeable misuse them. Every state but VA follows this. 
8. Have to look at product to determine expectations. Even if specialized product can still use the test. But not useable in all cases. Where a product is in such “specialized use” that the general public is not familiar with its safety characteristics, a manufacturer may still be liable if “the safe performance of the product fell below the reasonable, widely shared minimum expectations of those who do use it.”
a. The consumer expectations test is not suitable in all cases. It is reserved for those cases where “the circumstances of the product's failure permit an inference that the product's design performed below the legitimate, commonly accepted minimum safety assumptions of its ordinary consumers.”
9. Knitz Case: (The risk utility Test) P was using Ds press which delivered 60 tons of force in pressing halves together. Had one hand tripping device to prevent hand from being on press when operated with hand devices, but also had foot pedal. P used foot pedal to operate press and in doing so leaned hand on press and accidentally activated foot pedal resulting in loss of 2 fingers. There was other safety device that could have been used but was not attached. Problem that press could come down while finger there = that is defective. This is specialized machine have to look at expectations for those who use it.
a. Court says really isn’t an expectation. Introduces second test. 
b. Risk Utility Test: If the benefits of the challenged design do not outweigh the risk inherent in such design. Factors that must considered: 

i. Likelihood of injury
ii. Gravity of the danger posed
iii. Mechanical and economic feasibility of an improved design 
10. Barker Case: P an inexperienced operator of high-lift industrial lift & loader was lifting a load 10-18 feet off ground. Ground was uneven and load began to shake, P jumped out of loader and was hit by lumber and seriously injured bc loader had no protective canopy or outriggers. In CA use both tests see below. 
a. The CA rule = 2 pt. test (use either part of test but can argue both)
i. 1. Consumer expectation 
ii. 2. Risk Utility (with factors above)
1. Proximate cause and burden shifting. If P proves that products design proximately caused his injury then burden shifts to D to prove that utility outweighs the risk. (Dif then just regular Risk-Utility from above)
2. Once P proximately shows design caused the injury, he proved his case and gets to trial bc then burden switches to D. 
3. Product likely to be proximate cause in almost every instance. Going to boil down to actual bc in proximate cause test includes actual cause. 
4. Don’t need to get into alternatives. Want to show product design was but for cause of injury which is easy burden to meet.
11. Campbell Case: lady on the bus in front seat. Nothing for her to grab onto where she was sitting. Slid off seat and was seriously injured. 
a. In negligence P has entire burden including to prove risk outweighed the utility but now with CA Barker Rule, all P has to prove is that the design caused the injury and then D has to do weighing of risk v. utility with factors. 
b. D would argue as to why they designed product that way & why utility outweighed risk and why it was reasonable to design it this way;
12. Umpire Case: Wilson sport gives MLB umpire mask. Says new safer design and it will work well. Foul ball gets trapped between mask and gives Ump concussions. Court lets him use consumer expectation test. Put ump on stand & he testifies what he was told. Jury can find this meets test. 
13. Woman driving in Puerto Rico behind trash truck. Truck penetrates car and she dies. Use CA Barker Test. % of fault assigned to maker of add-on party of drunk that pierced her car = 20% to them and 80% to city. Joint & Several v. Several makes huge difference bf city Immune. W/out J&S recovery would only be 20% from add-on company. Could not recover entire amount from them. 
14. Jury instruction: D has burden of proof to show benefits outweigh the risks. 
15. Genie Case: Genie is the maker of air lifts. The life warn to not move while the cart is extended. Says danger risk of serious injury or life if move lift while extended. Church employee working with cable guy, says they have moved lift while extended before it was fine. Move lift while extended it tumbles over P dies. Claim is that product is defective. Case is in Texas and they use plain risk utility test from above not CA version. This puts burden on P to show safer alternative, and rest of risk utility. 
a. P presented 4 alt designs. Lock & key would never work. 2 wheel desing and pot hole. Alt dorp down: releasing an outrigger would start lowering cart one foot per second, but this could also hurt guy. Court said none of these were legit alternatives, and Genie device not “unreasonably dangerous” and dissent argued since there was some evidence to support jury verdict this court should have affirmed. 
b. Reasonable Alt Design/Risk Utility Factors: 
i. Whether gravity of risk outweighed utility 
ii. Whether there was a substitute (replacement that currently exists) 
iii. Safer alternative design (which requires P to come up with design)
iv. Danger of misuse 
v. Ordinary consumer expectation test. 
viii. Manufacturing Defect = consumer expectation test 
ix. Design Defect = 
1. Consumer expectation test
2. Risk Utility 
3. CA Barker 2 pt test which is consumer expectation or Risk Utility with burden shift, or 
4. 3. Reasonable Alt Design (TX) have to prove it is economically and technically feasible in specific product at hand. 
x. Special case of Drugs
1. Problem is they all have side effects. Generally, cannot have design defect
2. Still have manufacturing defects, failure to warn, and negligence
xi. COA for products liability: 
1. Duty: putting product out into public is the affirmative act
2. NO breach bc of strict liability
3. Actual Cause
4. Proximate Cause
5. Damage
xii. Information Defects (Failure to Warn): Easiest defect to correct. 
1. Liriano Case: P was severely injured when his hand was caught in a meat grinder at work. It had been sold with a safety guard, but the guard was removed by the company he worked for and was not in place at time of the accident. The machine had warning that grinder should only be operated w/guard attached. P is very young, inexperience person. Court says there’s 2 reasons to warn
a. (1) Danger and (2) Safer alternative
b. Danger: Do you have to warn if danger is obvious? 
i. Might be of two minds whether failure to warn for danger. Might be jury question. Simply depends how obvious the danger is. 
ii. Court could say danger is so obvious don’t have to warn. Or could be so unsure then goes to jury 
c. Alternative = there was safety guard. When manufactured it had guard, but then company removed it. How is manufacturer liable for company’s decision to remove guard? Issue = whether it could be foreseen it would be misused. Manufacturer should have foreseen someone would take guard off. (could get around this by making the guard permanent; or warning very dangerous to take off.)
d. Purpose of telling about safer alternatives = might affect behaviors, might use in diff manner or not use at all so entirely avoid the risk, and so P knows there is a safer option.  
2. Functions of Warnings: 
a. To inform of risks
b. To inform of alternatives that would avoid the risks 
3. If there is obvious risk it might obviate duty to warn but still likely have to warn about safer alternative. 
4. Test for failure to warn: 
a. Reasonable manufacture would inform
b. Warning them is sufficiently ineffective 
c. There are enough such people 
5. COA Products Liability for Info Defect: 
a. Duty (when danger is obvious don’t have duty)
b. Finding that warning is insufficient
c. Actual cause = but for test 
d. Proximate cause
e. Damage
6. Causation: Can we say but for the insufficient warning P would not have been injured? 
a. In Liriano P would have to tell boss he needs safety guard. Odd are low he would do this bc young and inexperienced. But courts find actual cause by shifting burden to D to prove otherwise
b. Heeding Presumption = if prove warning was defective burden will shift to D prove otherwise. 
i. Now D has to prove in front of jury and jury will be instructed. Huge benefit to P.
7. Level of Detail required in the warning: 
a. Warning must be reasonably clear
b. And of sufficient force and intensity to convey the nature and extent of risks to a reasonable person (the greater the risk the more detail needed) 
8. Inadequate warnings:
a. 1. In factual content, expression or communication, or in form or mode of communication.
b. Must contain facts necessary to permit a reasonable person to understand the danger and in some cases avoid it.
c.  Sufficient force and intensity to convey the nature and extent of the risks to a reasonable person
9. If P admits he did not read information = Lose on actual cause. Heeding presumption is not going to save you. 
10. If P admits he knew of danger but was warning was inadequate likely falls under implied AOR but could argue failure to warn of safer alts if there were alts.
a. likely to lose on causation bc he already had info bc manual or warning would not change how he acted 
11. Info defect is so obvious = no need to warn. Cant win on failure to warn in these situations bc no duty to warn bc obvious risk, but still could have a design defect. 
12. Warnings do not have to be in other languages, but usually are bc lawyers are being careful not a ton of case law that says have to use diff language unless targeting a specific audience. 
13. In real world manufacturer will raise price and enterprise will include cost of consumer contributory negligence similarly to vicarious liability.
14. Carruth Case: Seven Family members killed in a house fire. Sued manufacturer for failure to warn bc in pamphlet it had picture of smoke detector in dead air space and did not say warning etc. Father only skimmed pamphlet and put the smoke detector in dead air space based on picture without reading. Pamphlet was not easy to read and no statements said danger, warning etc. Court said warning wasn’t about what it said but was about presentation which was not good and would lead a reasonable person to scan or skim and therefore was inadequate. Context in which warning is presented matters.
a. Drawings are ok but need picture and detail but cant have too much that type is super small. 
15. When don’t have duty to warn? 
a. Learned intermediaries: Ex. Drs. Drug companies have to warn Dr but not user it is Docs responsibility to tell you warning. (warnings on prescriptions not required). 
b. Exception is where there is no intermediary. 
i. Ex = sophisticated users. Product goes to category of people who can be expected to know risks of the product. (Risky bc person may be new to the business). 
ii. Ex = supplier of bulk goods: selling chemicals to someone & expect buyer will know, then no reason to warn. 
iii. Ex = if learned intermediary not in a position to reduce risks. 
16. Defenses to Strict Liability: 
a. Bowling Case (Minority Rule): Heil manufactured dump truck hoist. P was killed by dump truck bed when it was not functioning properly and he went under it in attempt to fix it. Court said P’s contributory negligence was not a defense and that they would not apply comparative fault to reduce recovery. Court says contrib negligence not a defense bc focused on product & bringing negligence into strict liability defeats its purpose.
b. Early CL = if contributorily negligent not a defense but AOR is. 
c. Can use contrib negligence and go to comparative fault. (CA has done this). Here contrib negligence will be treated as comparative fault so it is a defense. (Majority Rule)
d. Cant be comparatively at fault for failing to discover a defect. 
e. AOR defense
i. Keep it 
ii. Abolish it. Majority. Use comparative fault and treat as primary or secondary (odds are its going to be secondary). Could be primary if someone tells you exact risk, says not going to protect, person does it anyway. 
f. Problem w/ comparative fault in info defect cases is issue with how to compare between Ps negligence & info defect. 
g. Safeway case: 
i. P v. Safeway. Safeway = 80% negligent & Strict products liability. 
ii. P v. Nest-Kart. Nest-Kart = 20% Strict Products liability only
iii. Safeway pays judgment & seeks contribution of 30%. Safeway said we are entitled to get some back from Nest-Kart bc strictly liable. Court said nope, compare all the way through. Not concerned w/strict liability at that point.
h. Hughes Case: P was severely burned by his magic chef stove. Gas ran out so he replaced it. Only re-lit 2 of 3 pilot lights. This resulted in gas buildup. When he tried to use stove it exploded. 
i. Magic Chef says nope, not liable bc of Ps misuse. Think about misuse from manufacturers perspective. Ds make products and have to think of all the ways products could hurt someone. Look at “sea of misuse.” 
i. Sea of misuse divides into 2
i. Foreseeable 
1. Manufacturer has to account for it in product’s design. Product can be defective even if misuse if misuse was foreseeable. If can fix product and only warned about it could fail risks utility test. 
ii. Unforeseeable: 
1. bar recovery bc if manufacturer can’t foresee misuse there is no way to do anything about it. 
2. Sounds like negligence bc if cant foresee risk then not negligent. 
j. P as part of prima facie case, must establish that the misuse was foreseeable. “As part of his Prima Facie case, P must establish that the product was unreasonably dangerous in a reasonably foreseeable use.”
i. This effects Ps ability to recover bc of comparative fault. (Most jurisdictions will use it.) Misuse = form of comparative fault. (argument it shouldn’t reduce Ps recovery for bc manufacturer was supposed to protect P from foreseeable misuse).
k. Relevance of Ps personal characteristics in determining misuse: 
i. Talking about foreseeable misuse of consumers generally. Bc manufacturer only concerned w/ group of people who will buy product. Then Q is does P fit in this group.
l. Anyone in chain of distribution can get hit in a products liability case = manufacturer, wholesaler, retailer. 
i. But person must be in the regular business of selling the product. 
ii. Lessors of person property = can be liable. 
iii. Used goods = not usually. Cases are divided. If refurbished then have argument. 
iv. Lessors of real property = not generally.
xiii. Hybrid Transactions:
1. Newmark: P gets her done at Gimbles they use Perm solution on her. It burns her and she loses her hair. Sues under products liability. Issue is whether this was a service or a sale. Gimbles sold her the solution and they are in chain of distribution. But this is also a service & service not subject to products liability.
a. Court says it’s a product. She can sue Gimbles. 
b. Have to figure out which predominates, service or sale.
c. Court distinguishes from dentist case. Says that was essential service and hair dresser is nonessential. Says beautician is engaged in a commercial enterprise not a profession. (could question it).
d. Test = essence of the transaction: can make argument both ways no clear dividing line. 
xiv. Damages Con’t:
1. Nominal, compensatory, punitive 
a. Excessive punitive damages can violate due process. Ds wealth is relative. 
2. Intentional torts = at least nominal ($1)
3. Compensatory = make person whole (no attorney’s fees)
a. Medical 
i. Use bills to prove 
ii. Future med expenses use Dr. Testimony
b. Lost earnings capacity/wage loss
i. Analysis of what person would have made. (Hypo: for kids have to put kid in a profession. Look at how intelligent kid is, figure out potential, and what they are likely to do. Bring in teacher & economic expert. (analyze based on potential pre-injury)
c. Pain & suffering: Cant put value on this bc not physical damages. 
i. P going to testify to show their pain. Doesn’t always work. 
ii. Newborns can get pain & suffering. 
iii. How to calculate? 
1. Per Diem: breaks down P&S by time suffered. Arg is generally allowed
2. Golden Rule: what would pain that client suffered be to you. How much would it take to get you to suffer what P has. Not allowed to do this. Bc jury is not supposed to be figuring out what it would be worth to them only to client. 
d. Any other specifically identifiable harm
4. Timing of Damages: 
a. No interest for timing of trial. Has to all be claimed in one suit. 
5. Time Value of Money: (take the $1 today)
a. Issue with stream of damages over time, bc have to be captured at judgment. Must adjust for inflation and discounting. 
b. Discounting = taking figure that’s larger in future and discount it back to now so person will end up with that larger figure in the future. 
i. Ex: looking for figure that would be $100k in 5th year. So need amount if paid/invested now would end up as $100k in 5 years. 
ii. P wants small discount rate & D wants large. 
6. Inflation = put experts in and leave it to jury; same for discounting
7. Life expectancy = avg life expectancy. Find actuary who has charts on this. But part of this is genetics and how well you take care of self. *all analyzed pre-injury. 
8. Events occurring after injury but before trial: 
a. Widower’s new marriage. Marries rich man after husband died due to negligence. Inadmissible as evidence that she has remarried and now has money. Not used to reduce recovery. Same w/ loss of consortium. 
9. Resistance to medical treatment: Mitigation. Modern rule treats as comp. fault
10. Taxes: compensatory not taxable, punitive are. 
11. Can structure settlements so money comes in periodically
12. Insurance policy: evi about what was paid by insurance not allowed in. No evidence about payments to P from collateral source. Unless action for malpractice against a doctor. 
13. At CL if P dies COA goes with them. At CL if P dies COA against D dies. 
14. Survival actions: damages are up to the point person dies. P&S for P who dies. 
15. Wrongful death Action: brought by person who would have been supported by dead person.
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